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EXECUTIVE SUMMARY
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PP’ EXECUTIVE SUMMARY

Research on Forecasting Model of

Container Seaborne Flows

- Using Bayesian Methodology -

1. Purpose

» After the bankruptcy of Hanjin Shipping, Korean shipping
industry including container shipping has been undergoing an
industrial crisis.

» Responding to this crisis, the Korean government announced

a 5-year plan to reconstruct the shipping industry.

» In order for the shipping industry to develop, it is necessary to

understand the determinants of container seaborne traffics and

then to enhance the precision of the related decision makings.

- Particularly, it is necessary for the carriers, shippers, financiers,
and government to forecast the traffics by the scientific

methods.

Vii



» Based on these demands, this study aims to suggest some

forecasting models of container seaborne flows.

- Traditionally, it is difficult to infer on or forecast statistically
the container traffics by some consistent methodology owing

to the small-sample problems.

- However, this study tries to resolve this small-sample problems
by using the Bayesian methodology, which is expected to help
to infer on or forecast the traffics by some consistent

methodology.

2. Methodologies and Features

1) Methodologies

» For forecasting the container traffic, this study uses the
following linear regression model:

Yp = By X@yy + By X @y + By Xy + By Xay, +oey,

where y, is the exponential growth rate of container traffic,

z,, is the exponential growth rate of importing

country's GDP,

z,, is the exponential growth rate of exporting

volume,
z3, is the interest rate of importing country,

z,, is the exponential growth rate of exchange rate,

viii
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e, is the error term.

» While the classical approach treats 5; as an unknown constant,
the Bayesian approach perceives it as a random variable that

is not known in advance.

- Particularly, this study utilizes the following three models as
Bayesian ones: i) Bayesian simple regression model ii) Stochastic
search variable selection model, iii) Random coefficient

model.

2) Features

» This study analyses the total of 100 country-pair routes from

13 countries.

- The considered determinants are i) GDP of importing country,
ii) export volume, iii) interest rate of importing country, iv)

exchange rate.

- The sample period is from 2000 to 2017.

3. Results

1) Summary

» In all the three Bayesian methods, about 60 cases show some

well-explained results, which means that among the 4 determinants,

at least 3 shows the expected signs.

AHVININNS



- Also, because this study uses the so-called uninformative
prior information, the Bayesian methods produce the very

similar results with those of classical OLS's.

» For example, the Korea-US route shows the following ones:

{Inference results for Korea-US routes of Bayesian and OLS)

Bayesian OLS

- average standard . . standard
o t-ratio estimate . t-value

of B  deviation deviation
GDP 2.00 1.68 1.19 2.23 1.59 1.40
Export 0.19 0.14 1.33 0.18 0.14 1.26
Interest rate -1.35 1.32 -1.02 -1.47 1.28 -1.15
Exchange rate  0.58 0.33 1.77 0.54 0.31 1.74

- As shown in the above table, the empirical results show that
the effects of GDP, export, and exchange rate are positive
but the effect of interest rate is negative, which is the same
as the theoretically-expected signs.

» When we uses these forecasting models, the forecasting

accuracy is better than that of the reference model, AR(1)

model, in both of in-sample and out-of-sample cases.

2) Policy contribution

» This study shows that we can use the Bayesian methods as a

forecasting tool of container seaborne traffic.
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-In other words, this study provides the basic scientific
methods to the carriers, shippers, financiers, and government

for forecasting the future container traffic.

3) Expected benefits

» Korea Maritime Institute as a public knowledge service

provider, can provide the forecast information in the end or

beginning of the year via some dissemination channels.

- This information service can improve the businesses of
carriers, shippers, etc., in the areas of logistics planning, ship

deployment, transportation planning, and so on.

» Also, the participants of shipping and port markets will be

able to infer on or forecast some important economic variables

in the small-sample situations by using the Bayesian methods.

- Particularly, although in the past time, there is a serious
obstacle in using the small sample information via the
classical method, the Bayesian method, which is suggested by
this study, will help the researchers such as professors, graduate
students, etc., to utilize the small sample information by some

consistent methodology.

Xi
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Kepapsoglou, Karlaftis and Tsambooulas(2010)2 3 X3
(gravity equation) AH&sto] =4 F3t o ¥4 2] Rto] Hjgf
VA% AASE A4 EAE HESHL UthY) o] =704 Afsk=
HEQ} Zho], SRl 9 RY2 v 242 WA o E YEdT

3) ECt 22| F2 20|l tst &7 221z

M Bergstrand, Egger, and Larch(2013) &%t
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9 9aFe mA ot

Sou and Ong(2016)= oMo}, &, &Y], 25 59 7S o
dox TN} EHE il
= AAISEL Aot o] &% ¥ A Al 7HA] 5HY FEC=E
T+8EH A ﬂm{ FE2 WA F9 F27F GTAP(Global Trade
Analysis Project)o AAFAERAF(CGE: Computable General Equilibrium)
A FE2 A AR dAoA a5 F
O—dl THE OH*v‘ Fe FE %5 ZE(mode)= HiERIH of7]A AN
H= 2gL2 o|g £A ¥ (binary logit model)°]t}. oFR|Eo g2 A
i -5 Ag2 ol&dl, Aoy s ddS

Shibasaki and Watanabe(2012)= Sou and Ong(2016)2} S-AFSHA|
F9-E5F Y 95 2FE AASkr Aok Shibasaki and
Watanabe(2012)7} A|QFSt “Trade and Logistics Forecasting System
for the APEC region” @2 A Al 714 o9 HFEO2 FAdH}
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dACAE g S04 dojute e S5 ATt
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Veenstra and Haralambides(2001)= 1962¢15-¥ 1995W7HA] 34
U7 A, 34, I&, A" d=E E59= °l8sto tH
T AAE BP9 d&58Z B7lstaL St o]&0] ARES THHTF A
AE BFZ2 ML FH(VECM: Vector Error Correction
Mode)Ce. &2 F&E 2 F(Cointegration Model)Z ©]-&3 =9 &
29 474 #4FHAE % 7, 14 MeE 243 ol
=9, W QALY Ho] 471 =9 47 dlSeo] Hojd A
°og It

=

FULEFS FHUOR 5L AT A FUREF oS
2 g9 20108 e AR B9l oS A1) wH DA
uhgislglon SARHPALY 415 USRS AE A oS
2 sty gt

1) ZiEo|L AVSSY oIS e

Zeloly FeHEEF(throughpu) A4 L Lt} SePuEs
ARA2HPor-Migol AAH YA ol gt HeFUBRAR

o

Azge] ARE 199495 AFE Gud 52/ 4uet



M2y 7IE 238 5 29 4&

A
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FUREF oS0 o APATE FHYHOR Tt ZA
o} ojsRo] gute] Asjoly B et o2 Qioln, Qe
F29 AHoY E5F2 ALt &5 &4 AHolY E5F°l W
3t 23 BRAE Aolth, (& 2-D i) ARAT % vlnF
29 dALE Afsta ok

(B 2-1) SLOESH 0|5 2 MElAL

ISIN; WHE(2Y) SEHs Mg oot XE Y
SARIMA,

Schulzeand ~ Holt-Winters A coj s 19892006

Prinz(2009) Exponential ~ ZIE|0|H 858 5 <5 BI|XZ
smoothing
Genetic

Peng and Chu = Programming, 7 - CHoEZ=Q  1978~2006

ol E=2f _

21 (2009 X-11,and  2OOMESE Tan epixa
SARIMA
Genetic

hot =Q ~
3 CEQr?TZa&dO) Programming, ZiEIO|H 25 HEH;'; 12477% i?gs
X=11, SARIMA == ==

, OIEE-URH  Lotka-Volterra B stz sop 1995~2005

(2011) model  ZEHOI4BSY T T oztx=

s OIEH-FEM  System 55y spomol syop 2001-2009

(2011) Dynamics ~ ZiE|O|H 25% “° = dztxz

oHer &

Wang et al. System HEOIH 252 opLia) 1990~2008

6 (2013) dynamics aHoIH =58 Tglmt f S FAPNT=S

7 Pé%ﬂh;e SARIMA  ZE|O| 2EZ B zgngigf

ZHEH 0| 2E2  22|L2
Kim and Lu “D' 1=sg 2 L b 2000-2014
8 " oote) SARIMA 2! x| e
ZHO|H =58 it ="

X2 1 KMI 24,
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Schulze and Prinz(2009= =2 7S thAo 2 4 Aoy
=532 dSchAt. A5 A8 &8 YHES AAQRY T
¥ AEAL Ee F7142 Hgske W 783 SARIMA
(Seasonal Autoregressive Integrated Moving Average) @I} X<
H&H(Exponential smoothing) % 3F4Ql Holt-Winters X2 o]t}
AAEL 1989 RE 2006W71A]9] E7] AES &8slo] 2P
TSR3, 2007914 2008E7HA 9] £71E &2 HE Y 5%
= dSsIt. F 239 95 F H|law Zy}, SARIMA HE o]
Holt- Winters 23Xt $-Hstth= A& B8]al Ut

Peng and Chu(2009)= Hi9te] =2 37] @7+o] HH oY E5%F
d&E A8 A 7HA D= (univariate) A& 2P AA R
6 7= AEZ B3 1Y (classical decomposition model), A2t

)
A (trigonometric regression model), A& o] H4-E &8

ok fob [N

S| A X H(regression model with seasonal dummy variables), ~L&]|
o] 23 (grey model), sto]BHE T1zo] HF(hybrid grey model)
%l SARIMA Zgolt}. & =w2] 542 Hot et 2oy &5
F A 2P AASHs Aol Al 7HA] Y F AeH £

2ol 71 o2 0F7t A2 M4 myoletn TSt Et

0,

_(,)_

+ 19 Hlo]¥ute]d(advanced data mining) 71 52 -85}

AgolY B ASEFE §7T Ut =2 AdFskat
Chen and Chen(2010)2 4L 85X &(genetic programming,

GP), AIAZY X-11 E371H(X-

SARIMA 23S &85t it Aoy E5%F 5= St 34

HeZ 2 Akl it =8 PRkE A= 214z &

11 decomposition model) 2
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55 &8olo] 279 ndS 155Gt 5 dolAe YL
ZlEngo] Y ngoa AAEA.

oA - {201 )& ASFAE} o] 2] IAT I AURF
?l Lotka- Volterra(L-V) 2 3-& &85t 5H5oFAlof 37] =711 %
guel, S, G2 gt 16718 AR FHEFTF &S Al
Sttt AREL L-V BFo] BT AAEAE vnd FEotA
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39 542 uet 34 gy E5F
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W2 3 A 2}-1] A 2} (Predator-prey)2] AR TA7 A= 4o}
tt. o7]E]- FAA(2011)= AlAEITho] U] A(System Dynamics,

3@ o 2 rlo

SD) 71%e BEdtel AEY 24 hY P AL BAste] B
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A% ANSLA ST AR § AT AA 3 ue] 84
Adjoly S5 AR WEFHA Lok, B4 HFS A8
7b Qleka Wel 3 itk ER QWS E BEHE 27 Yl u g

2 94 eo] Leg WwA g5 Yo Be Ul 2 A7
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==, U)o IE511US.
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Wang et al.(2013) Hivte] oY £5%F 59 Ag=E
o|7] #Is SD 2g=S &5t ﬂ%’%_'ioﬂﬂr SD By<& 5%
d& 75 HA%t 41, SD 23go] ¥ &2 A58 7HALL 3l

I ST R 1990W FE 20099 X}E% &850 diw TJr
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&S Ame F AHoY 25T =4 AHolY 57 F }
A2 LH5o] RS 12375 7 Ayt D 239 d=8e gL
N 5 AATIL F5HAT
T AelelHE | dE L ® stof AEA

Y &5 A f2E Hoh

A 9] HH ] i Eugd& AA SR
3] SARIMA =3
T tju] Wyt 23 AP 3 H Y (Linear regression model with
dummy variable}& AMH&-3FSITE. SARIMA (1,1,0) (0,1,1) 12 2Fo]
Ao HPo=w AU

Kim and Lu(2016)%= 200195-¥ 20149741 9] €7t -2yt &
A Aoy E5%F AARE E-85to] SARIMA 23S 55t
ATk 13 FF SAZR| S, & 20159 FE 2020871419 A7t ¢
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J T 257 IS AHEIE 1t 95, 7P Bol 28
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AgazE 29, 120 29 5o TF Z8=H3A
=9 H2E A3l dHRgS &8st AUrt Ed
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7

Hwang et al.(2015) = Jthed9] A olH AZF=S 55t
71 Y8 7+ A4 71¥F ol &(KBF: Interval Knowledge Based
Forecasting) ¥2|th2 &3ttt IKBF= HIAMI7} H= 54
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Al ATS
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S (traffic)el]l /Y 5% AE ARIMAS} Q15417 851
5F d&52 Aottt HolE = 199449 1€5H 20149 12€
7HA] €8 TSA7L ARREY oY dE 72 2015WFE 20194

ME, MAE, RMSE, MSEZ & 15 57443 43 ARIMA (2,1,0)
(1,0,D9 d& F7F 7H¢ ¥ 202 Yepyt

o] AfolAE THF Kl ARIMAZF AREE AL, Y
Aol =8 7I&H A= GUAT AFAAFF HAAE 27| gt
| AMEE Ao g FATo] chsf RES AJEgt B Aok Xjo]
Hola gQitt.

[©)

it

Mo et al.(2018)> S= AFATH Asto|aZ o= AH oY
A F dlSo] g A5 APt dloly A= IFste] 7=
St sto| Bl o= RY(HFMG: Hybrid Forecasting Model based
on GMDH(Group Method of Data Handling))< #-&3St o] d4t=
t0=29] 3gA=E FAAE

1A= HE ol AT AAE ARZRY AFFAE 5511
o|F
]

Z317] 99l SARIMAE H-83tth. 22 A= A A7 AA
g WY st =0 Histe] GAA A3AEE, AAHE A

(SVR: Support Vector Regression), #-AA} T2 1S #-&31ct,
71 ¥ GMDH 41738 4-&5to] 2% oS BdE 745t 25
= ZyE =&34 glolE = 2001 1€95H 20159 12€714] 15
ol Y7t TI=A7F AREED 201549 FEAE HAE AEZ
Z-& U

o] A= A7 &2 (self-organizing) WO 2 JHWE, 7=
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s

o4

¥} HEMGY] A 37}F SARIMAY thE Sfo] 2
AoR Yeyt. Ao EHo=

H3FdE E4okH= Dstato] AHEE AT

e FIF
>'

She A7) 232 Hold vloidg A

o]
T

2]

A
=

o]
o

RMSE,



H3% ZHOI HYESY IF Wy

Wass

ZHolY FEET s HE

o
& 49 S0 SEsE 959 39 59 9ol o2 0y
2 AN gt
theo® ofEist ARHARYY] Y FBH E- BAY F2
e TAA PHET Hol gt HECR THste] At 9
th o] % o] YA Aok o} sH BAE oj@A A4
558

Shotpol et ettt & nHE YRS 2gsk sk '
IAS] ASEIE HEshe W, WolAch i Ee da)

)




o] ¥ 7h BPolHE ABH FpA
o RYRA A RS A8 o], Hlo

2 2420t 2 Aol7t Yotk Tt o]t

B A gt SAES AN 249 AAE BE ol 919
welaly] Hebe 1A QAT WolMet el A o)zt 7
AR Baol et BAH 22O PAIS ojgA MhYE
£ FH0% ofle YEshd £8ol ¥ Aolth B3t AN 54
Ao AT T /1SS A olgH o HIsHe SAA &
8¢ 23o] & Aoz e}

HE SAX UHES St =23 S 2

+5rle BA B9 ZHE YEve FE8(derived
demand)eltt. WEEF FA FEFLEA F8 FA o] 2
s 24gdEn. mEkA 2 (-5 AEold sWEed2 AA =
%, =7F )2 =71 ()l diet =, == ()] GDP, 4= ()
o] o]z, =7t (1) 2k =7t (j) Sl tiet &8 S5l o) 2
e AR & & 3k o] Z2 F=E oY e 2
A w42 E YEE tedt g



yz It

R 3 A AHO|Y SHASEZF oS Y=

= By Xay By Xy, + By Xwg + By Xwy, te

4] 3-1)

AZIA ;e =7F OS] =7 () Wit AE oY =& =5,

ASEAS AT A997IEEe P2 B7IMS ARSSl oAl 26 o
= 2ot
Y=X0+FE, 4] 3-2)

= U= ()9 GDP,

Ty = =7F ()9 =7 (ol W =,
T35 AT ()9 oA,

ry = BEET )Y S3H/=7E () S9h.

L1 T1g = Tig

, Loy Loo ++ T
o] 7] A Y:[%yg'“yT] , X = :21 :22: 2k

O 7

o o

Y, =

ajﬂxn...x

FaZeR %E_,ﬂﬂ%‘(gravity model)°] A8

1 p 3 3,
Xlﬁt ><X2ﬁt XeXD(XS,t)ﬁ Xle/,t X By, 4] 3-3)

25



1A v Aeold SFEEF] A T NS )

GDP
X, = Y =719 GDPY Ad tH] u}&(ﬁ)’

X, & o9 = & +=2 dd oy Hl&(

Al
A]
il
InY, = 3, XInX, ; + B, XInX, ;, + B3 X X3 , + B, XInX, ;, + InE,.
4 314
X 3-4)2 weh e @k w2
Yo = P X @y By Xwg  + By Xy By Xwy, + ey, Al 3-5)
o714 y,= XHoIH WEsEY A AdE(exponential
growth rate),
z = Y 37F GDPY A BAE,
1y = WY TR F F=Y A AFE,
1y 2 Y =7H o]Ahg,

v e BE A AFE,
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H2ZE 0dH HIHa HoIX|2F Y Hiw

71X e W Ul FolA arlE 1A HHat wol x|t
A 719) 354l ApoldS At 55| Aol S471 Bagt
BFoll= i F2ollA 245 o83l T4 Sl= =S4T ¥ ZokE
T AEE Foh gk 292 o2 2ok AtE(2016), AHA
(2003), Berger(1985), Casella and George(1992), Greenberg(2013),
Judge et al.(1988), Koop(2003), Tanner(1991), Zellner(1971)

:4_
s

1. ES(#=E, Probability)e] &9

FE(ER)] AHA o= o' Aol dojd & 9
2 Ui Aoltho) SERE Ef, gttt FAsiHE Kot

+ ST HE S Lol EEF)o] AKX dolth. & =
oj Apzlo] gH4s] dojd 7He S HIEE HAIRE Zo7 siAd
o} 3HH ol FEL probabilitylH], Y2e] F-8Al probable
‘ofE Apzdo] dofjd 7heAdo] Stk ek L ZHAAL Utk whebA
ofF ARO] gEolet 11 Azlo] dold ThsAdS Wilth AEHC
2 5ot &0l ol 4 ARdo] Yofd 7heS FAR
g A0F olafd 4= Ut

o] Z2 olsE IO R FES A0 R Yoo HAF WA &
Eolgt, " A(event) ‘A'ofl FoiH 51+] S(number)th. o] 2%t
SE2 the 4719 S (AH, axioms)E TSI

]

or

5|
el

6) QIE{Lll AT ML 2018, 6. 6). https://terms.naver.com/entry.nhn?docld=115536
6&cid=40942&categoryld=32214
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OH

2|

J

1.0 < Pr(4) < 1.
2. Pr(S) = 1, 07| S= 7Hs5t 2E At
3. AQ} BA}7-IO|5A|0"0| gAager
Pr(4UB) =Pr(4) +Pr(B
Bt Y02 o, A7} 20js 59l
Pr(4ns)
Pr(B)

Jé,_l-

0l

9]

rou
Y

r

=

oA

~

712 &g Pr(AlB) = ogat 2ot

==

Pr(4lB) =

2. =50 et A T} HIO|X|QH @iEe| {0

1) HN sE1 AR &

IO

2lE
SE} FHANA FH5= 2A9E Bste] AHH e (direct
probability) &A%t AHE H EE(inverse probability) A& T
Hol= Ao BAEA o= SEY ZAIE oldiths Hl & E&°]
Hch8) @2 Tt} ARl oAyt e vhEol e 7IAY
Adol dish FHet YE(E= Xl”) ZHA AL, PR dojg AHd
3 FEH FES Th A& 501, oFF BB FHS AL
g4 A, ddo] g &EZ 1/2§ &gtttz Zolth HIZ o]
2 ZAL viE AR gF ZA
a8y BASA gFojA= B2 EA0AM = A& (data, HlO]
193 A5 AT AdZoly 71410 Hiet FE(E
= A= ESESIH et AgE &9 olEd ARE v
U= & ARd(event) E= ¥ (process)©l Higt BE(E= A

Z
i
o
Y
=

O

7) Greenberg(2013), pp.
8) Zellner(1971), p. 1301l Nl._ 243128 F=E.
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rhu

)5 golo}
o

s, =
2 #ok sk Rolt = AT 1 g

2) ES0| i3 THE AT HIO|XIQ A 0|

et 2 BEo] UE BAS A7 849

A1) A4S A W ERS W @] 3 W Yok ARG
O

ADS &g
A2 WY A-3Fol v7t o= ARd(A2)Q] gE2 dril7l?

SADI BADE BTN E3] 2 5 9t AE BAE 24

CECIETERR

s ¥l wRe o gvio] e o] 05th, §
!

e B 54 9715 o
O

Pr(41) = lim = ,
o714 ne & GA7|E Al Hole AFe vHE Sl

o]Q} Zro] AL 35| HHEE ¢ = AR B HHO| I7|7}
gt 22o0] 7Msditts 4ol 1A
(classical) AZH o] Tdolth10) TAZ Ao disiHE H A by

definition) AL Bals] BRI AL, Bals] 2 FES 714 4 ¢

9) Greenberg(2013), pp.7-98 EIZ0610] UL LI HO1610] 2L
10) 0| 22 1% 0|28 HI=Z0|(frequentalist) = AE2 0]2(sampling theory)2i = F2Lt,
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= HoA & o|Eo=A H|Eo| A|7|= Aot Iy AT
Stof| A= ZAFA O & (approximation) 2 A3
51

T 222 SR 5 7] "ol Addste] disiA= old wiw
'?I’

< ad hocsHA(B 80l 5HA) 7g3te] o=t A5 & & U
_:T,L_

agolE B75, 184 ARAe] dA oS BAL e
£9] Ao] W9 Btk Bao] Utk

11) Berger(1985), p.745 &L,
12) Aol 54 77| Of|oi|lA] Pr(A41)0] 6211 £ & A1, Ol= EHO| M2 FFE 4 UL
13) 0] Z2 M=ol DHN X2 50| THol = (objective) BES K AHO2 HIIE=ICY,
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H3% ZHOI HYESY IF Wy

rlI.

Hol| H|o]X|QHBayesian)2] Y 2|7t 09] 32 HE7] G
o2 BuZ 7L SEwsE Fgett Zolth & 9] 344(0)e]
ofd, 0 A7t FEHST= Aot wekA Foi7l #EY} HE
e ool AHR(AF A, prior information}E CF&SHA WY EH ]
gt S 22 T 5 AUthe Aol of7|A FEH & 7
A&l A AP HEE PAH O R RHIFith: oA o] X|Qt
P2 F2(subjective) TR O Z SAHTE o] T2 FE0A H|
o]Z|k mIR|Y] B4x(parameter) AHAIE TE WE (5517] Wiz
ooz FEH FEL 27t YIHGoIA 2= 2E0] 8(usage) Tt
TGS 7HA dot. & 871 €A Eoh= ofd 05 SEHSE
7] g AL FEA 20| 7Fsotal =97t Extof
2 HOAT /AL o] S BT 3o
2 YA Xoh= 05 FEHSE HFWY] Wi 7HsE Aolth
o] o] upx|dlof A
F=d Aol o] &2
3 AZE HietdQl o]Z20 R HI|HTHE AR E%Xiod Aoz H
ofof g Zlo|tt,

r

3. HO|X X2|9} 5}A114)

sgo) v WA B2, = 273 989 ot thew 2o
Pr(4ANB)
“B) = — 5
14) 07| M CHRE= H|0|= M2|9] oAl XHHA(2003)S AR
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wHebA] oheat 22 BATE e
Pr(ANB) = Pr(4lB)xPr(B) =Pr(Bl4) xPr(4).

9] AN Pr(dlB)E thA AW o33 72 wo]= A
(Bayes Theorem)”} =&%t}.

_ Pr(Bl4)xPr(4)
Pr(4lB) = 1 (B)
Ho|2 A7t AEEHI Q= 7Hd(hypothesis)o] FY &-&E0f of
% 220) of®A ABHEAE Auin) g8, FolA e A
!

A}
A%} A7 BE The 3t ol vhpo] wA, WA A A ZHA b7
2 Aot 183 AFA BE S7A(evidence) e7} UErE AL
o} wEhA Hjol2 A= vt o] ZEHET

Pr(e|h)
Pr(e)

o714 Pr(h)E A e7F Ueh7] Aol 7+ ht g FE2A,
AFA -E(prior probability)e]th. 181 Pr(hle) = &4 e7} e
W AL WA o]F o] 7Hd ht ¥Y &g, & AR EE(posterior
probability)o]tt. et £19] Hlo]= A= 7t S FA e

o v]Fo] AEA 7Hd Wt Y FE2 45k YHS gEsth

WA Bxpo| 9l 84, Prielh)s 7Hd b7t o3& o T4 e
7t UEhd 7hsAdoll tigt Holt}. ol S 9t 7Hd h 119 ¥
£ Tl F=dl, o7 7HE WF S 8 Bol dSerE & d=
At gHH, B0 9l 94 Pr(e)= 71 het AA#Qlo]l 57 e
7 2L 7HsdS yEhdT vk ZHE het Aagle] $A4 o7t &
AN 7Fs7dol AuH, SA e7F et Zo] 7Hd bt Y &5&
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H3E ZEOY sid=sY G5 YEE

AR S Aol HhEo] EA et 2AIT F15Ao] e
o, 34 e7l Uehdtid 714 hot Y 3858 =Y Aol
w2ba] FolX Pr(h)o|A Prlelh)7t A3UE 7H ht 4 o5

go dl&3ta), Prie)7t 2423 A ot ek 71540] &)

22= Pr(hle), & 34 & R d@dsi= 714 bl 3d &8
AiHoz 37 Z7HAZA Aot of7]A Pr(h)E AFH o=z 4
4= ik, A¥A (objective) H|o]2F 97} H11, Pr(h)E FHH 0
2 BoslA i, F3&(subjective) H|o]|ZF2] 7} Ht.
4, MHEHNML A H2HaL HO|X|Q HEH2| X[0]
1) MYsHRY
o2 Z2 oeE AFARES 7Rt
Yy = By T 0Ty, + ot By, ey, 2] 3-6)

0:17]/\-1 et|$1,t’x2,t’ "'79:]@,5 NN(()?UZ)

FTHET ye A8Hs 2,2 34 0l 93 24" 182

z,,% ¢, 2= ABAZY QIch AF BANAE 59 Aol
A
yt|l‘ta/6”\’N($t/ﬁ,O'2), é] 3_7)

0:17]/‘1 €T, = [xl,tl‘zﬂg l‘k,t]/ :Lﬂ—ﬂ ﬂ = [6162 /Bk]/-
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oI A €, BEE Gl e 2AK I o] AN
y 9 ZAR BEAL f7h Foldl OB PP 2AR B

iz
P27} 9k 919 YL PPL o] g} E@sHA o

i
st

go oo

£

My o

=3
= X3+ E. Al 3-8)

ﬂ

°£|7]/\1 Y= [3/192 yT]/ ,

Ty Lyg vor Ty

x| T T

Y=X3+E, 4] 3-9)



H3E ZEOH shd=sE Of

I

=
i
rhu

L5 1-4 FH&FAHH(Maximum Likelihood Estimation, MLE)
o] H&L= Lok

+2(likelihood function), 1(3, 0*| ¥; X) &t (A1) =
I9EFS nl(B,0*l Y, X)= o} 2t}

1B, 0% Y. X) = (2m0°)” Pexp[— (Y—XB;;Y_X@’) ],

Inl(3, 0% ¥, X) = —gjln%—%vlna2 — (Y_X/GQ) (QY_Xﬁ)
g

949} SEFH(EE ZILTFL)E Frhset HSF UML)
o o YL het k19

Bopp= X' X)XV .

AN Byppe BE M7 B3, Baa B4R g3t gk

BMLE ~ N(ﬂv UQ(X/X)il)-

oot 2o Ho2gHUY B 2HF, B, Bo] UA 9] A%
B8} Zth ol 3,9 EWA(unbiasedness)olgtal Ftth w3
Bonpe THeT 22 A4 (consistency)E H 91T},

plimBA]LE = .

2= 280| 375 > A st 5,9 Fhol wA ] A4 pe}

15) Judge et al.(1988), pp.223-224 ==X,
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FE, oy S T Prh
5 (Y=xp) (Y- XxB)
O vmre — T

0]7] wj&of £ 9)(unbiased) 0°2

714 FdsoF she AL By T oF O FHF T HEH
FEL2 HEo] F3ls] gHEsto] dHEAY B2 F7]7 F3ls] #
A= oA AT 5= = Aotk & EWd(unbiasedness)
3O FHFZ AHERE o o] e Hol H|X|9 4
91 X (parameter)@t Zopdti= Aotk 3HJ(consistency)=
HEO| F7|7F F3he] 3 FeFAHe FHEo] u|R|9 Al
4ot ZoRith= Aol wehA Aty SAE AdS H
9 @ol| ¥HET & QAW 10 BEO] F7|7} wjg- & G0 1HF
HH F sl FFHHES AT 5 T

opAgro 2 ol Zgt 1M A WHEY IAE AHSHHE A F 7t

Ao Aol Utk AA, Yo Xeh= A& (data)oll E°1 U= BHE

o} BAS o ARESH P (model) 0]2]9] HH, dl& 0] A+A

7} A= et ol §rgstA] st A4 A E(prior information)”}

e 4= e A7 BEoit) o] T2 AMA HJEE diYgsi=
O

24 Wol At Wy 2ol A8 4 k. A, EEe| 277}
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H3E ZEOY sid=sY G5 YEE

2] a2 s Ay o M & & gle 490 BAF
FEZ f7|ol7|7t E&stth= Aot o] T2 A= 1A F B
5 2 (objective) Y= FHok= dlA 7]

AFALFS A 2H ohZ3 Zo
Y =X+ FE 4] 3-10)

Oq7]/\“| Y: [y1y2 “ee yT]’ , X: :L':zl $22';'x:2k

WlolA|ek Fol WHA FTWI THEE g FAT 9%
o =

F4=7th ofu et 9—]“5: HeE 7
Z itk A2 o) 2k
(observatlon) mjutch 57} of ' “Ad ZF (realization)g 7HATH=
o] ofuzt, f-2|7} HE2E 3o "413 Z74 38 EXE Hodigs
ofujolct.17) whaba] Ho|Z|te] ¥iol wel 919 AFI ARG S
THA] AW o33t ot

Jo
g
rE
rﬁ-‘ 4> ox
r.!
PRSI

rir

l

17) Judge et al.(1988), p.1182 EX3ULY.
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Y ~ N(XB, o*I,.. ;),

ﬂ -~ N(ﬁm B()>,

2 %o
~ IG(—,
o (2

o | S
—

71A By, «p, dp= AFAE 2L AR (data)E #ESH] A
A= AE=ZEA sto|m mheto|E(hyper-parameter), L2 IG
4t B3 (Inverse Gamma distribution)& 2]7]18) H|o]Z|t A
Hol A= Fold Am(Y oF X)E B LR o5 ARE BAst=
sEtolg g 9F oo HiF BEH 2L st gtk &
(8,0’ Y, X) & EAEE AT YEE F5lo] 3 9} 079 RIS E
‘< Tefst= Zo] Hlo At Mo F8 HHT

o

al
o
=

[

rd

9] FolA Ho|x|ot BN 7(3 0%V, X)E Ho]=Z A
(Bayes Theorem)E °]-&3] =&5ld 23} Zch.19

77( Y|B: 027 X) ><7T(ﬁ7 02|X)
(Y| X)

7(3,0%1 Y, X) =
74 7(V]X) = f/w(Ylﬁ,02,X)7r(ﬁ,a2|X)dﬁd02.
(VX)) = B33} AHg=o]7] W&o, 4 9t ool el “AF-Aztat

A9 APA £’ (normal-inverse gamma conjugate prior distribution)
=
=

7} 200 et e 2]9] 9 x 7} JpsEl},

) Zia k—-—EE 71Xl EEH4= Hol by definition) 25 29| 2+S 71XICH 2402120 T
FHol= Z115(2016)2] pp. 243~245 E= Greenberg(2013)2] pp. 225-2262 AZx6}|
bt Ef O| Q0l| = TS S |3 = HIO|XIQF AZZRIS WAHO| SZ0F 220 T 4H0| K|
Al=0f QUEE

19) £5| Greenberg(2013), pp.47-492 AIZX5}7| HIRLCY,

I'0| _IQ
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(3, 0*| ¥V, X) o< 7( V8, 0%, X) X7 (B, 0*| X)
= 7r(Y|ﬁ, (72, X) ><7r(ﬁ|(72, X) ><7T(<72 | X)

%o O

= 7(Y18, 0% X) X N(B| 8,,0°B, ) X IG(o” 5 ,70)

- <:2>'</2 x expl— ;sz—ﬁl)'B; 15—,

1 Y 0,
x(=5)?  xexpl-—5],
o 20

od714 B = (X' X+ B, )" B, =BX'Y+ B '4),

o, =ay+ T, 18316, =6, + Y'Y+ 6,/ By, "B, — 6, B, 'B,.

e
o,

fo 2 =EHHEE B e AR dUE 3
7(3,0% Y, X)& EAHOZ(analytically) E&3t¥ch Yot
BlY. X ¢ o'l Y. X o A7} 27} 288 & & Ut

0
/6| Y, X~ St(Oél,,Bl, (a_l)Bl),
1
A s
AV, X JG(2 ) 2).
A8A07 (9 ool Hs] AF-Ggut Ae A BXE 71
She A9, Sele ARUE { RS gl BEE $85t0] § 9
0?0 Biro| T3t ARE UA i, Tt EAA FE2(CHEAA,

20) 73| A EX(conjugate prior distribution)2 HAZ} M2 Xt29| ZHEH O|F0)| B4
(parameter)0| CHaH L1 Q= 2RO APH 210G, AlE 27 AR 2ILQL Z74Lt SHHE £7
St IEMOIA TR Qs 222 EELE AP 225 9|0[SiTt.
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l'?— aﬂ](conditionaﬂy
e Aol oE

Hm

conjugate or semi-conjugate) AFA

'5‘01, %1-/‘1 gﬁ%%‘ B ﬂ‘ o Oﬂ q H ‘21172,‘1:!]» %a] A]—Z_ Bp=

7Hget myoaet g, 5 9 o7t AR £l EHE W4l A9
A-Gnt 29 AR Breh 22 29 AR 225 3717t

2ottt & ShE BAISE £EoA Izl £ RE BEA4FoR
(analytically) AH8S 4= Qith. webA] Hoh {Agt HHo=
o tsf BAY FE= !

sampling)22S 53) 3 & 0°9} 2L R4 (parametend] EES 37

8 ot o] wlolxt AFFARYG A 3 < o*d

=
o 217t 2AR AP A BEE JPgshe theat Zo] 9 &
8

4
o)
H—(

T(Blo? Y, X9 Bx 9 23V, X9 BEX)E £ &£

ﬂ|0-27 Y;X ~N(ﬁ1731)

oYW B =BAB = (0 *X'X+B, ") ' A=0*X'Y+ B, '4,,

21) D™ E7 F20{M 2|7 7Hconfidence interval)2 X
Kot A F20|AE= M2 eredibility interval)S 88
22) YA MEI0| oA Of2f ‘5. LA MEZ' S EX6P| H

Jok=C, 012 RALRHTHE .2 O]
Sttt
F2AC
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a6
272

o168, Y. X ~ IG( )

7IHE BlY, X9 B2 & oV, X9 Ex)E £&3 4 9t} wet
A 69k e BEE FEH HRE A =i, gt FAF 22
HEEA, A8 4 5

TAH HAFHEAE FHLFN)L ST, 16,07 Y, X)E
S3sls 69 S EESE AL BEE

Hh BoTXIF HZHL: “n (8, 0% ¥, X) o< 7( V15, 0%, X) X 7(B, 0?| X)"
E0183) 8 9} o° 2 AT BE 7(8,0°| ¥, X)& =& A BHE
Stk wEkA 13, 0% Y, X) 9} Ho]R|Qtell A ARSHe w( V5, 0%, X)
7} A=2(Y, X)) BA U+ 5L FEE L85t= 7FH, HIolA
e F7HHoE 7(B,0°| X)EH= APHE HJRE o|gsla ot A
Hog 1A FITHL AR(Y, X o&ste A JdFe
2 BrtE T, oAk AR(Y, X)ol §1 Fuet AHH HRE

S AESHE FuA 9oz WY 4 92 Aol

rft

23) IHA S F20M AZlF7Kconfidence interval)2 FHSHE, 0|2 RARSHIHEO 2 H|O]
X[t E7| F20|Me M7 Keredibility interval)g Mo,
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5. LA MEZ(Gibbs Sampling)

12 MEY(Gibbs sampling)> &A ZAFE Ex(9
BlY, X, 0° 9 Bxe} o°| ¥, X,8 9 Bx)7} shit

¢ER FE FoAY, AFE AEFelde S FH 2ECE

ol 1Y Al ME
F55He ek HoRerk ol e oY) (i = 1, kg = 1, L+ M)
oA L 7o U2 A M A 0L AFUEFS,

(229 o 2,) A FEH Zog HFHY wbd M 79

S\9) (=1, -k

i

ol
o
offt
ol
ot
i
rE
w
N
I
=
x
1o
=
T
o

= L+1, 7L+M'§‘ %'SH (213327 "',Zk)g] Z2

» g
o Bxel FH BRE LA O F(approximately) & 4 ATt

[=} =} o =
HO|: (2,29, -+, 2,) = Kk IHO| EE 2
1) A CHA)
- 0 0
- ololo £713 (29, -+ 2)S &

- B{240f & 7| ME 2(size of burn-in sample) LI} 20| Ef I FH0l| ALE Al

24) Tanner(1991) &= ; Casella and George(1992)2] p.1670{|A] X2l
25) 2IA MZ24(Gibbs sampler)7+ LI ME2IMIXI= BeTats (2, 2y, -+, 2) 24
K| LUTHT O] L 7S] AlZ20|N HES Hl= A0|Ch LA M7t KXoz

[ — =

71'(21, Zgy ttty zk> 0] £=25ITH= 242 German and German(1984)0f| 2Jof 2L
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9) L+ Mo & 13|= A&

0 0
15A Zle 7T(Z1|227 7zk) 2H HEY
2THA 2 1o 7T(Z |21 N ZO)E‘:'E‘I JUE=L]
OAl - 2o= 91%15%3 ) A =T H OEo

1 1.1.0 0
3TA 232 7r(z3|zl,22,z4, ey Zk)§$E1 MEg

o1 1 1 P
ket : 2,2 w2yl 21,0 24 ) 2EE MEE

6. 10X FHAEa HOIX|2H FHZHE| dEd

A HTHI wo x|t IS A= WA 22 HiA|o=
HEC] otz A= Heshs M ELR olsid a7t th.20

A 1AF FLHe AHLS BT WAYUS, g 0, EFst
o] Folx E4(parameter)©l 2Jd o #H(observation)©] ©]F0]
A o, o]jgt o] gt AFAATH (A E= oA o]
HeE AT 5= Ath= 9 At &3] FLol= ARE AEF oA
< 59l ozt 7MY AHE wf$ wol, 121 ®E A7]|E wf¢-
A st AAE FFF 5 Ak 55 74 9T 5ol JE&H £
Fe AAF BEAAC] A o] 22 1HH Ho] AT &
U Aolt. L Ho]X|Qt 20| ¥HE AF 9] oA ojH £
< Ho|=AE 99]7] YeiAE A FEHo] ARgE S ot




g e AL et o] et

A, ol et LWL AR £ FLE A9 BE B
A% gl tiet S84 F2o] ZRsateks Aol ek 1A
THE oA A vt i Y oSS Eikste] Sel} uiE
YL T BEY 277t A A9 4§37 oGk
go] Mssteiets, 1HA Ayl BE FBH 22 ofss]
7} W9 ol Fek.29 vt Wol et AW TAHE Pwo] g

g R B8 FAlE Hgo] /K5 B ohjeh, nHH 2
Bo] & 40| ol A9olE Une ABH FEL TH5SH

e Aol Ut

4, #o]x|ot HLHL NEL 27 o] & o] ¢A = F
H, & A4 HH(prior information}E A4 FE] AT 5
AE FHS ATl £1.29 ofefofA= Ho|X|t AHolE &
FAO0Z AMAZ FHI} oj@A FLEEXE AuE

A AP AP A Hlo]= A E](Bayes Theorem)7} A-E&E+&=

W42 ofefel o] Aumgit.

7(Y13, 6%, X) %7 (6, 0*| X)
(Y1 X)

77—(67 02| Y;X) =

27) DX HIHOIME BE22| 3717} A2 Z20) sl £H20| 288 (unbiasedness)E 7HAIA
Lt 2 ARAMES THEICHS 24)= 80| 3EE0] lge fEg HaIt ALt

28) Berger(1985)2] pp. 119-1200A % 0|2t RALSH S o1l QL=H, B2 AIRS0| ITA ¢
HO| &8N FE2S EXESA(FXAIARHE) HOIXIQ AEOA sHAfSHT QUCH= AOIC.

29) X=( Y, X)0f F01% HEIHH|0|X[QF RRO| SAM Hetg &t QIEE of= A 2ILE 2| mH
A APH 2 (reference prior)2t StHKoop, 2003, p.290).
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A3 EOI SHy2S5 of
4714 w(Y1X) =

N
=

dEE

J/E

(Y|/8707X)W(/8702|X)dﬂd02
APl A e gele] Wolz Aol theat 2t
Pr(alp) = 2

B|A)Pr(4)
Pr(B) :
=0]9] HOlE ol X H4E H7|A AlQstal, APs| AL
o] A% Wk 5 7(6,0°1 V) S T} Zo] #ET 4 Yk
7(8, 6% Y) oc n( Y8, 6*) X7 (B, 0?)
Z2 A5deE 1(V]3 0% 7(8,0°
714 7(V3 )=

)9] Fof HlF|gtth= Aol

AFA7E FHI 2L AR(Y)o] ZFH
HE 9u|sta, 7(6,0°)= 2 AE(VE Hot7] Ao LA
AHE ou|sitt = o]9} Zro] AFALS] M (parameter, O] 7] A1
B, 0%l tigt AP A4, 7 (

%
=

)7t 2L

(8,0’ V)2 A

AR 7(Y]6,0°)] 23]
|E(update)€ltt. o]2|st JHO|EE H|o]x|qt
At|o]E(Bayesian update)etal gttt
Hlo]= e 2RE o] 2= (Y))ol thel the HlF4o] -zttt
(3, *1 ;) oc m(V; 1 8, 0%) x7(B, 7).

E3F Ho|= HRry ARe A=(Y)o] el e %
[410] Hhgt,

72 H|
7(8,0°1 Yy, ¥;) o w( Yy, ¥i 1B, 0%) X (B, 0%)
Hzlz

30) A0lIM 5B EE2| 4719 Z2| FO0IA Y| B Z2/01 &
EE5 A QICt

= SE0| X

=

OAE OIZaH #I0|=
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= 7T(Y2 | Y], 53, 02)><7T(Y1|ﬁ, %) xx(p, %)

(¥, | ¥, B,0%) xn(B,0°| V).

9] mpxjut vF A 2 RE 7(3,0° V;) 7t MRS AE(V)E B
7] A oA Z=(Y))oll AT A4 HE (prior information)”t &
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fru
)
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2
X,
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1o
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)
K
e
o
o
olot
2
>
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1ot
T
iy
e
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o}
o
=
=}
=R
o
—
=)
)
=,
<
(@]
et
o)
=,
(@}
—
o
2}
=,
o
c
=,
o
2
19
)
oo
lo
o
AL
jab

kd
>
X
)
rld
rE
i)
4d
o
HL
N
>,
)

T
H
i
N
N
o,
ot
)
o,
A,
2
i)
rl

31) uninformative2h= BT ARRE| 10 QL

32) ‘FHEM MY 27t ML= 0lf= I M 7HKIZ & 4= AUCH S, SR FARE 220
CHSH HE7H A2 Sl ZR0E M, AFE BEE 71610 =242 AX|7t U= HO(bias) &X|
£ LOT|X| 27| ASHMLE. AmH, AP HEHE Ml AP 21 HE 2 HE | 8157| HE0(Ct
(Judge et al., 1988, pp.126-127).
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H3E ZEOY sid=sY G5 YEE

11 HIHoAE poll iR 4T, Bype°l T 2t

Bopp= X' X)'X'Y ~ NB,* (X' X)),

Z Bupre S Wol HFEEL Ao EL W & HE F7|
oAl | A]9] H=Zko]l EH%J AHE 7R3l k= Aolt}, o]Q} tiH]
A, FARA APA B 7(8,) «cconstant 'S 7143349 H]o]A]
oF HTHoAE o] AFS B 4V, X 7} th33} 22 HEELE

BlY, X ~ Nb,o* (X' X) ).

A7 b= (X'X)'X'Y.

AlY, X 144 Fawe] 24X 22 #o B#e /A ©
o} wehA RgRE A}L B2 g83] ¥ox|gt HIHo|Ax
TAA F2HT U3 ATE AL 5 ok 2 we A9
o], FARA AH Bx'E o8 Hﬂ°1 At At 1A @ﬂ
o} 27 vehg 4 1ol 495
ZHAHLE B0l obd B AA7E BEHSE HFE7] o]
o7 JRE 7T FEH
AHL & 4 Qlth A2 So], £835] o] whEg

o =
Aeete 384 ZEo| /Hssiths Aol k. Aok}

O
)
0
rol
g
w
<
u
ki
T
é
E
O
B

33) Judge et al.(1988)2] pp.287-288S AIxSHL}.

34) ol2{st RHEM A 2= 6,7+ O 242 7IXI=X| M5 HET ik 28 Hofotl ULt
Ol2fst ‘FHEN A BE'= &E Uk &7t MEEX| o= HIEZEGHK] 242 A 2
I’ (improper prior distribution)?} EIC ‘HEAZIGHK| 222 ARH 23 = H|0|X[oF 234 H
=HIE Yo7|= HEO| UL

35) Judge et al.(1988), p. 151.

ul SO




i)
rl
ok
rlo
-
oX,
o7
o A
_)‘:‘
[
M
H
it
)
oo
:oé
K
™
2
i)
rl
it
i)
olft
e
<

o7t #lo]x|Qt PH|o|E =2} ‘FAEA AP Ex'9] =g

Zglslo] ‘Efold HE (training sample) ALHS ARFES 4
th30 Hlw A & ZAR(YV)E 7HIAL = A5, 999 AP B3
=2 27] BE(Y)F I 0% A BE(V)E T2k A
t}. o]g7] ARE UFol, Y& o83 x(3,0° V) & EE3o] A
A A H(prior information)2 AHESk= Aot o|gA =&H AR
FJEE ‘Egold #E AP EX(raining sample prior
distribution) 2t 2t} Yoprt ‘BAHEA A EX'E ARESH] T
24 ‘Efo|d TE AR EX'= vEEgE A EE(proper prior
distribution)o]7] W&o, HEHoZ AMEEE 76,07V, V) E
HIEARE 237} Eo] Hjo]x|Qt K Blw Fo] A5 Y 4= AUtk

G, B Tl Ws dee] SEd g wy Sojdg 2

2 mlm %0

(©)

= dé [¢] 1=
o] HloJA|et AFAAIS, 1AF ARolM= BEH FEO| o
22 A0l HeiME vud 44 gE4 322+ U=
bS AABEAL Ut ol 204171 FHF S0 Lojur] Azt A

FE9 AAHEE AXDH F™H(computational revolution)OZ QA3

71E0] HlolAQt HIRiol Atslr] olft= Aol FEA

o uiflo] 953 AFHE ol Holxek FEo| BolsiH
7] whgolct.

oA Arm & v}Q} Zro], B4 A 0 & (analytically) 2 & 3l Y, Xo] &
I 9 o*| Y, X0 BRE ojFA E&3= AHT FAR A AR

36) Greenberg(2013)2 &&3HLCY,
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oM
2
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o
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M
H
il
N,
o
ol
&
i)
[
2
(e
ot
o
o,
oo
9‘11‘
f
=
~
I5
e
5=
1o

Aol Hr} &

-
T
B9 T AT BEY

ESH A AMEFYL Markov chain Monte CarloMCMC) A& 0]
A 719 5 shudld], ‘2R A AR £EE 7HESHA] dEEE,
MCMC 718 % 3142l Metropolis-Hastings(M-H) €18]&& o]&
S AFE E2E AEFY o At = HFH AlEdelds S H

A W7 S AR et

ojAet HIHe A&

1. HIOIX|2F He =[HEA

Hlo|Z|te] vl wet f1o] AFe)AR Y-S T 24 that gt

Y ~ N(XB, 0’ I, 1), 4] 3-11)

),

(6
/6 -~ N(ﬂoa BQ), 02 ~ 10(70’

o | S

0:17] /q Bo, Bo, g, 60‘11:_—_‘ ﬂ?‘x}ﬂ‘ }\Hi‘u% Z}E(data)% oz 8}7]

Hof &1 = AP A H(prior information)ZA] dfo]¥ IEtu]E
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(hyper-parameter), 18] IG = 9Zmt EZ(Inverse Gamma
distribution)& 2JH|37)

919} HloJA|Qt ol ‘2HFR A AP EE'E 7HY5HAE th2it
Zol g 2R AT Ba(flo” Y, XS B2 W oI5 Y, X B

017]/‘1 By = BA, B = (Uﬁ?X’X*’ Boil)il,
Y, _ 9 a O
A=0c*X'Y+ By '8, o°IB ¥V, X ~ 10(7,—)

[\

A7 o, =a,+ T, 6, =6, + (Y—XB) (Y— XB).

ZHO|H sid=sT M2y g4 HEE LS

mataEQl 3, By, o, 6,0 Tt =712 &

& =7| ME 2(size of burn-in sample) 1 2t DO E I FHO| AL S

rE
io
ne
Kl
o
af
>

5

2) ny +ny

1674 : 8l Y, X, 0" ~ N(BA, B,)

(0
2w 0? |V, X, B ~ IG(Tl, —)

37) YO EIE JIX|= sl t HoM(by definition) 25 Q| Z+S 7FRICH. HZ0H2IL0)| Y
St ™ol= 245(2016)2] pp. 243~245 E= Greenberg(2013)2] pp. 225-226& AZ617|
HFZHTE. 0] Q0= Chfsh SA|SH Ei= H|O| X[ A WAHO| S0t R0l St AHO| A|
AlE|0] Tt
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H3E ZEOY sid=sY G5 YEE

o] Ho] x|t HFo A AP HERI 5, B, o §F H7E3MoF
sttt 2 AFoAe ‘FHEZFH APd EE(noninformative prior
distribution) & ©]-&3%t ‘Efo]d HE(training sample)< ©]-&3f
o] T2 A HEE gHIIT & AR(ve X)E EFold EE
Aok (v, 9 X,)T A2 HE(Y, 9t X,)0 & thio] EAgl

o] 22 FAHEA Apd R'E &8I ‘Efold R A%
X (posterior distribution)= Tha} -2 A2 0|85 =&Jct.39)

plo*, ¥y, X, ~ NGy, B)

A7NA B = (X' X) XY, B =o' (XX) !

0,
18, Vo, X, ~ 1G22, 20

0
272

A7|A oy = T, — k, 6= (Y, = X,5,) (Y, — X, 5,).

1) B4 MEHO| SIS X EfAf HHH(SSVS Method)2| 7HS

AAA ATt Y o, BAE 5y g B9 o)
3 HEuss 61‘:!;6}71 HOH A % 209 2ge wlastof st

AEs7lol B ok sk 4
Fol M HlolAete] TglA 5
(=1 K9 $o14e Fohu Wi Ba) FAH Aol
A Golst deuss AEstug st TALORE ATEHNA

38) Greenberg(2013)2] pp. 55-565 &Z3CH.

19
1
_\|l_‘
i
1
52
A
i)
o
>,
M o
) ml°

-+

51



SSVS(Stochastic Search Variable Selection, ¥ A€H9o] &-&4 &
A) wrHo g AdHA Qe FAA 7IHES &8olAt it
SSVSE George and McCulloch(1993)7F &2 AIQtetrt.39) SSVS
RS SAAIE B,7F o2 002 FYUSHA|EE HEAlo] A2 TE A4t
BxE09] T3 B (normal mixture)s Akl 7F4gkct o] $4]0

2 EEshd ket 2ok

Bly; ~ (1=~,)N0, a7) +~, N0, o7) Al 3-12)

A71A = 0 E 1 0] of < o,

o] BYNA] 1, BRE 2AHT 4 Y, + = 02 SECETHA
BIE o] 7§ = 09 FEo| Aty 2HY 4 Yk = o f
om|st w7t obdl Aoleh BT + = 191 SH&o] A7 o=
Sofujst AgEseta B Rolth, & 59 Bilo] 57 02 /1F
o= FAtks 2L A4 5,9 go] 00] obd 7FsAe] Erhe Aol

2) v Medo| SIEX| B Wiis £ ZHO|L SHUSSY 2

= ﬂ:ﬂ-oﬂfﬂ% George and McCulloch(1993)of| 4] AA]%E SSVS ®F
& 0% Suslel test g wAE BAUL

FHlelY H4EEY A4 Aeo) Add L)

Y|X67 02 -~ N(Xﬁa 02[T>< T), /‘\Jl 3_13)

39) George and McCulloch(1993)2| YH|0|E HZF21 George and McCulloch(1997)= QL.
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H3E ZEOY sid=sY G5 YEE

7y, =0)=naly,=1)=1/2,i=1,2, -,k 283 4, =0 E= 1,

4 3-14)

2 (%, % A 3-16)
272
d

o~ 162, ) 4 3-17)
) d

ot ~ 16— 7). 2] 3-18)

o] 7|4 FojA &= sto|¥ netu|E (hyper-parameters)= (5,52 F
Tt Opq, LB, 8, Voo, dygr Vigr diClTE ©] EFOA ALSA
B2 2A534 ke getu|gE g, v, o7, of, oi°lth 53] #
oJujgt i) AEs 98] BAE Sh= AE+= %-94 Bytolot.

4] 3-13) ~ 4] 3-18)'9] 6 7H9 Aoz HAH [HHe Y =
T 242 AHe A HlelA AtE(data)E BET 9
&d AR BEE =&t o2t 2t

K& HeEds AT BeEvge AR & 245 22 =]

®719 Aol 1 y= [y 'Yk]/
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© B 9 AS &d 2AF Ex
BlY. X, 0 ap, 07,y ~ N(B A, B)),
o714 B = (6 X' X+ B, ) '5t A=0 XY,
383 By = diag(1—v) oy L+ 01 4 y)
o’ O] AF gl AR B

o 0
U2| KX67 0'37 0%77 -~ ]G<717 _1),

\V)

Oq7]/\1 oy :Oéo+ T_‘l-q' 61 = 50+ (Y_ XIB)/(Y—XIB>
@ v 9 AF &d 21F 22
ZJI— .]: 1,2, ,k‘ Oﬂ q:|'5'H

N (310, 07)
N(B;10,05) + N (310, 57)

w(y; = 1Y, X, 8,00, 0}) =

r{m

@ oy 9 o] 9 AT gH R
Zo]z o Yl v, =02 m A9 5 & motq £ & ¥g
(colume vector)Z A5t v, =19 YHA k—m 7|9 5, & &

ot 3 & ¥E|(colume vector)E A OotH, Theat 7 ALS 9HA
AR EX7F 2EHH

Voo T M +ij(ﬁ2)2

2 2

oyl Y. X, B,0%, 0%,y ~ IG( )
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12
2 2 U10+(k‘_m) oo Z (ﬁj)
01|Y;AX:670'70'07'7N[G<

ZH 0| sild=5E

010| SHEX| B4 MEH MOl ZIA MEY A2
1) AZf A
- 50| I2t0|E{Q1 5,59 Bt 0, T2|1 oy, Oy, Vg, dogs V19, Dy BTy
Off tHet =712k8 20
- H2{0F & =7 | ME 4x(size of burn-in sample) 1,2t 20| E| I FH0| ALSE A
=+=nE 483
2)ny +n, Hel Y

D215 AR
124 Bl Y, X, 0%, 05, 0%,y ~

NBA, B)
2847 -

2|YXﬁ70'070'177 IG(

)

NB,l0,07) <o
(g 10,02) + M(B,10,0%) =

27

1\3|H‘>7

3wy, = 11 Y, X, 3,05, 07) =

0zt 1At0[<| EOE'—'?'—EOHH e
( =1Y, X, 5, 0’0, o
([frndu(l 1) < ’/T(’}/J =

then’yj = 1and
Ifrndu(1, 1) > 7r(

o &
2) |y
)s
= 1),

theny; = 0).
Vg T M oo ZWS)Q
ATA 0'(2) | Y. X, 3, 027 0%7 Y IG( 2 ) 2J )

(k—m)
dy+ Y, (B}
k— 00 -
ally,)cﬂ,o%oﬁ,le(UwH m) . -
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3. FEArEY

/]

FEA4+2H(Random Coefficient Model)& F2 o231} 2 A
Arlo=z FFHCH

O.
ol

K
Yie = Eﬁkit X tug,, i =1, Nt =1, T 2] 3-19)
=1

2] 3-19)01 A 5,0l B3 AoFo] BIIE|Z] ko o] L o
20| T=Fo| HA] =r}.40 3tH, Swamy and Mehta(1975)= 3]
A10] 7G-S 9l o2 2 Y-S st 4

K
Ui = DB X Tpy, =1, Nt =1, -, T, 4] 3-20)
k=1

ol YoM k79 = FAHHE 5,5 thadt Zol FEHSE FHF

B=pB+aq+E, 2] 3-21)
7|& BFME 99}t o] AL 47t GEHSTL 7] i o

|
2 1YL FEASLFGOZ H2T Qrh. QhA A3t wo]z|Qt
P3| ARG A= Alg(coefficien)oll tHell A2t 7HA] = BE

z

2

40) Balestra(1996); Hsiao and Pesaran(2008), p.1860{|A] X{2I=.
41) Swamy, Conway, and LeBlanc(1988)0AM= AIRI1=(Keynes)2| HZS S0, AZEHU|A

Of A7t e YYoA| Bl Hatels dZot QU
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iy

A

H 3% 7HO|H sid=sE OIE WHE
Hrgstel gHEoleh= o] =Y AR, SEASTEF
A= Am A I (data generating process)?] YEZA] EE A
S7h EYEQITHE Hol A Zfol7} glek a4
2 AL Z+ F& i(i =1,---,100)°] sl ot 22 EA
~n3e /Mgt
(ﬁ—1+eu) Xy, (5_2+€2f) X Ty (ﬁ—3+e3r) X xy (54+€4f) X Ty,
2] 3-22)
o714 By = 61t ey, By = 52 +oeq, By = 53 +oey, By =
B A%
e, ~iid. N0, 07).

54 + ey,

webd Aol et thedt 2

O

1

4] 3-23)

X7t =29

4
Z ﬂk Xy, = Z € X Tpy ~ N, kz—%ai X 3321)

42) Swamy and Mehta(1975)2] p.5942} Swamy and Mehta(1977)2
43) Swamy and Tavlas(199b)= &&H4+2H
44) Swamy2| HZZAXSH| it 7|0d= Hall et al.(2010)2

2] 3-24)

= XX

= TS,

=RPNON

= T,

LESH H|OIX| MO St

ZZ=ofal QUL
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9] Alo] ofs) theat g w4t mEHT

— 1
L(ﬁka02|yta$t) = WXGXD - 2>1<a?
4] 3-25)
4
P=
90) Eeto] TS Hiskshe A% 5,9 Bt 025 759 4

FHMLE)S] FHA7F =&EH
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Had dHO0H sldE23Y HES %t

Wiz

ZAEoy =TT ds= AT

HhE xtzol 43

< 3 1370 57 EATAL
FAT 4f Fret 33 8
= FEE FEFoH, FHx 8/ 57H= SH= 570

£ AEYTE wEbA FAFNAY $EF
BE BT 5x12=60, FHFOAY FEFE= BT 8x5=407

(& 4-1) Mt 77t

SH=E=) FHRBH=)

2 =3 o= 02 £Y CHEE, ZH2{|O|A[OF, HIEH, ATIEE,
, 5=, 48, 0=, =Y QIZLAIOF B, T2|M, &2

£l




olo

g e
zzi__‘

100719] G2 the moh Pt

(H4-2) 4324 =

= = il = el 6=

1 St -t 4 H E -5t 71 AJtmE-5t=
2 g=-=d 42 =5 72 B=-52

3 e=-ZUOolA0r 43 tH2t-0l= 73 Bi=-0l=

4 ot=-01= 44 = 74 Bi= -2

5 ot=-HEY 45 H-5= 75 B=-5=

6 Sha-d7tE= 46 H2t-gt= 76 Bi=-ot=

7 g=E-QIEYA0r 47 s3-5¢ 77 Sg-tyat

8 ot=-g= 48 3-01= 78 SYU-LO[AOf
9 =-S5 = 49 23-Y=2 79 =Y-0l=
10 et=-Ei= 50 8383 80 =U-HEH
11 et=-22H 51 g3-¢= 81 %%—’87 2
12 ] 52 QlZHAO-EY 82 U-QIZ A0}
13 S=-HT 53  Q=UAjor-OF 83 %% U=
14 S=-5¢ 64  QI:HAO+-E 84 =Y-5=
15 Z=3-Y{Oo[AloF 55 QIZUYAOF-B= 85 SU-H=
16 s=-0= 56  QUAOt-Bt= 86 so-2eT
17 S=-HEYH 57  ZUOAO-=E 87 =-ot=
18 F=-d7km2 58 YOJAof-0l% 88 =U-83
19 SF-QUZHAI0F 59 HZOJAOR-YE 89 0|=-THEr
20 S=-¢2 60  ZAOMKO-E= 90 0l=-5¢

21 S=-E= 61  {OJAO-8t= 91 Oj=-20JA[Of
22 S=-Ed T 62 get-=Y 92 Oj=-HEH
23 S=-¢t= 63 Zej-0= 9.3 O=-¢7t2E=2
24 3-8 64 -z 94 Oj=-Q=LA[Of
25 U=~ EHDf 65 2eH-5= 9% 0=-2=
26 U=-5¢ 66 Zej-gt= % 0=-8=
27 YE-LYolA0r 67 d7tEE-5Y 97 0|=-Ef=
28 d=-0= 68 A7t2E=-017 98 Oj=-2=1H
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279 717k THS9] WTS(World Trade Service)ollAl A|&3t=
2000~2017€°lv 7k 42 AARl o2 2001~20179
o2 I} WISolA= =7F 7F SugFS H|E

stof ZHo]

Ao 5 ol Aug xﬂ%s-m 9lo] ol AL =
Aelold 1Y ARE FUOE ARE TGl BAHY

7} 27te] olApgat eL

(B 4-3) Hy U EX

WES, FHEAA FAHee 3
AHg3e.

A= =X
=71 74H(0|L HS_WTS
=SZKTEV) (World Trade Service)
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TRIGEEE)
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= NS X H| D (K12 )
IMF, IHS_WES _

O|XI&(% T . A7t SSIAY O|At=
=2 Ik (%) (World Economic Service) IAIE oIt
H:'J\
= a8 HSWES omz sg

(World Economic Service)
37410 AFEE Weo] ol ohew} 2.
(B 4-4) HEEM0| AEE Hr E5

= Atz AH

Y 29| MA HO0|H 25 X+ dHE

x, 2= GDP X[ HHE

T, £ ZU X+ YE

g == 0|AtE

T, B2 K SYE
2. Xz MY

Fouisgel 5% 275 A9NSe A% GDP $7He, %
2] A4 $39 3718, $9F o428, Y2 & 37189 4
HBAE AW E7] Yol Sh=-thvt FEY JAASFE Ao BH ot
23 2o
(B 4-5) 312-CH2t 820| i 7t AT
SEY  A9RGOP  +8% | AuE o
g =zng e omg TEEE
=52 3712 1 0.77 0.76 -0.17 -0.17
== GDP &7t 0.77 1 0.56 -0.09 -0.50
*=EM JHE 0.76 0.56 1 -0.11 -0.01



X 4% ZEOIL SNESY OIES AE 4SRN 2

S5 4UFCDP  42% 493

i e 8 oxe

2= O|Atz -0.17 -0.09 -0.11 1 0.36
sE &57kE -0.17 -0.50 -0.01 0.36 1

ol
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o

olE W 7 IAE 1IZE Yehid o} Zh

(T 4-1) SFE-TH2H BZO| AL} Mt 710] 30|

K\ 8
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1. HO|XIO CHA3|mEo| 25 Ha

Hlo]z|te] o] wiet 912] Aol Y-S thAl 27 that At

Y N (Xﬁ s O T>< T)
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5 -~ N(ﬁoa BQ),

o | S

2 g0
o IG(Q, ),

A7IA By, B, o, 6= AT MEZ A=E(data)E B2
Aol &1 = A A E(prior information)2A] dko]m Tt g
(hyper-parameter), 181 IG = 970 EX(Inverse Gamma

distribution)& 21|

#lo]Z|Qt BP0l A AP FHQ 5, B), «, 6,5 A73foF

oflt

[¢)

Eig=g
H JFoMe= FARA AR B3 (noninformative prior distribution)’
=) Edol'd #EE(training sample) 2 ©]-&3f ©] 22 AR
FEE gHIT & AR(ve X)E EFold HEo| gt T2
(M X)H A= EB(Y,9F X,)0 =2 Uiro] BA7I

o] T2 FHHA Ad Ex'E 83 ‘Efold ZE9 AF
¥ (posterior distribution= tha} 22 A& o]&3)] E=EFct.45)

ﬁ|0—27 I/17)(1 NN(/B()a B())

A7A = (X, X)X Y, B = (X'X)

Q)
27

1\3‘00'»

18, Yy, X, ~ IG( )
o] 7] A oy = ]—i_k, 5() = (Y1_-X160)’(Y1_-X150)

Edoly HEO BRIA 5,9 BE E&F, 079 EILojA

45) Greenberg(2013)2] pp. 55-565 &L,
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ﬁ|0'27 }/vQ"XvQ ’VN(ﬁpBl)
o718 B, = BA, B = (0 X/ X,+ B, )",
A=0"XY,+ B '8,

Qy

77 )

[\D|,_.°"

o’ 18, Yy, X, ~ IG(
AZIA oy =y + 1y, 6, =6 + (Yz_Xzﬂ)/(Yz_Xzﬁ)-

FE 104 AAIRE 100709 H= D3] AEF Y Ho]x|Qt =4 L
] AZ5H(OLS: Ordinary Least Squares) 74 A3-S UERd Zlo]
o Hlo]A|Qt 4 2% -] &2 09 BHUE BEUAR U @
< u]eit 0 1007 FE F 571 FEOIA Ho| At E HAAS
Hol 24 A3t vhA Zol7} . oSk Apolo] tfRES 7
A=l kol A9 00l 77 BEA & AulE AYAlE= =t

qtH, A o]l2H g V|HEE Foet A5k AT e
Tste] 10071 FE SOl HFE= FFE HAISH oS 1™
2t dA=E HolAQt deIARYS F5f HCY sidEs
T FAdes & Ayttt o
SHA] 2 A7t B A UssAA, AFE, $8 |

0] w2 59| ol folA 7Sk AoE Bal

i
£
X
K
N
o
1r
fo
o
1o
ill

o

46) H|0|X|2F H oAM= t-HIS 0l2k= 22 A
0.0 Mo 39| gf 0.9520 W Y9| = 7H 7I5d0l sH F=Th 1
2Lt 2 2EUM0IM= t-HIZ0| EAEEH |
Aoz REoLL THOIY, t-HI2S AZot

2

S

Hu

|'OI I'l'.-_'

s
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rir
=
=2
e
El
ox
HL
i
r
u
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(2 4-2) HIO|X|Qt CHAB|HESO| Hl40| 25 URKIA A0 &
40 - 3s
35 A
30 -
24 25
25 -
20 A
15 - 13
10 A
5
0]
47 X 32 2E| 274 X 17 x| o7 x|
SRS
obdl 479} i Sl RUER), HUl1R), Y2, FHo
2 $Eot= P29 ASEY AFE B o A2 GDPeF
2o Aoy BEo] M JFL 1X 3 YT olA&L
A GRS AL AL AT S ok T2 882 Aol
JJEHOR stk REL P, FRo| et P4 E
245 Hol|7|% Tt
(B 4-6) SIZ-S0| H|O|X|Ot 2 OLS & Z1t
o H|O[X|Ot oLS
= poimzzt EEMA  t-HE8  FYE  ERHI -3
GDP 1.31 0.84 1.56 1.56 0.94 1.66
& 0.18 0.09 1.88 0.17 0.11 1.56
OIN: = -0.59 0.85 -0.70 -0.65 1.04 -0.63
22 0.45 0.23 1.93 0.40 0.28 1.45
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H 4R 7H0| SHASSY 022 st ASEAM ZI}
(8 4-7) =2-0|=29| HO|X|Qt Y OLS 4 Z1}
. #|0|X|Ot oLS
T pomAy BEAEA  t-Hlg  FMX  EIREX -3
GDP 2.00 1.68 1.19 2.23 1.59 1.40
=& 0.19 0.14 1.33 0.18 0.14 1.26
OlXtE -1.35 1.32 -1.02 -1.47 1.28 -1.15
22 0.58 0.33 1.77 0.54 0.31 1.74
H 4-8) 5H=2-Q=0| H|0|X|Qt L OLS FX Zut
. H|O|X|Ot oLS
T polmHy HEMR  t-Hlg MK BEEX -3
GDP 3.24 1.13 2.87 1.38 1.36 1.01
& 0.20 0.21 0.97 0.32 0.25 1.29
OlXtE -12.57 7.30 -1.72 -6.79 12.49 -0.54
22 -0.53 0.24 -2.19 -0.18 0.36 -0.50
H 4-9) St=2-F=20| H|0|X|ot X OLS FH Z1}
. H|0|x|ot oLS
T polmHy HEMR  t-Hlg MK BEEX -3
GDP 0.58 0.75 0.77 0.55 0.62 0.88
& 0.44 0.14 3.17 0.46 0.11 419
O|XtE -1.61 2.67 -0.60 -1.63 2.26 -0.72
22 -0.47 0.22 -2.11 -0.49 0.17 -2.89
2. H4= MEHO| SHEX EMM(SSVS) o F£H A
B ARoAEe oy} 72 W4 AEo] SkEA gAY g Tagict
Y| X ﬂa 02 -~ N(Xﬂa UQITX T),
mlyp=0)=nly,=1)=1/2,i = 1,2, -, k L3 5, =0 EE 1,
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Bl ~ 1 —=~)M0, ) +7, M0, 7),,

o | S

( Vo Ao )

o)
0'2 ~ IG(T, ), 0'(2) -~ [G 7, 7 O’% ~ [G(— -

2 2
o, < oy.

BE 204 AN 1007]9) EE W e Sea g wpy
(SSV92] 374 A4S Lrehdl Rolet. -] &L fe] BREHS HEW
0]

1]
o
2
o [
N

el the 29 2ok gAR W Ao 38

J

45 - a0
40
35
30 26
25 20
20
15 13
10
5 1
o T : : :
a7 x| 37 2Lx| 270 x| 174 x| o7 2Lx|
o= 5

47) HIOIX2H HZHOIM= t-HIS O[2= 32 ARSSHX| =Lt THAOH Pr(8)0)2 £115101 0] 2{0]
0.0 Mo 39| ¢f 0.9520 W ¥9| = 7H 7I5d0l sH F=Th 1
2Lt = HuMoME t-HIE0| HERHCZ Y U= A0l i EE HEoke ¢
Ao REoILl THOIN, t-HIES M8 |2 STt
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M4y ZdHOH sid=23Y M52 flet 2824 21

o] RFojA] Pr(% =1), & B7F 0°] obd Hf+= 03 = 0.25%}
ol =4 2 BAS Aojste] LR

ofF 4749 = FHUTVF RE(ED), FUl(=), €2, I

2 &0 PO ASEA AFE B ot A2 GDPek
Sz Aol ZEo] 9 YL vl T $UF o|&L
A g mXE 22 sl 4 ik Lt 3h9] H9oe
O|22 07 7|Hot= HoE F(H) oA gt F2of uet F5 =
245 Hol|7|% $it
(B 4-10) 3t=2-=Q0| SSVS £ Z1t
= 5ol T BEWAL t-8g  Pr(yy=1)
GDP 1.52 0.85 1.79 0.77
5 0.18 0.10 1.78 0.24
OPN= -0.79 0.92 -0.85 0.55
s= 0.39 0.25 1.60 0.29
(& 4-11) 3t=2-0]=29] SSVS £ Z1t
S 52l Wt ZWA t-dg  Pr(yy=1)
GDP 2.08 1.45 1.44 0.82
& 0.19 0.13 1.45 0.21
O|XtE -1.50 1.17 -1.28 0.73
s= 0.55 0.28 1.95 0.33
(& 4-12) 312-Y=0| SSVS £ Znt
= 52l WAz BZMER t-Hlg  Pr(y, =1)
GDP 1.34 1.22 1.10 0.67
& 0.29 0.21 1.39 0.20
O|X+& -2.42 4.76 -0.51 0.85
s= -0.11 0.28 -0.40 0.19
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(& 4-13) et=-5=2| SSVS =¥ Zut

=) gol W@ BEWF t-dlg  Pr(y =1)
GDP 0.45 0.48 0.93 0.36
*E 0.46 0.10 4.62 0.28
O|XtE -1.23 1.71 -0.72 0.71
otE -0.48 0.15 -3.20 0.28

3. EAEA-EYe 4 Zit

TFolM = B2 22 FEATEES U
y, = (B+ey,) <z, +(Bytey) X ay +(Bytey) Xy +(B,+ey,) Xz,
2] 3-22)
7V B =B ey, By =By +ey, By= 0 tey,

By = By tey,

ey, ~iid. N0, 07).

B2 3004 AASE 100719 #= FEASTEFH(Random
Coefficient Model)?] 4 235 Yerd Aot} -vH]&2 9] ¥
THE ESHAR Ue gHE Qulslitt48) FA| o]l2H o7 7|y

L 250} QX ALY A5E Tatel 1007 F2 Bl A
L 492 BASY oo 193 2 A SEASEEL £

48) H[O|X|2t ZHOIM= t-HIS O[2H= 32 ARSSHX| =Lt THAOH Pr(8)0)2 2115101 0] 2{0]
0.0 Mo 39| ¢f 0.9520 W ¥9| = 7H 7I5d0l sH F=Th 1
gLt 2 EOM0ME t- H|EO| i%ix*i é.' U= B Uit HEE Mok Y

AOo2 FEOICI THGI, t-HIES AEo |2 BTt
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(3 4-4) HEH+RHO| H20| B3 UK ZR0| 4
40 7 36
35 A
30 27
25 -
20 - is 18
15
10 A
s
o
a7y Y| 37 2H 27 Y| 17} Y| o7} 2|
=HE =

|

ofel 4749 E SeEl FUEY), HulO]R), AL, FHO
@ 230 G0 AERA AT HolFL U0, A2 ~Ee
Aelold BEo] FHA P WAL YT ol $4
L HIAE AL AT 4 Yk Tt $E7 28] A9
oJ2HOR st Fak F(olAE, Fmo uet I E

—10

¢

rr rlr

7= Be| Bt it HEHEX} t-HlE
GDP 2.84 2.50 1.14
== 0.08 0.37 0.21
UM< -1.46 0.00 -18,481.28
2 0.10 0.00 20,371.36
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(H 4-15) er=-01=9| &AL FYZn

= po| Butgt BEHX t-HlE
GDP 0.26 0.00 55,783.15
== 0.44 0.00 943,740.59
OlxtE -1.24 1.35 -0.91
2E 0.94 0.93 1.01

H 4-16) ot=-L=2o| EA-2Y FEE N

= pol et BEHX t-HlE
GDP -0.41 0.00 -5,331.32
== 0.35 0.28 1.28
0Xt= -15.86 0.00 -25,918.05
2E 0.25 1.06 0.24

(B 4-17) 812-320| ABALDS FHA

= Bl Bt ZHRL t-HlE

GDP 0.90 0.00 48,616,336.00

= 0.38 0.13 2.97
0Xt& -2.45 0.00 -786,954.08

e -0.46 0.50 -0.91




B ATolA AT ASEA wPE ol83le] A4 Aeoly &
23] 71§ HATAE 7}

o AAE o]Fold 4= Q= A5

9| =(out-of-sample forecast)]2}al 3t}
ofye}, B& AmTt FolFE BF ol HEgol AmE M E A
Hol=AE YElE HE WY 9=(in-sample forecast) E3F HES}
A gtk o] 42 HE W dS52 F8 dHso AL 9IS
A1 UL W oH BFE AMEShE Aol BIRARIAE YEUE

A

K

4>

5

St o3t A& A& vlw Hrlelr] Y8l v g2 ©d
He A7 ARFARD))S 74 2 (reference model) 02 ARESICE




Yy =ptoxy +e,

7M., y= SEHFA HHoY 2% S7H

1o

A

ds HAdLs= o3¢ T2 HF AlFE 2AHRMSE: Root
Mean Squared Error)E Wt 7]%(decision criterion)2& ARESH

o

T
RMSE = {/ = Y error?
T¢=

o714 errore oE ZEY o= 24}

Ho]Z]Qt FIHO] oS @ak= H|o|X|Qt FHOZ &
ZE o]8dt yo EEXE [Fkotal, o] yo EXERE HAGE
AASA AR A Zdoto] AARTE ol& 7172 20139
2017€7kA] 59 7]|7to]tt,

12 22 W o =t 87 24
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AR Uekdeh & o] X9t 7 myo] oF 50% 5:79] o= %
e It Qe Aoz vepit

“Lefut oS Al A AR(D) 2BEA BR)& AHohke B¢
Bt LAHRMSE)ZE 7.90%C1 A%, Sl gL 10% Bt 5L
A} 2, Wi Ade g B XY 8% B 524 Ha
GEASEGS 13% Bt A5 dart Yot & 24 23
off HlsiAlE #olx|et o] & Y oS ALErt o Z A=
et

Sgotd, HlolxR i) 371 Kol HE i ofSelA HF
7129] ¥l B ge] HE oS ALYt we AR Yehd
°l& GDP, 29, o|&Hg, #& 59 JES HFoR gy 3
BEede ATshe Zlo] 7129 b 230 v w2 = A&

& HojFe AoR ojsjdrt.

(H5-1) H2 U 0= A| RMSE

womor | B AEe

= ZHA AR g ssdEm SEAT
ciz Y =
ey 14.87 7.90 7.13 7.24 6.91
19 7= 1 19 21 26 33
Sh=-THt 8.27 6.19 7.03 5.57 6.08
St=-=9 19.21 9.53 8.49 9.01 9.10
St=3-2d|O|AOf 15.44 6.52 7.44 6.68 7.49
ot=-0|= 10.58 4.26 6.40 5.48 6.53
St=-HIEH 7.63 3.52 4.79 9.64 4.84
St=-d71E = 17.52 10.18 3.65 6.48 5.62
St=-QIE= | A|OF 22.99 11.25 9.03 10.21 9.54
ot=-gd= 12.07 5.63 8.50 592 5.24
ot=-5= 3.59 2.65 2.24 2.49 1.87
St=-Eli= 11.60 8.76 5.48 4.66 5.32
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S3-220/Al0}
53-012
S3-HEY
s2-41me
F3-0lCH|A[o}
53-az
5362
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53312
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HEHR}

14.20
9.82
8.40
9.74
27.47
4.33
11.21
18.74
11.84
7.21
13.42
37.05
6.15
14.60
6.15
7.80
8.46
10.26
8.36
9.06
12.33
7.89
7.07
13.94
6.18
10.34
14.16
3.36
11.20
14.34
19.47
17.09
5.41
7.45
7.90

AR(1)

7.01
4.69
4.21
6.38
9.98
2.42
6.98
12.38
10.01
4.53
10.41
15.97
3.79
5.28
2.69
5.17
5.45
4.60
4.92
3.67
10.57
5.18
7.66
8.37
3.48
5.78
6.07
4.54
5.09
8.81
6.73
7.74
4.38
3.33
4.40

HIOIXIQt
T3l

5.29
4.42
3.87
4.92
11.72
4.07
9.99
9.19
5.94
3.49
7.08
15.29
4.98
6.70
3.71
3.61
2.64
7.62
3.97
5.79
7.30
3.96
5.79
5.07
7.57
2.92
574
9.95
4.48
6.31
13.53
2.01
2.57
2.25
2.82

ok [

i 4>

12
om
1= 1o

23
6.15
4,95
3.66
4.17
13.54
1.85
7.94
7.75
519
4.04
533
19.50
3.17
6.68
3.42
1.54
2.96
5.98
4.41
444
574
3.74
5.39
7.29
8.01
3.06
6.45
2.23
7.47
5.46
13.80
5.47
212
1.82
3.51

SEAS

23

4.77
4.23
3.67
5.69
12.63
3.93
8.46
12.93
6.13
4.90
5.97
16.09
3.62
6.46
2.67
3.63
2.46
7.39
3.50
5.23
6.31
2.26
5,562
5.19
4.22
1.66
5.63
3.64
3.76
6.12
10.64
2.96
242
1.83
1.58



Hog A

ol
Ha
ook
1o
=
I
oA
ot
H1
oy
Ol

: s woiiet ST g
82 EEEN MO gugn sEdes UGQ
ettt 9.23 3.77 3.81 4.26 3.53
3-5¢ 6.32 5.67 10.80 7.84 10.85
£3-017 6.90 10.66 8.80 3.57 7.03
=2EZ-9= 55.35 26.72 12.98 26.86 14.23
23-5= 8.98 5.71 3.85 3.18 3.69
E3-¢= 19.91 11.62 11.45 11.43 8.90
QI=HAP-= 14.71 8.87 6.84 6.88 6.91
QIO 18.10 6.88 7.30 7.33 8.66
QI=A PR 16.09 8.20 7.35 7.23 6.96
QI=HAO-E= 25.68 11.73 7.14 9.74 7.31
QIS 20.41 10.73 7.55 10.04 8.10
ZeONO-= 6.07 4.26 3.47 1.69 3.85
RO PO 12.15 5.83 3.95 5.23 4.74
EC YNt 21.88 9.12 8.72 8.72 19.08
ZeONPH-5= 19.36 9.52 573 7.96 5.25
EC YN =l 11.99 5.39 4.53 512 10.69
2e|i-=¢ 24.22 11.77 13.68 11.68 10.80
el H-0= 4.48 2.51 3.03 4.04 2.99
HeE-gd= 23.84 10.63 9.98 10.01 9.08
HeH-5= 29.57 13.94 13.27 13.54 12.00
He|E-ot= 26.38 11.56 10.19 11.74 9.84
EE-=Y 17.38 7.48 9.21 9.30 7.63
AtE=-0= 15.20 9.29 597 6.83 6.71
O7|‘EE -od= 7.03 4.70 4.66 524 4.22
SR E-B1 7.21 3.84 3.46 3.67 3.57
)<k>|7|‘E§ St 10.71 9.88 8.66 8.05 8.68
Bi=-=Y 14.85 6.85 2.43 6.72 2.06
Ei=-01= 10.07 5.53 2.47 477 2.41
Ei=-gE 4.31 4.29 5.60 3.45 3.40
B=-3= 14.97 7.66 11.28 11.36 8.03
Ei=-5t= 6.64 9.13 6.57 6.75 5.19
=0t 15.37 7.20 412 5.80 3.26
=PIt 5.55 8.93 6.83 7.71 6.05
=4-01=7 12.66 6.07 2.40 3.25 2.07
=U-HEH 29.04 12.88 10.68 12.68 11.38
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_ i HolRgt ot SIS gy
St2 TZ=OA AR(1) Cra 3| grggqa%wq = E@T
SQ-AJR=E 48.12 21.74 21.50 21.62 23.00
==el ]k INW 15.50 8.84 6.83 8.35 11.45
SY-o= 11.48 6.50 7.74 6.75 11.41
=Y-5= 9.16 6.74 454 2.94 484
SYU-Ei= 14.76 10.61 8.39 8.85 3.73
sQ-g|m 13.26 7.29 7.28 6.10 6.57
SYU-5t= 11.52 5.61 2.43 4.46 1.63
EYU-E2 16.54 8.84 8.81 8.11 8.25
Oj=-CHet 10.94 5.77 4.31 3.97 4.44
0j=-5¢ 20.91 10.35 8.33 7.47 7.29
==l N 13.00 6.02 5.44 4.75 5.90
o=2-HES 24.70 12.06 10.60 11.36 16.09
024722 20.23 8.84 4.35 5.65 5.37
OR-QIIA O} 22.62 10.96 11.15 9.97 9.71
oj=-gd= 33.32 14.73 15.48 16.67 15.16
0j=2-5= 8.18 5.32 14.50 9.44 7.89
0|=-Ef= 31.71 14.83 13.72 13.54 13.49
oj=2-ga|H 29.88 12.80 14.38 14.75 13.89
0j=-t= 23.41 9.99 10.00 10.15 9.61
0=-23 23.99 11.89 14.41 11.37 12.31
H2H BEE 9 o H=t It Ay
2 9] 29 ALY B A 1+17]9] Oﬂé—% 9181 A1 7]

7HA 9] A& (data)E E-8sto] ASsch= 4+
gk oA #HE ] A& 517] flsiAE AEalle
b Fo Tl 7P sfiof Sttt wiEhA o]k JEet on|oA ] &
2 9] d55 7] AsiM = AEolM AuT .
XE ARHADL, Autoregressive Distributed Lag) H.8-S ©]-8-5}
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of it AR 7} o1 4= ik, o] gt M|

A o|x}g, THE T
= B4Fe=E od W4 X Y (univariate autoregressive

mode) 2ot wj$ ZHL2 A5 E &&oto] FAHSE STt o
ZA & Aol = GDP, &9, o|xH& 9 3Hgo| uj¢- FEgt 4
oA dEE= AL 710, AR 717HRA1 9] AETES o]8-5)
=35} P._—r(parameters)@r Aes] dEE d98QlE AREsto] A
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H 5-2) H= 2| 0| Al RMSE

w2 mmmy ag  omer SEEEEL sms
< = HEEH oy 0 28
g 14.87 9.14 9.65 8.55 9.64
191 72 3 25 20 36 16
Sh=-CHTt 8.27 7.48 791 7.29 7.77
ot=-= 19.21 10.58 8.58 9.67 10.24
- O[AIOF 15.44 6.87 9.17 7.51 8.5b
et=-0l= 10.58 5.00 14.63 9.04 11.70
St-HEH 7.63 3.75 7.18 10.94 5.99
St=-AUtE = 17.52 14.54 5.31 7.13 7.29
St=-QI=HAI0F 22,99 13.23 12.45 12.48 12.90
ot=-g= 12.07 6.04 10.51 6.81 9.70
ot=-5= 3.59 3.38 3.17 2.41 3.01
ot=-Ei= 11.60 11.22 5.63 4.75 6.96
St=-HalH 14.20 7.59 6.54 6.80 7.1
=-83 9.82 5.00 5.27 5.00 4.72
S=-eEt 8.40 4.58 4.28 3.67 5.16
s=-5¢ 9.74 7.34 6.40 4.86 7.32
S=-YO|A[OF  27.47 10.58 20.80 17.94 19.81
S=-0= 4.33 2.62 6.62 4.18 4.42
S=-HEH 11.21 7.58 1.19 10.16 10.86
ST-d7IE=E 18.74 15.34 10.68 8.76 13.96
S=-2ZHAI0F 11.84 12.55 7.57 5.50 9.67
S 7.21 545 8.61 5.50 6.18
S=-Ei= 13.42 13.05 8.13 5.82 6.97
S=-HeH 37.05 17.86 19.98 ARN 17.27
S=-ot= 6.15 4.35 5.69 3.70 4.91
E0-83 14.60 5.60 7.07 3.70 7.73
A=-CHEt 6.15 2.88 5.84 4.42 5.51
d=-=Y 7.80 5.95 4.02 1.52 5.64
L=-ZYO|AIO 8.46 6.46 8.82 4.16 5.22



s= | maws goixier LSS smae
S EHAAR() g %*gé‘-*.a%w! o3
2

22-01= 10.26 4.92 8.31 7.09 8.69
U2-HEY 8.36 6.52 4.86 4.41 4.29
U=-47HE2 9.06 3.90 6.70 441 8.03
UE-QIELAIOF 12.33 12.95 10.30 6.10 8.13
ge2-3= 7.89 5.83 12.16 5.59 373
LE-E= 7.07 9.70 8.31 6.31 9.23
d=-da 13.94 10.26 6.36 7.26 6.84
g2-3t= 6.18 3.95 9.83 9.51 7.52
4=2-83 10.34 6.63 3.23 3.12 4.49
HE H-= 14.16 6.64 6.57 6.57 8.02
HE =-0|= 336 5.87 13.13 4.27 7.55
HIEH-2 2 11.20 5.37 5.74 7.91 4.41
HE H-&= 14.34 10.13 9.28 6.11 9.59
| E H-5t= 19.47 7.24 15.88 15.22 14.56
= 17.09 8.18 3.57 6.27 5.33
Her-oj= 5.41 5.58 4.05 2.49 2.72
oher-gle 7.45 347 2.60 1.75 1.86
ter-3= 7.90 4.69 5.56 4.08 291
Chet-gt= 9.23 4.20 431 4.45 4.54
83-5¢ 6.32 6.39 12.66 8.97 12.25
&3-01= 6.90 14.49 12.83 4.69 8.52
83-4= 55.35 30.91 19.95 27.79 18.41
8355 8.98 7.36 7.77 4.10 4.99
&3-o= 19.91 14.05 12.26 12.27 11.75
QAo 1471 10.22 8.07 6.89 8.62
eIZHAlO-OIE  18.10 7.63 8.36 7.71 8.63
QlHAo-22  16.09 9.39 7.87 7.53 9.53
e=HAO-5=  25.68 13.13 12.81 12.92 12.05
QIEHAO-Bt= 2041 11.71 10.71 11.15 12.38
ZOjAO-52  6.07 5.11 17.43 12.90 13.96
ZojAo-0l=  12.15 6.42 6.94 6.04 6.06
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" . woxiot  Sf TR gmna

g2 EEER AR ppem MEAEY oy
2 0|A|OF-Y =2 21.88 9.98 6.94 11.86 26.18
e 0|A|Ot-5= 19.36 10.42 13.03 9.74 11.44
ZLe|O|A|Of-Bt= 11.99 5.64 7.25 10.93 13.53
ze-=4 24.22 12.61 14.37 12.77 22.51
2 E-0= 4.48 2.88 4.58 4.42 3.99
e - 23.84 11.46 10.56 10.38 9.70
ZeH-5= 29.57 15.60 13.70 14.65 15.06
Ze|H-st= 26.38 12.43 10.75 12.46 12.02
AiEE-= 17.38 7.77 11.48 10.90 11.92
AJtE=-0)=2 15.20 11.25 10.39 8.60 9.28
ArtE=E-o= 7.03 5.48 5.62 5.69 5.24
AR 2= 7.21 412 6.93 5.20 5.24
AR =5t 10.71 14.31 10.16 9.51 11.32
Bi=-=¢ 14.85 7.19 3.62 6.84 2.48
Bi=-0|= 10.07 7.00 4.00 5.1 6.78
Ei=-22 4.31 5.65 8.22 418 4.98
Ei=-5= 14.97 8.47 17.08 14.23 15.02
Ei=-5t= 6.64 11.62 10.75 10.05 9.39
=Y-Oiet 15.37 7.73 b.44 6.17 5.14
=U-220|AIOF 5.bb 14.06 12.29 9.51 9.05
=Y-0= 12.66 6.57 3.90 4.46 3.92
SU-HEH 29.04 13.41 13.00 14.69 19.36
EU-ATIREE 48.12 23.06 21.49 22.38 21.88
EU-QILL|A|O} 15.50 10.21 11.18 9.96 11.01
SYU-U= 11.48 7.46 10.66 7.86 14.78
sU-F= 9.16 9.13 10.66 6.41 6.41
SU-Ef= 14.76 13.23 11.68 10.23 10.64
SY-EHe|m 13.26 8.34 11.23 7.16 12.20
=Q-ot= 11.52 6.09 3.81 472 4.08
=U-=3F 16.54 9.64 9.34 8.37 8.97
O|=-CHSr 10.94 6.51 5.41 411 9.40



s I okt Sf TR gmaa

< TR} AR(1) Cra 37 %Pgsa%*—.“ o3
5

O=-s¢ 20.91 11.86 9.77 8.50 12.05
O|=-2Z2{O|A|O} 13.00 6.38 15.51 12.78 14.48
0=-HEY 2470 13.35 13.88 13.02 17.90
O|=2-A7t22 20.23 9.78 4.20 5.90 6.44
O|=2-QI=l|A|OF 22.62 13.01 13.01 10.18 10.60
Ol=-2= 33.32 16.58 19.33 17.56 16.10
O=-5= 8.18 6.0 23.90 16.43 15.02
O|=-Ef= 31.71 16.44 14.71 15.02 15.82
Oj=-Ead 29.88 13.39 21.12 19.71 22.10
O|=-st= 23.41 15.60 10.00 10.31 10.44
0=-22 23.99 13.22 19.77 12.20 14.27
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T pYEWR BAWA  t-HE  EMX  BREA -3
GDP -0.59 1.21 -0.49 -0.56 1.09 -0.52
& 0.27 0.09 2.85 0.27 0.08 3.20
O|XtE 2.79 2.13 1.31 2.73 1.92 1.42
etg -0.51 0.39 -1.32 -0.51 0.35 -1.45
B 22 1-4) 5t=2-0|=29| H0|X|ot X OLS 4 Znt
s H|O[ K|t 0oLS
T polmdzt BEWA  t-HEg  FEX|  BEER -3
GDP 2.00 1.68 1.19 2.23 1.59 1.40
=& 0.19 0.14 1.33 0.18 0.14 1.26
O|AtE -1.35 1.32 -1.02 -1.47 1.28 -1.15
ot= 0.58 0.33 1.77 0.54 0.31 1.74
B 22 1-5) St2-HEHO| H|0|X|ot X OLS X Z1}
— H|OJ K| QOF oLS
T pYERY BEWA  t-HE  EMA  BEEA -3
GDP -0.28 0.69 -0.40 -0.30 0.62 -0.48
= 0.51 0.10 497 0.51 0.10 494
O|AtE 0.31 0.54 0.57 0.32 0.50 0.63
etg 0.24 0.57 0.43 0.24 0.58 0.41
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Sr=-d7IE = 9| H|O[X|2H & OLS =3 Z1t

4
Ju

(E 22 1-6)
T pojmy
GDP 115
45 0.30
e 139
52 144

HOTAIeT
BEz
0.58
0.21
2.13
0.62

t-H|E
-1.97
1.44
0.65

-2.34

37|

-1.14
0.27

-1.50

OLS

BEHR

0.49
0.17
1.69
0.53

Lo
-2.32
1.54

0.84
-2.84

(55 1-7) =-QULIAI0F2] H|O[X|QF X OLS =73 Zit

au H|O| K| 2t OLS
= BEHR, HEWX t-HE F8x| BEHA =2k
GDP 0.78 0.93 0.83 0.88 0.95 0.93
=& -0.03 0.16 -0.16 -0.01 0.16 -0.04
0|xtg 0.10 0.60 0.17 0.04 0.64 0.06
Ly -0.40 0.26 -1.54 -0.44 0.27 -1.59
(B £ 1-8) st=2-L=2| H|0|X|Qt & OLS &3 ZAut
e HO| x| 2t OLS
= BEFE EBEWEA  t-HIE FHX  BEHX =2t
GDP 3.24 1.13 2.87 1.38 1.36 1.01
*E 0.20 0.21 0.97 0.32 0.25 1.29
0|xtg -12.57 7.30 -1.72 -6.79 12.49 -0.54
2y -0.53 0.24 -2.19 -0.18 0.36 -0.50
(B 88 1-9) st=2-3=2 HO[X|2F & OLS =4 At
) H|O| K| 2k OLS
= BEHA EEWA  t-HIE F8X|  BEHEX A
GDP 0.58 0.75 0.77 0.55 0.62 0.88
*E 0.44 0.14 3.17 0.46 0.11 4.19
0|xtE -1.61 2.67 -0.60 -1.63 2.26 -0.72
Blg -0.47 0.22 -2.11 -0.49 0.17 -2.89
H 2E1-10) St=-Ef=2| H|0|X|Qt & OLS & Azt
e HO| x| 2t OLS
B BEFEt EBEWEA  t-HIE FHX  BEHX =2t
GDP 1.13 0.65 1.75 1.13 0.65 1.73
=& 0.41 0.12 3.51 0.41 0.12 3.38
N -0.61 0.97 -0.63 -0.53 1.00 -0.53
Blg 0.07 0.32 0.21 0.08 0.33 0.23
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(H 25 1-11) s=-E2|EQ #|0|X|2t & OLS =3 Z1t

. H|O| X| Ot 0oLS
= ot HZWMA  t-HE R HEEHR -3
GDP 0.35 0.89 0.39 0.34 0.80 0.43
= 0.16 0.16 1.01 0.16 0.15 1.12
O|Xt= 0.44 0.86 0.51 0.40 0.76 0.52
a2 -0.23 0.51 -0.46 -0.19 0.45 -0.43
(B 522 1-12) $=2-230 #l0[XI2t 2 OLS £ At
o H|O[ K| Ot 0oLS
= pRlERZt BEWA  t-HIE  RNX  BEHER -3
GDP -0.42 0.51 -0.82 -0.35 0.44 -0.78
& 0.03 0.11 0.25 0.03 0.09 0.32
OlxtE -1.37 1.30 -1.05 -1.53 1.09 -1.40
2= 7.42 7.58 0.98 6.65 6.69 0.99
B 22 1-13) 22| #|0|X|Qt X OLS X Zu}
S H|O[ X[t oLS
= poIZHZY HZEMAL  t-Hl8  FEX  HEEAN -3
GDP 1.34 0.61 2.19 1.35 0.56 2.39
=& 0.13 0.08 1.57 0.13 0.08 1.71
O|Xt= 0.76 1.89 0.40 0.78 1.73 0.45
22 -0.18 0.60 -0.31 -0.20 0.55 -0.36
T B2 1-14) £2-SYUO| H|0|X|2t X OLS £ Zut
s H|O[ K| Ot 0oLS
= pRlERZt BEWA  t-HIE  RNX  BEHER -3
GDP 0.32 0.88 0.36 0.30 0.80 0.38
& 0.76 0.21 3.55 0.77 0.19 4.03
OlxtE 0.09 1.74 0.05 0.07 1.56 0.05
2= -0.36 0.74 -0.48 -0.42 0.67 -0.63
(H 22 1-15) Z=2-U|0[A|0t2] H|O|X|Qt & OLS FH ZH1}
S H|O[ K|t oLS
= Bl HZEWR  t-HE  EHX|  BEEI -3
GDP -0.76 499 -0.15 -1.05 3.90 -0.27
== 0.56 0.63 0.89 0.57 0.50 1.15
O|Xt= 2.83 8.19 0.35 3.39 6.28 0.54
2= -0.10 1.40 -0.07 -0.23 1.19 -0.20
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4

(Z B2 1-16) $=2-0/=29| #|0|X|ot L OLS £H Zt

Jhu

25 Hj0[ X[t oLs
T poE@t EEHA  tHlg  FEX  BEEXY @
GDP 2.41 0.82 2.92 2.15 0.79 2.73
= 0.46 0.13 3.55 0.49 0.15 3.34
O|Xt= -0.37 0.63 -0.59 -0.35 0.74 -0.47
22 -0.60 0.34 -1.74 -0.57 0.37 -1.52
(B 2% 1-17) S3-HEZ2 HOIX|2t X OLS = Zit
B Hjo| x|t OLS
T polEmgy EEEX  tHIE  FER BRER @
GDP 4.41 0.69 6.36 3.96 0.84 4.74
T= 0.10 0.07 1.40 0.11 0.10 1.09
O|XtE -1.37 0.57 -2.39 -1.13 0.72 -1.56
== 0.26 0.65 0.40 -0.06 0.84 -0.07
H 22 1-18) $3-A7[Z20| H{0[X|ot L OLS &4 Zu}
2 H[0[ X[t oLS
T pYERY BEEA  tHI8 RFA BREA i
GDP 0.76 0.99 0.77 0.70 0.88 0.80
= 0.35 0.18 1.93 0.36 0.16 2.23
O|xtE 1.66 340 0.49 1.88 3.02 0.62
22 -0.88 1.01 -0.87 -0.88 0.93 -0.96
(B £%1-19) S3-QAZHAI0] HIO[X|F X OLS £ Zut
. Hjo| x|t OLS
T pYUEmY EEEA  tHIE  FEX EERER
GDP -0.23 1.78 -0.13 -0.28 1.44 -0.19
= 0.64 0.32 2.03 0.65 0.25 2.60
U= 0.81 0.92 0.88 0.84 0.73 1.15
22 -0.09 0.39 -0.23 -0.06 0.31 -0.19
(B £% 1-20) S=-L=0| H|0[X|2t & OLS &3 Zat
- Hjo| X[t OLS
T poE@Yt BEHA  tHlg FEX O BEEXY
GDP 0.7 0.74 0.96 0.78 0.79 0.99
& 0.37 0.11 3.30 0.37 0.12 3.06
O|XtE2 -3.36 6.92 -0.49 -2.98 7.26 -0.41
== -0.18 0.14 -1.29 -0.16 0.14 -1.17
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(B 22 1-21) Z3-E4=9| H0|X|ot L OLS X Zut

25 H|O[ K|t OLS
= BBzt HEWA  t-HE  FHX| HEWEX -7t
GDP 1.18 1.08 1.09 1.19 1.00 1.19
& 0.52 0.18 2.89 0.562 0.18 2.97
O|Xt& -0.16 1.45 -0.11 -0.20 1.39 -0.14
22 -0.18 0.49 -0.37 -0.19 0.48 -0.39
(B 22 1-22) $=-L2|TO| H|0|X|QF 2 OLS FX ZW
o H|O| K| Ot OLS
T polmdzt BEWA  t-HEg  FEX|  BIWER -3
GDP 0.39 0.97 0.41 0.32 1.00 0.32
& 0.48 0.13 3.56 0.48 0.16 3.07
O|XtE 1.22 0.85 1.42 1.25 0.90 1.39
stg 0.01 0.43 0.03 0.02 0.48 0.04
T 2E 1-23) Z2-5t=29| H|0|X|Qt & OLS 4 Zut
S H|O[ K|t OLS
= Bzt HZEMWX  t-Hg  FHX| HEEX -3
GDP 1.98 1.33 1.49 2.01 1.26 1.60
=& 0.43 0.19 2.26 0.43 0.18 2.36
O|AtE -0.51 1.57 -0.33 -0.48 1.50 -0.32
ot= -0.02 0.29 -0.07 -0.02 0.28 -0.07
H2E 1-24) 3=2-2329 H|0|X|et & OLS & ZAut
2= H|O| K| Ot OLS
T polmdzt BEWA  t-HEg  FEX|  BHIWER -3
GDP -0.74 0.89 -0.83 -0.75 0.75 -1.00
& 0.66 0.38 1.74 0.67 0.32 2.08
O|XtE -0.77 2.06 -0.37 -0.81 1.72 -0.47
etg 10.39 10.66 0.97 10.88 9.04 1.20
B 22 1-25) Y=-I§8to] Hjo|X|et LW OLS 4 Az}
S H|O[ K| 2t 0OLS
= BTzt HEMX  t-Hg  FHX| HEEX -3
GDP 0.31 1.15 0.27 0.53 0.90 0.58
= 0.12 0.24 0.52 0.10 0.19 0.55
O|AtE 0.68 3.48 0.20 0.27 2.64 0.10
etg 0.18 0.86 0.21 0.36 0.71 0.50
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(B 28 1-26) 2~

=O| HO|X|2t & OLS 4 21t

4
Ju

e H[O| x| 2t OLS
. poEE EFEWA  t-HIE A BEEEA @t
GDP 1.57 0.65 2.41 1.55 0.70 2.21
] 0.53 0.07 7.51 0.53 0.08 6.79
0lXt= -0.37 0.66 -0.56 -0.33 0.74 -0.45
= F] 0.22 0.16 1.32 0.24 0.16 1.47
(B 25 1-27) Y=-2{0|A/0fe] HOIXIS % OLS £ At
o HOIXIet oLS
. BB HEWX  t-HIE FEX BEEX @
GDP 1.97 1.67 1.18 2.09 1.37 1.52
] 0.01 0.19 0.04 -0.01 0.16 -0.04
0|Xt= -2.52 3.03 -0.83 -2.68 2.50 -1.07
=E] -0.63 0.35 -1.81 -0.69 0.30 -2.28
B 92 1-28) 2=-0/29 HOIXISt % OLS £ Zt
au H[O] X[t OLS
. BB EHEEX  t-HIE A BEEEA @t
GDP -1.52 1.02 -1.50 -1.56 1.10 -1.42
] 1.02 0.13 8.16 1.02 0.15 6.97
OlAtE 0.89 0.83 1.07 0.93 0.96 0.97
e 0.05 0.16 0.31 0.08 0.17 0.44
(B 25 1-29) Y=-H|EEO| HI0XI2t L OLS £ Z1}
e H[O| X2t OLS
. BB HEWX  t-HIE FEX BEEX @
GDP 2.51 1.78 1.41 2.66 1.37 1.95
] 0.26 0.36 0.73 0.26 0.26 0.98
0|Xt= -1.48 1.53 -0.97 -1.62 1.20 -1.35
=E] 1.03 1.93 0.53 1.20 1.46 0.82
H 2= 1-30) YE-AHE20| Hl0[X]QF 2 OLS 3% 2t
o BIOTAIet oLS
. BB, HEEX t-HIE FEX BEEX @
GDP -1.17 0.65 -1.81 -0.77 0.66 -1.16
== 0.51 0.15 3.37 0.41 0.15 2.66
0|Xt= 6.08 2.49 2.44 4.63 2.65 1.74
s -0.63 0.56 -1.12 -0.49 0.61 -0.81
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(55 1-31) L=-2LA0rS] HOIX|QF X OLS &3 Zut

e FOTRIRE oS
= poimmy BEEN  tH8  £§A BEEAY g
GDP -0.56 1.23 -0.46 -0.70 1.09 -0.64
] 0.77 0.20 3.79 0.82 0.17 4.73
O[AtE 1.01 0.85 1.18 1.09 0.73 1.48
= F] -0.14 0.36 -0.38 -0.07 0.31 -0.22
(B 25 1-32) Y=-572/ Hl0[X/2t L OLS £ Z1}
o oISt oL
T pom@y BEEA  tH8  E¥A BEEY
GDP 0.93 1.32 0.70 0.88 1.19 0.73
] 0.66 0.23 2.86 0.65 0.19 3.33
OAtE -3.26 4.69 -0.69 -3.01 4.31 -0.70
=E] -0.17 0.31 -0.55 -0.24 0.28 -0.87
B 92 1-33) Y=-Ef3| HOIXISt % OLS £ At
oo FOTRIEt oL
T pommy BEWR  tHlg F8A BEER 3
GDP 1.91 1.17 1.63 1.95 1.01 1.93
== 0.49 0.22 2.23 0.5 0.18 2.75
0|Xt= -1.39 2.01 -0.69 -1.22 1.75 -0.70
e 0.42 0.60 0.70 0.52 0.52 0.99
(B 25 1-34) Y=-Z2jpo| Hl0[Xot X OLS £ Z1}
= Hl0IRISt oL
T pom@y BEEA  tH3  E¥A BEEY g
GDP 0.20 0.95 0.21 0.27 0.81 0.34
] 0.57 0.27 2.14 0.54 0.22 2.41
O[AtE 0.72 1.03 0.70 0.68 0.85 0.80
=E] 0.17 0.45 0.39 0.15 0.36 0.42
B 22 1-35) 2=-3120| HOIXISt Y OLS £ 2t
e OISt oS
T pom@y BEEA  tHg  EYX BEEY @
GDP 4.49 2.06 2.17 4.57 1.97 2.32
== -0.17 0.34 -0.51 -0.18 0.33 -0.563
0|Xt= -3.50 2.39 -1.47 -3.56 2.35 -1.51
s 0.14 0.41 0.34 0.14 0.41 0.35

104



4
Ju

<]:[ Hz - ol =0 H-l(’ )\ ()I-D () E;KI-I 74 II.
_36> H_ S
L o =

e sl H[O| X|F
M DT
o R smE t-HE XX =
~z 0.65 o o ow 0w 2
S 048 5 094 04 2
: )3 o .0 0 42 224
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i 5.97 13
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— o O3 OLS =H &1t
e B
GDF 1.0 —
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oIXFS 13 0 H 18 T 20
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(B 22 1-41) HES-3H20| H|0|X|ot L OLS FH A1}

e H|O[ K|t OLS
= BREAZ EEMX  t-Hg  FHX HEMI -3
GDP -4.20 2.40 -1.75 -4.26 2.24 -1.90
& 0.04 0.09 0.38 0.04 0.09 0.41
O|Xt& 6.20 2.57 242 6.25 2.47 2.53
22 -2.07 1.25 -1.66 -2.08 1.20 -1.73
(2 22 1-42) O3-S0 HO[XI2F % OLS ¥ At
Qo H|O| K| Ot OLS
= Bt BEWA t-Hlg  FHX HBEEA  t-%
GDP 1.06 0.65 1.64 1.10 0.52 2.10
& 0.32 0.08 3.98 0.33 0.07 4.84
O|XtE -1.18 0.71 -1.66 -1.22 0.54 -2.25
etg 0.97 0.36 2.70 0.91 0.30 3.04
H B2 1-43) i2H-0|=2] H|O|X|QF = OLS £ Zut
S H|O[ K|t oLS
= pRlEZt EBEWA  t-HIg  FIX  HEER -
GDP 2.58 1.04 2.48 2.75 0.91 3.01
=& 0.08 0.13 0.63 0.08 0.12 0.73
O|AtE -2.40 1.02 -2.36 -2.46 0.85 -2.90
ot= 0.08 0.49 0.16 0.14 0.42 0.33
H 22 1-44) -0 H|0|X|Qet & OLS & ZAut
ag H|O| K| Ot OLS
= Bt BEWA t-Hlg  FHEX HBEEA  t-%
GDP 0.98 0.62 1.59 1.00 0.52 1.92
& 0.05 0.08 0.58 0.05 0.07 0.68
O|XtE -8.23 6.21 -1.33 -8.58 5.15 -1.67
etg 1.00 0.28 3.57 1.00 0.24 4.09
H B2 1-45) Ui2-Z=2| H|O|X|QF 2! OLS £ Zut
S H|O[ K| 2t oLS
= pRlEAZt EBEWA  t-HIE  FIX  BEER -
GDP -0.05 0.80 -0.06 -0.07 0.72 -0.10
= 0.32 0.13 244 0.32 0.1 2.80
O|AtE -0.49 2.80 -0.18 -0.41 2.58 -0.16
etg -0.36 0.44 -0.81 -0.47 0.37 -1.26
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(E 55 1-46) CH2-5t=2) HO|X|2 2 OLS =73 Z1t

4

Jhu

25 H|O[X|QF oLS
T pYmA HEEA  tHE  FEX  BEEA -
GDP 0.87 0.76 1.14 0.88 0.77 1.15
= 0.08 0.08 1.07 0.08 0.08 1.09
O|Xt& 0.57 0.93 0.62 0.54 0.94 0.58
22 -0.37 0.37 -1.02 -0.37 0.35 -1.04
(B HZ1-47) E2-529| H|0|X|2t L OLS 4 Z1t
o H|OJ X|QF 0oLS
T pYEWR BEAWA  t-HE  FMA  BEREA -3
GDP -0.13 1.47 -0.09 -0.19 1.56 -0.12
& 0.52 0.21 2.47 0.47 0.22 2.17
O|Rt= -0.13 1.08 -0.12 -0.11 1.20 -0.09
etg -2.31 13.56 -0.17 -2.93 14.37 -0.20
I 22 1-48) £2-0|=29| HO|X|Qt X OLS =H Zu}
2 B0 X|QF 0oLS
T poIEmt EREHAL  tHlg  FIX BREXY @
GDP 2.42 1.56 1.55 2.46 1.48 1.66
=& 0.55 0.23 2.39 0.56 0.21 2.62
O|Xt2 -3.07 1.82 -1.68 -3.05 1.69 -1.81
ot= -5.00 17.48 -0.29 -6.25 16.34 -0.38
I 22 1-49) S2-UR0| H|0|X|QF Y OLS 3 Zu}
25 H|OJ X|QF 0oLS
T polmdzt BEWA  tHEg X BEER -3
GDP 0.36 3.78 0.10 0.83 3.06 0.27
& 0.63 0.24 2.57 0.59 0.21 2.88
O|Rt= 32.38 42.26 0.77 31.40 33.65 0.93
etg -11.99 31.32 -0.38 -10.24 26.61 -0.38
B 22 1-50) £2-5=9| H0|X|Qt Y OLS =3 Zu}
. H|OJ X|QOF oLS
T pYERY BEWA  t-HE  EMA  BEEA -3
GDP 0.98 1.02 0.96 0.99 0.87 1.14
= 0.17 0.23 0.74 0.18 0.19 0.91
O|AtE -4.88 3.58 -1.36 -4.87 3.1 -1.57
etg -4.36 9.31 -0.47 -4.54 7.88 -0.58
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H

£E1-51) £3-8t=2 H0|X|2t X OLS =4 Z1t

= IOTIer oLs
T poimml EEEA tHZ X3 EREA g
GDP 2.89 2.11 1.37 2.91 2.02 1.44
] 0.07 0.12 0.58 0.07 0.12 0.59
O[AtE -3.41 2.55 -1.34 -3.45 2.46 -1.40
= F] 1.64 14.44 0.11 1.89 14.18 0.13
(B 22 1-52) QIZLAI0}-SUe] HIOJXIQt X OLS £ 2}
oo BlOTIer 0LS
T pomml EREA tH8  REA BEIEA
GDP -1.25 1.51 -0.83 -1.34 1.21 -1.11
] 0.00 0.31 -0.01 -0.01 0.25 -0.05
0|Xt= 2.44 1.91 1.28 2.52 1.45 1.74
=E] 0.35 0.39 0.89 0.37 0.32 1.16
(B 52 1-53) QIZLIA0}-02] HIOJXIQt X OLS £ Z}
e IREE: oL
T poimmt EEEA tHZ A3 EREA -2
GDP 2.32 1.05 2.21 2.36 1.10 214
== 0.02 0.13 0.15 0.01 0.14 0.06
0|Xt= 0.48 1.10 0.44 0.47 1.20 0.39
e 0.03 0.21 0.13 0.05 0.23 0.21
(B 22 1-54) QIZLIAI0}-=0] HIO|XIOt ! OLS £ 2t
= BlOTIer 0LS
T pomml EEEA tHg  XEA BEIEA
GDP 3.00 1.02 2.96 3.00 0.94 3.18
] 0.13 0.24 0.54 0.13 0.22 0.58
O[AtE -5.34 12.95 -0.41 -5.21 11.91 -0.44
=E] -0.23 0.23 -0.97 -0.23 0.22 -1.05
(B 52 1-56) QIZLIA0-S2] HOJXIQt X OLS £ Z}
e R oS
T pYmm BEEA  tH8  3EA BIEA
GDP -1.15 1.32 -0.87 -1.03 1.20 -0.86
== -0.07 0.08 -0.89 -0.07 0.08 -0.89
0|Xt= 8.15 5.15 1.58 7.64 4.68 1.63
s 0.03 0.34 0.09 0.01 0.31 0.04
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4
Ju

(H 55 1-56) 2=UHAOt-8t=2| HIO|X|2t X OLS = 21t

e H[O| x| 2t OLS
. poEE EFEWA  t-HIE FEA BEEA @t
GDP 1.90 1.70 1.12 1.88 1.56 1.21
] 0.18 0.19 0.93 0.16 0.17 0.92
O[AtE -1.25 2.22 -0.56 -1.25 2.03 -0.61
= F] -0.35 0.29 -1.21 -0.33 0.26 -1.26
(& £ 1-57) LOINOI-SU0| HIO[XIPt % OLS £ 27
o HOIXIet oLS
. poIEdEt EEWA  t-HIE FEX EEEX @
GDP 0.71 1.24 0.57 0.79 1.1 0.71
] 0.22 0.14 1.52 0.25 0.13 1.91
0|Xt= 0.79 1.51 0.52 0.77 1.24 0.62
=E] 0.13 0.49 0.26 0.18 0.46 0.39
(F 22 1-58) LOIAOI-01Z2] HOIXISH % OLS £ Z3
au H[O] X[t OLS
. polEdet EHEWA  t-HIE FEA BEEEXM @t
GDP 2.31 0.70 3.31 2.28 0.72 3.17
== 0.17 0.06 2.66 0.16 0.06 2.54
OlAtE -0.74 0.72 -1.03 -0.72 0.77 -0.93
e 0.08 0.22 0.38 0.04 0.21 0.21
(& £ 1-59) L0IA0I-2=0| HIO[XIPt % OLS £ 27
e H[O| X2t OLS
. poIEdEt EEWA  t-HIE FEX EEEX @
GDP 2.59 2.11 1.23 2.58 1.96 1.31
] 0.19 0.47 0.40 0.19 0.44 0.43
0|Xt= 7.09 23.20 0.31 7.12 21.62 0.33
=E] -0.11 0.65 -0.17 -0.10 0.57 -0.18
(F £ 1-60) LOIMOI-S22] HOIXI % OLS £ Z3
o HOIXIer oLS
. BB, HEEX t-HIE FEX EEEX @t
GDP 1.44 1.32 1.09 1.37 1.17 1.17
== 0.24 0.12 2.06 0.23 0.10 2.27
0|Xt= -2.68 4.87 -0.55 -2.35 4.36 -0.54
s 0.25 0.49 0.50 0.20 0.44 0.47
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(H 85 1-61) LY O[AOt-et=2| HIO|X|2t H OLS = 21t

25 H[OJXIt OLS
T poEEY BEHR  vHig FFX BEHR o
GDP -1.54 1.72 -0.89 -1.63 1.91 -0.85
= 0.39 0.19 2.06 0.39 0.21 1.85
O[AtE 3.54 2.19 1.61 3.53 2.46 1.43
s -0.15 0.35 -0.42 -0.12 0.34 -0.36
(B $51-62) L2|H-=A0| H|0[X|et X OLS 3 Zu}
2 H|O| X[t OLS
T polmm BEER  tHE  FEX BEEXY Y
GDP -0.27 3.26 -0.08 0.00 2.67 0.00
= 0.52 0.29 1.78 0.53 0.22 2.40
OAtE -0.45 3.78 -0.12 -0.63 2.83 -0.22
e 0.30 1.34 0.23 0.28 1.06 0.26
B 85 1-63) T2T-0/=2| H|0|X|QF X OLS = Zit
2 H[O[XIt OLS
T poEEmY BEHR  oHE FEX BEHR oy
GDP 2.55 0.85 3.00 2.72 0.69 3.94
+5 -006 007  -079 007 006  -1.06
0|Xt= -1.64 0.94 -1.75 -1.76 0.73 -242
== 0.46 0.28 1.61 0.46 0.22 2.04
(B 52 1-64) ZL2|H-U=0| H|0|X|2t X OLS 3 Zu}
2 H|O| X[t OLS
T polmm BEEA  tHE  FEX BEEXY oY
GDP 2.65 0.97 2.74 2.84 1.20 2.38
= 0.03 0.14 0.20 0.04 0.16 0.24
O[AtE 2.00 10.12 0.20 1.89 12.51 0.15
e -0.07 0.31 -0.21 -0.10 0.37 -0.27
(2 52 1-65) La|B-5=2 HOIXt X OLS £ Zut
2 H|OJX|QF OLS
T pAEmR BREEX  tHE  FFA O BEREA @
GDP 2.55 1.78 1.43 2.59 1.58 1.63
=5 0.07 0.18 0.39 0.07 0.16 0.42
O[AtE -6.16 7.10 -0.87 -6.23 6.35 -0.98
== -0.61 0.65 -0.78 -0.49 0.59 -0.83
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(2 55 1-66) Z2T-3r=2 #|0|X|2t & OLS = Z1t

25 H|O[X|QF oLS
T pYmA HEEA  tHE  FEX  BEEA -
GDP -1.12 1.95 -0.57 -1.12 1.69 -0.67
& 0.26 0.13 1.99 0.25 0.1 2.26
O|Xt& 2.32 2.48 0.94 2.33 2.15 1.08
22 0.06 0.52 0.12 0.04 0.45 0.09
o HE 1-67) AVILE-SQ H|0|X|ot 2 OLS X ZA1t
b, H|OJ X|QF 0oLS
TS pomdgt EEBA M@ S8 EXEA
GDP 3.04 1.13 2.70 2.80 1.15 2.44
& 0.24 0.08 2.99 0.23 0.09 2.68
O|XtE -2.32 1.09 -2.13 -2.21 1.21 -1.83
22 0.40 0.64 0.62 0.41 0.67 0.62
B 22 1-68) A7IZ2-0|Z9| H0|X|o X OLS X Zn}
o H|OJ X|QF oLS
T pYERY BEWA  t-HE  EMA  BEEA -3
GDP 2.36 1.55 1.53 2.49 1.34 1.86
*E 0.13 0.14 0.97 0.15 0.12 1.25
OlAtE -2.15 1.65 -1.30 -2.35 1.37 -1.72
etg 0.27 0.93 0.29 0.43 0.78 0.56
HEBEE1-69) A7(L=2-U=0| H|O|X|QF X OLS £ Z1t
25 H|O[X|QF oLS
T pYmA HEEAL  tHE FEX  BEEA -
GDP 2.30 1.70 1.36 2.45 1.32 1.86
& 0.0 0.20 0.06 0.02 0.16 0.1
O|XtE -14.63 20.43 -0.72 -13.95 15.87 -0.88
22 0.73 0.82 0.89 0.79 0.69 1.16
I 22 1-70) A7IZ2-F=29| H0|X|e 2 OLS &4 Zut
2 H|OJ X|QF 0oLS
T pYmWR BEWA  t-HE  EMX  BREA -3
GDP 0.40 1.39 0.29 0.30 1.17 0.26
& 0.15 0.18 0.84 0.15 0.14 1.1
OlxtE 1.91 5.08 0.38 2.42 4.34 0.56
etg -0.27 0.79 -0.34 -0.41 0.66 5-0.62
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B 22 1-71) A7Z2-5=29| H|0|X|QF L OLS £ Zut

e H|O[ K|t OLS
T polmdzt BEWA  t-HEg  FEX|  BEEx -3
GDP 2.30 1.14 2.01 1.86 1.28 1.45
& 0.15 0.16 0.94 0.14 0.18 0.79
O|Xt& -1.47 1.46 -1.01 -1.05 1.69 -0.62
22 0.87 0.46 1.90 0.96 0.49 1.96
B HE1-72) EfZ-SO| #|0|X|Qt X OLS & Zu}
o H|O| K| Ot OLS
T polmdzt BEWA  t-HEg  FEX|  BIWER -3
GDP 0.15 0.70 0.21 0.08 0.64 0.12
& 0.40 0.05 7.70 0.40 0.05 7.93
O|Rt= -0.27 0.54 -0.51 -0.26 0.53 -0.49
etg 0.51 0.25 2.07 0.50 0.25 2.04
T 22 1-73) Ef=Z-0|=2Q| H|0|X|Qt L OLS 4 Zut
2 H|O[ K|t OLS
= Bzt HZEMWX  t-Hg  FHX| HEEX -3
GDP 1.98 0.80 2.48 1.91 0.76 2.52
=& 0.45 0.18 2.56 0.46 0.17 2.71
O|AtE -1.01 0.71 -1.43 -0.98 0.71 -1.38
ot= -0.17 0.25 -0.66 -0.16 0.25 -0.63
O B2 1-74) EfZ-2=0| H|0|X|Qt X OLS 4 Zut
2= H|O| K| Ot OLS
T polmdzt BEWA  t-HEg  FEX|  BHIWER -3
GDP 1.48 1.13 1.32 0.81 1.14 0.70
& 0.16 0.19 0.85 0.24 0.22 1
O|XtE 11.54 7.89 1.46 9.64 9.81 0.98
stg -0.20 0.33 -0.61 -0.03 0.36 -0.08
I 2E 1-75) Ef=Z-Z=9| #|0|X|Qt X OLS 3 Zut
2 H|O[ K| 2t 0OLS
= BTzt HEMX  t-Hg  FHX| HEEX -3
GDP -1.43 2.01 -0.71 -1.49 1.83 -0.81
= 1.55 0.40 3.85 1.60 0.35 452
O|AtE 427 7.00 0.61 442 6.43 0.69
etg -2.58 0.92 -2.81 -2.78 0.79 -3.54
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(B 52 1-76) E{Z-3120] H0JXI2t L OLS 57 Za}

4
Ju

= IOTIer oLs
T polmm EEEX  tblg  RER EIEA 3
GDP -3.17 2.75 -1.15 -3.01 2.55 -1.18
] 0.74 0.41 1.83 0.84 0.37 2.24
O[AtE 5.66 3.32 1.70 5.62 3.04 1.85
= F] -0.81 0.93 -0.87 -0.98 0.84 -1.16
B 22 1-77) SU-02te] HO|XIOt X OLS £ 2t
oo BlOTIer 0LS
T polmmt EEEA tel2 B EEEA 3
GDP 1.18 1.00 1.17 1.24 0.79 1.57
] 0.35 0.29 1.23 0.35 0.24 1.45
0|Xt= -4.99 2.85 -1.75 -5.08 2.15 -2.36
=E] 0.19 0.81 0.23 0.27 0.67 0.40
(B 22 1-78) SL-220|A/0fe] HIO|XIOt L OLS £ 2t
e IREE: oLs
T pYmm BEEA  tHig  EEA BIEA
GDP 0.05 1.86 0.03 0.03 1.65 0.02
] 0.10 0.19 0.54 0.11 0.17 0.63
OlAtE 1.93 3.41 0.57 2.25 2.99 0.75
e -0.80 0.60 -1.32 -0.85 0.56 -1.51
B 22 1-79) SU-029) HOIXI2t L OLS £ 2t
= BlOTIer 0LS
T polmmt EEEA tblg B EEEA 3
GDP 1.92 0.79 2.44 1.97 0.69 2.86
] 0.73 0.14 5.29 0.74 0.12 6.10
0|Xt= -1.35 0.66 -2.05 -1.41 0.53 -2.65
=E] 0.36 0.15 2.35 0.38 0.13 2.98
B 22 1-80) SU-HIEH] HOIXIOt L OLS £ 2t
e BlOTIeT 0LS
T pommt EEEA tHg AEA O EEEA 2
GDP 2.77 1.57 1.76 2.82 1.39 2.02
== 0.23 0.14 1.64 0.22 0.12 1.84
0|Xt= -0.82 1.48 -0.56 -0.83 1.30 -0.64
sts -0.80 1.72 -0.47 -0.78 1.51 -0.51
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(B 2% 1-81)

SU-Y7HL 29| H0|X|2t & OLS = 21

P

s H|O|X|QF OLS
= BREAZ EEMX  t-Hg  FHX HEMI -3
GDP 0.60 0.48 1.25 0.46 1.08 0.43
L5 0.20 0.10 2.03 0.20 0.24 0.86
0|xe -1.63 1.38 -1.18 -0.22 3.56 -0.06
stg -1.02 0.62 -1.65 -0.89 1.06 -0.84
(2 22 1-82) SY-QIZHIAOLS] HO[XIQF % OLS % A1t
S H|O| X |2t oLS
= pREAZt EEWA  t-HIE  FFX  HEBX -3
GDP 0.15 0.98 0.16 0.23 0.91 0.25
5 0.21 0.18 1.14 0.18 0.16 1.08
0|xe -0.03 0.67 -0.04 -0.05 0.62 -0.08
stg -0.18 0.28 -0.63 -0.20 0.26 -0.76
H 22 1-83) SY-U=O| HO[XIQF % OLS 5% 23}
S Hi|O|X|QF oLS
= Bzt HZEMWX  t-Hg  FHX| HEEX -3
GDP 3.50 2.13 1.64 3.64 1.78 2.04
£ 0.21 0.29 0.75 0.23 0.25 0.90
O|Xt= -11.09 22.14 -0.50 -11.91 17.74 -0.67
stg -0.34 0.40 -0.83 -0.38 0.35 -1.09
B 2= 1-84) SY-S30| H{0|X|ot X OLS £ Zz}
a2 H|O| X |2t oLS
= BTt EEWA  t-HIE  FFX  HEBR -3
GDP 0.43 1.71 0.25 0.50 1.45 0.34
5 0.69 0.32 2.15 0.67 0.27 252
0|xe -1.06 5.73 -0.18 -0.93 4.96 -0.19
stg 0.34 1.13 0.31 0.58 0.95 0.62
H B2 1-85) SU-E{=2| H|O|X|QF %! OLS £ Zut
S Hi|O|X|QF oLS
= BTzt HEMX  t-Hg  FHX| HEEX -3
GDP 247 0.95 2.60 2.46 0.90 273
e 0.31 0.11 2.92 0.31 0.10 3.04
o|xe -2.95 1.80 -1.64 -2.99 1.70 -1.75
etg -1.17 0.61 -1.91 -1.23 0.56 -2.22
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(E 55 1-86) S¥-LIT2 H|0|X|2t & OLS = Z1t

25 H|O[ X[ 0oLS
= Bzt HEAEMWR  t-Hg  FHX| HBEEA -3
GDP 1.46 1.04 1.40 1.45 0.93 1.57
& 0.08 0.10 0.79 0.09 0.09 0.98
O|XtE -0.45 1.06 -0.43 -0.42 0.92 -0.46
2= 0.49 0.57 0.85 0.50 0.50 1.00
(2 22 1-87) SY-5=20| H{0[XI2F X OLS ¥ At
B H|O[ K| Ot 0oLS
= BTzt HEMWR  t-Hg  FHX| HEEA -3
GDP 0.53 1.65 0.32 0.47 1.34 0.35
& 0.22 0.17 1.30 0.24 0.14 1.67
O|XtE 1.15 1.92 0.60 1.14 1.51 0.76
2= -0.35 0.32 -1.09 -0.35 0.25 -1.44
(B B2 1-88) SU-5Z H|0|X|2t X OLS FH Z1t
2 H|O[ X[t oLS
= BBzt HZEWR  t-HEg  FHX|  BEEA -3
GDP 0.81 0.68 1.20 0.65 0.71 0.90
=& -0.22 0.17 -1.30 -0.21 0.18 -1.14
O|XtE 0.86 1.70 0.51 1.06 1.88 0.56
22 -2.01 10.56 -0.19 -1.10 11.22 -0.10
I 22 1-89) O|=2-CHTte| H|O|X|Qt X OLS £ Zut
25 H|O[ K| 0oLS
= BTzt HEMWR  t-Hg  FHX| HEEI -3
GDP 0.28 0.95 0.29 0.23 0.75 0.31
& 0.06 0.30 0.21 0.06 0.24 0.26
OlxtE 2.49 2.95 0.84 2.66 2.25 1.18
2= 1.26 0.86 1.48 1.35 0.72 1.88
T 22 1-90) 0=2-S9| H|0|X|Qt 2 OLS & Z1}
- H|O[ K| 2t 0OLS
= plERZt EBEWA  t-HIE  RMX  BEER -3
GDP 3.10 1.22 254 3.10 1.14 2.73
== 0.20 0.22 0.92 0.21 0.20 1.02
O|X= -1.10 1.48 -0.75 -1.11 1.36 -0.82
2= -0.67 0.35 -1.90 -0.68 0.32 -2.11
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(B 25 1-91) O|=-ZZ|O|A|Ot2] H|O|X|Qt = OLS £ Zut
e H|O[ K|t OLS
= BREAZ EEMX  t-Hg  FHX HEMI -3
GDP 3.09 1.31 2.36 3.1 1.27 2.44
& -0.01 0.14 -0.07 -0.02 0.14 -0.13
O|Xt& -5.82 2.35 -2.48 -5.85 2.29 -2.56
22 0.28 0.43 0.65 0.28 0.42 0.68
(8 522 1-92) 0|2-HEHQ| HOIX|t X OLS & Zt
Qo H|O| K| Ot OLS
= Bt BEWA t-Hlg  FHX HBEEA  t-%
GDP 1.85 1.54 1.20 1.70 1.34 1.27
& 0.07 0.17 0.38 0.06 0.15 0.40
O|XtE -0.26 1.54 -0.17 -0.13 1.33 -0.10
etg -1.51 1.73 -0.87 -1.57 1.52 -1.03
o 22 1-03) O0|2-A7HZ29| H|0|X|Qt 2! OLS =X Z1}
2o H|O[ K|t oLS
= Bzt HZEMWX  t-Hg  FHX| HEEX -3
GDP 1.44 0.66 217 1.46 0.61 2.39
= -0.29 0.15 -1.94 -0.29 0.14 -2.11
O|AtE -3.96 2.46 -1.61 -4.03 2.30 -1.75
ot= 1.42 0.75 1.90 1.43 0.71 2.01
(B 25 1-94) O|=3-QU=U|A|Ot2] H|O|X|Q = OLS =4 Zut
ag H|O| K| Ot OLS
= Bt BEWA  t-Hlg  FHX HEEA  t-%
GDP 1.87 0.76 247 0.25 1.06 0.24
& -0.05 0.09 -0.53 0.05 0.15 0.32
O|Rt= -0.74 0.43 -1.74 0.02 0.72 0.03
etg -0.18 0.19 -0.95 -0.38 0.31 5-1.23
(& 22 1-95) 0|2-U=0| HOJX|2t X OLS 574 A3}
2 H|O[ K| 2t oLS
= BTzt HEMX  t-Hg  FHX| HEEX -3
GDP -0.29 2.92 -0.10 -0.44 2.66 -0.17
= 0.43 0.43 1.01 0.43 0.40 1.07
O|AtE 4559 28.60 1.59 47.07 25.62 1.84
atg 0.07 0.53 0.13 0.03 0.48 0.07
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(B 22 1-96) 0|2-Z=29| H0|X|ot & OLS =X Z1}

4
Ju

. HOTRIE oS
TE  pomm EERDA  tHg  XNA  EEER g
GDP 4.48 1.38 3.26 3.44 1.36 2.53
& 0.08 0.21 0.37 0.17 0.27 0.63

O|Xt= -12.61 4.90 -2.57 -9.75 4.90 -1.99
2= 1.36 0.85 1.59 0.51 0.96 0.53

(B 52 1-97) 0]2-Ef2 HO|XI2t Y OLS £ 27}
5 HOTRIE oS
TS pomzy BEADR  tHE X8  EEEA 2
GDP -0.24 1.03 -0.23 -0.36 1.07 -0.33
& 0.14 0.17 0.82 0.15 0.18 0.83
O|X= 0.36 1.88 0.19 0.47 1.98 0.24
2= 1.91 0.60 3.16 1.92 0.63 3.05
(B 52 1-08) 0]2-Tajmo| Ho|X|ot U OLS =X Z1}
g HIOTRIoE oS
TS polmm EADA rHg  RNA EXREA 3t
GDP 0.60 2.57 0.23 0.55 2.18 0.25
& 0.09 0.57 0.16 0.14 0.44 0.31
O|XtE 0.54 2.68 0.20 0.59 2.13 0.28
22 0.41 1.47 0.28 0.55 1.15 0.48
H 92 1-90) D|2-3120| HO[X|QF & OLS £ 27}
5 HOTRIE oS
TE  pomzy BEADR  tHE X8  EEEA -2
GDP -0.24 2.67 -0.09 -0.16 2.71 -0.06
& 0.40 0.26 1.51 0.41 0.27 1.62
O|X& 0.50 3.16 0.16 0.34 3.19 0.11
2= 0.08 0.49 0.17 0.07 0.50 0.14
(B 52 1-100) D|Z-229| HO|X|Qt U OLS X Z1}
. HOTRIE oS
T polmdzt BEWA  t-HEg X BEER -3
GDP 2.51 1.02 2.45 214 1.13 1.90
== -0.32 0.17 -1.91 -0.25 0.18 -1.39

O|X= -0.02 2.68 -0.01 0.88 3.04 0.29

2= -19.47 15.07 -1.29 -12.62 15.43 -0.82
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(B 22 2-1) 3F=2-[§3to| SSVS =X Zin}

22 pol M@z  BEMA g  Pr(y,=1)
GDP 1.64 0.53 3.08 0.84
= 0.41 0.14 2.95 0.25
0|X+& -2.71 1.45 -1.87 0.89
2= 0.43 0.46 0.93 0.33
(B B2 2-2) 32-EU0| SSVS £ ZHi}
e 52 Wz Zmx} +Hg  Pr(y, =1)
GDP 1.62 0.85 1.79 0.77
= 0.18 0.10 1.78 0.24
0|X+& -0.79 0.92 -0.85 0.55
2= 0.39 0.25 1.60 0.29
(B 52 2-3) 3t=-U|0[A0}2] SSVS £ Zi}
e B2l B ZEHZ} tHlg  Pry=1)
GDP -0.44 0.99 -0.45 0.49
5 0.26 0.07 3.53 0.21
0|ArE 2.45 1.72 1.43 0.85
2tz -0.51 0.31 -1.64 0.31
(B 82 2-4) $t=2-0|29| SSVS X A1}
22 golmAZ  BEMA +Hlg  Pr(y, =1)
GDP 2.08 1.45 1.44 0.82
5 0.19 0.13 1.45 0.21
0|ArE -1.50 1.17 -1.28 0.73
2tz 0.55 0.28 1.95 0.33
(B 82 2-5) 3t2-HEH| SSVS £ Z1}
B Bol Wzgt  EEWAf rHg  Pr(y, =1)
GDP -0.33 0.55 -0.60 0.36
5 0.51 0.09 5.50 0.31
O|X+= 0.35 0.45 0.78 0.34
2tz 0.18 0.51 0.36 0.31
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(B 52 2-6) SH2-A7HL20| SSVS &4 Z1t
S 52l oz BEXME g Pr(y, =1)
GDP -1.17 0.43 -2.74 0.64
5 0.28 0.15 1.86 0.24
O|Xt= 1.62 1.38 1.17 0.74
2= -1.47 0.45 -3.24 0.77
(B 512 2-7) 3H2-0IZl{|A[0}2] SSVS &X Zin}
= poBAY  BEWEX tHlg  Priy=1)
GDP 0.84 0.85 0.99 0.56
= 0.00 0.15 -0.02 0.23
O|Xt= 0.05 0.58 0.08 0.33
2= -0.44 0.24 -1.81 0.29
(B 52 2-8) 32-U=0| SSVS £ Znt
e 52 Wz Zmx} +Hig  Pr(y, =1)
GDP 1.34 1.22 1.10 0.67
= 0.29 0.21 1.39 0.20
0|X+& -2.42 476 -0.51 0.85
2= -0.11 0.28 -0.40 0.19
(B 52 2-9) 3H=2-5329| SSVS &4 Zt
22 pol M@z  BEMA g  Pr(y,=1)
GDP 0.45 0.48 0.93 0.36
= 0.46 0.10 4.62 0.28
O|Xt= -1.23 1.71 -0.72 0.71
2= -0.48 0.15 -3.20 0.28
(B 52 2-10) 3t=-Ef=9| SSVS 8 Zut
22 pol M@z  BEMA g  Pr(y,=1)
GDP 1.14 0.59 1.95 0.65
5 0.41 0.1 3.78 0.28
O|Xt2 -0.63 0.88 -0.72 0.51
2= 0.05 0.30 0.17 0.25

119




(B 2= 2-11) $i=-Z2Ho| SSvVs &4 Zt

e poBAY  BEWEX tdlg  Priy=1)
GDP 0.33 0.72 0.46 0.42
+= 0.16 0.13 1.22 0.22
O|XtE 0.39 0.69 0.56 0.42
sts -0.22 0.39 -0.57 0.30
(B 25 2-12) t=-839 SSVS =4 21}
e poBAY  BEWEX tHlg  Priy=1)
GDP -0.26 0.37 -0.71 0.23
+=E 0.02 0.08 0.22 0.16
0|xt= -1.67 0.92 -1.81 0.78
sts 3.77 3.71 1.01 0.88
(B 22 2-13) F=2-H2to] SSVS % At
e pA BAY  BEWER tHlg  Priy=1)
GDP 1.36 0.52 2.63 0.76
+=E 0.14 0.07 1.94 0.23
0|xt= 0.43 1.46 0.29 0.61
e -0.22 0.50 -0.44 0.32
(8 22 2-14) 33-5Y0| SSVS 7 Zit
e pA BAY  BEWER tHlg  Pry=1)
GDP 0.26 0.69 0.38 0.39
+=E 0.78 0.16 4.95 0.46
Ol -0.05 1.30 -0.04 0.57
sts -0.42 0.60 -0.71 0.39
(B 22 2-15) Z2-LHOJA0 SSVS 54 Z1t
2 pA BAY  BEWER tHlg  Pry=1)
GDP -0.61 3.41 -0.18 0.78
FE 0.60 0.44 1.37 0.34
O|XtE 2.17 5.16 0.42 0.86
gs -0.27 1.06 -0.26 0.44
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(B 22 2-16) £2-0|29| SSVS £ Z1}
22 Bol TRt EEWA g  Pr(y,=1)
GDP 2.06 0.70 2.92 0.90
5 0.50 0.13 3.86 0.30
O|Xt= -0.41 0.67 -0.62 0.40
2= -0.58 0.34 =1.71 0.38
(B B2 2-17) E2-HEL| SSVS £3 Z1}

= poBAY  BEWEX tHlg  Priy=1)
GDP 3.89 0.76 5.11 1.00
= 0.12 0.09 1.23 0.18
O|X+= -1.06 0.65 -1.64 0.59
2= -0.14 0.75 -0.19 0.35

(B 22 2-18) ZI-AIPHE20| SSVS £ Z1t
e 52 Wz Zmx} +Hig  Pr(y, =1)
GDP 0.75 0.78 0.96 0.51
= 0.37 0.14 2.53 0.26
O|X+= 1.13 2.32 0.49 0.74
2= -0.95 0.82 -1.16 0.56
(B 52 2-10) Z2-0IZHA[0}2] SSVS =X Zi1}
22 pol M@z  BEMA g  Pr(y,=1)
GDP -0.43 1.29 -0.33 0.57
= 0.66 0.23 2.92 0.39
O|X+= 0.89 0.66 1.35 0.56
2= -0.05 0.29 -0.19 0.26
(B 22 2-20) Z2-U=0| SSVS X A1}

22 pol M@z  BEMA g  Pr(y,=1)
GDP 0.78 0.68 1.14 0.49
5 0.36 0.1 3.43 0.23
O|X+= -1.50 3.10 -0.48 0.79
2= -0.16 0.12 -1.27 0.20
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(B 55 2-21) S3-EH=2 SSVS

33 23

e poBAY  BEWEX tdlg  Priy=1)
GDP 1.18 0.92 1.29 0.66
+= 0.53 0.16 3.35 0.33
O|XtE -0.40 1.20 -0.34 0.55
sts -0.22 0.44 -0.51 0.31
(& 22 2-22) F3-T2IHO| SSVS % A1t
e poBAY  BEWEX tHlg  Priy=1)
GDP 0.17 0.90 0.19 0.46
+=E 0.50 0.14 3.66 0.31
O|XtE 1.21 0.82 1.48 0.68
sts -0.05 0.43 -0.12 0.28
(B 82 2-23) -5t SSVS £ Zit
e pA BAY  BEWER tHlg  Priy=1)
GDP 1.98 1.13 1.75 0.84
+=E 0.45 0.16 2.76 0.28
0|xt= -0.59 1.35 -0.44 0.59
e -0.01 0.25 -0.03 0.22
(B 22 2-24) 53-230| SSVS £ Z1t
e pA BAY  BEWER tHlg  Pry=1)
GDP -0.64 0.68 -0.95 0.40
+=E 0.70 0.29 2.41 0.33
O|XtE -1.22 1.51 -0.81 0.63
sts 4.20 5.05 0.83 0.87
(B £52-25) U=2-T4TLO| SSVS 4 2t
2 pA BAY  BEWER tHlg  Pry=1)
GDP 0.62 0.79 0.79 0.50
FE 0.08 0.16 0.52 0.22
0|Xt= -0.25 2.09 -0.12 0.69
gs 0.37 0.64 0.58 0.38
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22 pol WAzt BEMA +-Hlg  Pr(y, =1)
GDP 1.47 0.63 2.32 0.78
5 0.53 0.07 7.55 0.32
O|Xt= -0.44 0.67 -0.66 0.42
2= 0.23 0.15 1.52 0.24
(B B2 2-27) Y=-210|A[0F] SSVS £ AT

B polW@y  EEHA tHg  Priy=1)
GDP 1.94 1.19 1.63 0.82
= 0.01 0.14 0.08 0.20
O|Xt= -2.38 2.14 -1.11 0.83
2= -0.69 0.27 -2.53 0.39

(H £52-28) 2-0|=9 SSVS =74 21t
e B2l Bz = tHg  Priy=1)
GDP -1.56 0.98 -1.60 0.75
= 1.02 0.13 7.77 0.59
O|Xt= 0.90 0.87 1.04 0.57
2= 0.08 0.16 0.48 0.23
(B 22 2-20) Y=-HELO| SSVS £ 71}
=] 5ol Bt HZMER} t-H|8 Pr(y, =1)
GDP 2.55 1.22 2.09 0.91
= 0.25 0.23 1.07 0.24
O|Xt= -1.46 1.07 -1.37 0.72
2= 0.96 1.31 0.73 0.62
(B 22 2-30) Y=2-A7IE20| SSVS £ Zut

=] 5ol Bt HZMR} t-H|2 Pr(y, =1)
GDP -0.60 0.58 -1.03 0.40
5 0.37 0.13 2.71 0.22
O|Xt2 3.48 2.21 1.57 0.91
22 -0.53 0.55 -0.96 0.35
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(H B2 2-31) U=E-QITL|A0I2] SSVS =X Z1|

P

S Bol W7  EEMA e  Pr(y, =1)
GDP -0.78 0.98 -0.79 0.55
5 0.82 0.16 b.22 0.46
O|Xt= 1.1 0.66 1.68 0.63
2= -0.08 0.28 -0.27 0.25
(B 822 2-32) U=-Z30|SSVS £ Z}
S Bol W7  EEMA e  Pr(y, =1)
GDP 0.60 0.79 0.76 0.45
= 0.66 0.17 3.96 0.36
O|X+= -1.95 2.78 -0.70 0.80
2= -0.22 0.24 -0.90 0.23
(B 22 2-33) Y=-E420| SSVS £ H1}
22 pol M@z  BEMA g  Pr(y,=1)
GDP 2.03 0.88 2.31 0.86
= 0.49 0.16 3.06 0.28
O|X+= -1.47 1.48 -0.99 0.72
2= 0.45 0.45 1.00 0.34
(B B2 2-34) Y=-T3[mO| SSVS £ Z1}
e pA BAY  BEWER tHlg  Pry=1)
GDP 0.26 0.73 0.36 0.40
= 0.52 0.20 2.58 0.33
O|Xt= 0.62 0.76 0.82 0.50
2= 0.12 0.33 0.36 0.27
(B B2 2-35) U=-5120| SSVS £ Zit
= pol BAZ  BEEX rHlg  Priy, =1)
GDP 4.64 1.82 2.55 0.97
5 -0.19 0.30 -0.63 0.18
O|Xt2 -3.66 2.16 -1.69 0.92
2tz 0.13 0.37 0.35 0.19
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22 pol WAzt BEMA +-Hlg  Pr(y, =1)
GDP -0.83 0.38 -2.17 0.44
5 0.66 0.1 6.13 0.32
O|Xt= 1.66 0.99 1.68 0.75
2= 2.35 4.05 0.58 0.82
(B 2= 2-37) HIEH-SUO| SSVS 54 Z}
= poBAY  BEWEX tdlg  Priy=1)
GDP 1.69 0.82 2.06 0.81
= 0.13 0.1 1.21 0.22
O|X+= 1.27 0.86 1.48 0.68
2= -0.15 0.65 -0.23 50.36
(B B2 2-38) HIEY-022| SSVS £ Z1}
e B2l B =l tHlg  Priy=1)
GDP 5.25 1.27 412 1.00
= 0.60 0.1 5.66 0.25
O|Xt= 0.33 1.34 0.24 0.50
2= 0.65 0.76 0.86 0.42
(B B2 2-39) HEL-YEO| SSVS 3 Z1}
22 pol M@z  BEMA +Hlg  Pr(y, =1)
GDP 2.43 0.87 2.78 0.92
= 0.17 0.07 243 0.16
O|X+= 4.59 6.47 0.71 0.88
2= -1.89 0.44 -4.35 0.89
(B B2 2-40) HIEY-Z20| SSVS £ 71}
22 pol M@z  BEMA +Hlg  Pr(y, =1)
GDP 1.11 1.91 0.58 0.66
5 0.20 0.31 0.64 0.19
O|Xt2 0.08 6.35 0.01 0.88
2= -1.92 2.04 -0.94 0.76
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(B B2 2-41) HEY-3I29| SSVS 8 Z1}
S Bol W7  EEMA e  Pr(y, =1)
GDP -4.27 1.95 -2.19 0.95
5 0.04 0.08 0.48 0.12
O|Xt= 6.29 2.18 2.88 0.99
2= -2.06 1.02 -2.01 0.84
(B B2 2-42) 4O--SQ0| SSVS £ ZHi}
S Bol W7  EEMA e  Pr(y, =1)
GDP 1.07 0.47 2.30 0.60
= 0.33 0.06 5.37 0.27
0|X+& -1.24 0.49 -2.55 0.69
2= 0.90 0.27 3.37 0.51
(B 22 2-43) [40t-0|29| SSVS £ ZH1}
22 pol M@z  BEMA g  Pr(y,=1)
GDP 2.74 0.82 3.36 0.97
= 0.08 0.10 0.81 0.17
O|X+= -2.46 0.76 -3.24 0.96
2= 0.14 0.38 0.38 0.24
(B B2 2-44) §P-UR0| SSVS £X A1}
e polBAY  EEHA tHg  Priy=1)
GDP 0.99 0.48 2.08 0.50
= 0.05 0.07 0.77 0.16
0|X+& -5.52 3.69 -1.49 0.93
2= 0.99 0.22 4.44 0.47
(B B2 2-45) [§P-E30| SSVS £ Zt
2 pA BAY  BEWER tHlg  Pry=1)
GDP -0.14 0.54 -0.26 0.32
5 0.32 0.10 3.17 0.24
0|ArE -0.13 1.87 -0.07 0.66
St -0.46 0.34 -1.37 0.33
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(B B2 2-46) [HI-5+=20| SSVS =X Zin}

4
Ju

22 Bol TRt EEWA g  Pr(y,=1)
GDP 0.92 0.71 1.29 0.57
=5 0.09 0.07 1.28 0.22
O|Xt= 0.47 0.87 0.54 0.49
st= -0.40 0.32 -1.25 0.31
(B B2 2-47) S2-SY0|SSVS £ Z1}
= 5ol TR BEXME 8 Pr(y, =1)
GDP 0.00 0.94 0.00 0.42
= 0.46 0.17 2.71 0.27
O|X+= -0.20 0.96 -0.20 0.45
2= -0.56 3.98 -0.14 0.78
(B 22 2-48) S2-0|29| SSVS £ Z1}
e 52 Wz Zmx} tHg  Pr(y,=1)
GDP 2.43 1.32 1.84 0.85
= 0.60 0.15 4.09 0.26
O|X+= -2.84 1.37 -2.07 0.89
2= -1.29 5.68 -0.23 0.83
(B B2 2-49) S2-U=0|SSVS £ Z1}
22 pol M@z  BEMA g  Pr(y,=1)
GDP 0.62 2.65 0.23 0.61
= 0.58 0.18 3.17 0.08
O|X+= 23.00 24.29 0.95 0.97
2= -15.33 20.44 -0.75 0.96
(B B2 2-50) S2-5329|SSVS £ Z1
22 pol M@z  BEMA g  Pr(y,=1)
GDP 0.76 0.74 1.02 0.45
5 0.21 0.17 1.27 0.17
O|X+= -4.03 2.64 -1.53 0.91
2= 0.09 4.70 0.02 0.84
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(B 2= 2-51) E2-51209| SSVS £8 Z1}
S Bol W7  EEMA e  Pr(y, =1)
GDP 2.80 1.55 1.80 0.89
5 0.07 0.10 0.64 0.14
O|Xt= -3.31 1.93 -1.71 0.90
2= 0.76 6.05 0.12 0.85
(B 25 2-52) Q=Y AO-=22| SSVS £ Z1t
S Bol W7  EEMA e  Pr(y, =1)
GDP -1.41 1.07 -1.32 0.71
= -0.03 0.22 -0.15 0.20
0|X+& 2.32 1.23 1.88 0.87
2= 0.35 0.29 1.22 0.25
(B 22 2-53) QILI{|A[0}-0]=22| SSVS =X Zu}
22 pol M@z  BEMA +Hlg  Pr(y, =1)
GDP 2.24 0.98 2.30 0.90
= 0.00 0.12 0.00 0.20
0|X+& 0.25 1.06 0.23 0.50
2= 0.02 0.21 0.09 0.20
(B HZE 2-54) QTLAIOI-YR2| SSVS =X Z1t
e polBAY  EEHA tHg  Priy=1)
GDP 2.98 0.84 3.55 0.98
= 0.14 0.19 0.76 0.15
O|Xt= -3.50 5.22 -0.67 0.89
2= -0.22 0.19 -1.17 0.16
(B B2 2-55) QIZHAIO-E22| SSVS £ 21t
2 52 Wz BEWAL +Hig  Pr(y, =1)
GDP -0.15 1.01 -0.14 0.44
& -0.06 0.07 -0.77 0.17
0|ArE 4.02 3.88 1.04 0.89

2tz -0.09 0.28 -0.32 0.18
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(B 52 2-56) QITLA0I-3t=22] SSVS £ 2Tt
22 Bol TRt EEWA +-Hlg  Pr(y, =1)
GDP 1.91 1.37 1.39 0.80
5 0.15 0.15 1.00 0.22
O|X+& -1.32 1.77 -0.75 0.72
2= -0.34 0.24 -1.44 0.26
(B 52 2-57) L|0|AOI-SL| SSVS £ 2Tt
= 52l Wz BEXME 8 Pr(y, =1)
GDP 0.60 0.99 0.61 0.53
= 0.24 0.12 2.11 0.23
O|Xt= 0.51 1.10 0.46 0.54
2= 0.18 0.40 0.45 0.29
(B 52 2-58) L|0|A0}-0|22] SSVS £ 2t
e B2l B =l tHlg  Priy=1)
GDP 2.26 0.66 3.44 0.95
= 0.16 0.06 2.76 0.20
O|Xt= -0.76 0.70 -1.09 0.51
2= 0.04 0.19 0.20 0.21
(B 52 2-50) UH|0JA[0I-Y=22| SSVS £ Zmt
e pA BAY  BEWER tHlg  Pry=1)
GDP 2.87 1.65 1.73 0.88
= 0.10 0.34 0.30 0.18
0|X+& -1.82 6.72 -0.27 0.88
2= -0.03 0.47 -0.06 0.22
(B 52 2-60) L|0|AOI-F22| SSVS £ 2Tt
Sz 52 Wz BEWAL +Hg  Pr(y, =1)
GDP 1.30 0.80 1.62 0.69
5 0.23 0.09 2.52 0.20
O|Xt2 -2.09 2.91 -0.72 0.81
2= 0.21 0.38 0.55 0.24
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(H 55 2-61) L0|A|0I-3=72| SSVS £ Z1

P

B 5ol TR BEXME g Pr(y, =1)
GDP -1.40 1.69 -0.83 0.72
5 0.37 0.19 1.94 0.23
O|Xt= 3.19 2.19 1.46 0.89
2= -0.14 0.30 -0.46 0.21

(B 2= 2-62) L2|T-=20| SSVS £ Z1}
S Bol W7  EEMA e  Pr(y, =1)
GDP 0.02 2.30 0.01 0.71
= 0.53 0.20 2.69 0.30
O|Xt= -0.67 2.30 -0.29 0.72
2= 0.27 0.94 0.29 0.45

(B 22 2-63) LWa|m-0|=22| SSVS =8 Zut
e 52 Wz BEWAL +Hig  Pr(y, =1)
GDP 2.72 0.61 4.43 0.98
= -0.07 0.06 -1.15 0.20
0|X+& -1.79 0.65 -2.74 0.86
2= 0.46 0.20 2.28 0.27

(B 75 2-64) Z2|T-Y=29| SSVS =8 2t
e pA BAY  BEWER tHlg  Pry=1)
GDP 2.80 1.07 2.62 0.94
= 0.05 0.14 0.33 0.16
0|X+& -1.97 4.91 -0.40 0.86
2= -0.06 0.31 -0.19 0.18

(B 22 2-65) La|m-529| SSVS 8 1}

2 52 Wz BEWAL +Hig  Pr(y, =1)
GDP 2.01 1.12 1.78 0.82
5 0.04 0.14 0.31 0.18

O|Xt2 -3.69 427 -0.86 0.87
2tz -0.51 0.52 -0.97 0.34
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(B B& 2-66) L2|T-ot=50| SSVS &3 Zi}

4
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22 Bol TRt EEWA +-Hlg  Pr(y, =1)
GDP -1.02 1.51 -0.68 0.68
5 0.26 0.10 2.53 0.20
O|X+& 2.09 1.91 1.10 0.80
2= 0.01 0.40 0.03 0.25
(B 52 2-67) AJJEE-E20| SSVS =X Zin}
= poBAY  BEWEX tHlg  Priy=1)
GDP 2.77 1.00 2.78 0.95
= 0.23 0.08 3.00 0.19
O|Xt= -2.31 1.05 -2.20 0.89
2= 0.41 0.59 0.69 0.36
(B B2 2-68) Al7jE2-0|20| SSVS =X Za}
e B2l B =l tHlg  Priy=1)
GDP 2.44 1.20 2.04 0.89
= 0.15 0.1 1.39 0.19
O|Xt= -2.40 1.24 -1.94 0.87
2= 0.45 0.71 0.64 0.40
(B 512 2-69) Al7}E2-2=0| SSVS FX 21}
Sz 52 Wz BEWAL +Hg  Pr(y, =1)
GDP 2.53 1.17 217 0.89
= 0.02 0.14 0.14 0.14
0|X+& -5.60 6.83 -0.82 0.91
2= 0.63 0.56 1.12 0.34
(E 512 2-70) AJ}E2-Z20| SSVS £ Zu}
Sz 52 Wz BEWAL +Hg  Pr(y, =1)
GDP 0.70 0.80 0.88 0.51
5 0.14 0.12 1.19 0.22
O|Xt2 0.92 2.88 0.32 0.77
2= -0.43 0.59 -0.73 0.37
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(B B2 2-71) AM71E2-5129| SSVS =4 Z1}

e poBAY  BEWEX tdlg  Priy=1)
GDP 1.92 1.13 1.70 0.82
+= 0.15 0.16 0.94 0.21
UPNs= -1.19 1.50 -0.80 0.68
sts 0.95 0.44 2.17 0.56
(B 22 2-72) E{=-SY0| SSVS £ Zit
e poBAY  BEWEX tHlg  Priy=1)
GDP 0.01 0.57 0.01 0.34
+=E 0.40 0.04 9.06 0.28
Ol -0.29 0.47 -0.60 0.33
sts 0.50 0.22 2.26 0.32
(8 22 2-73) Ef=-0/29| SSVS % Zit
e pA BAY  BEWER tHlg  Priy=1)
GDP 1.88 0.68 2.75 0.88
+=E 0.46 0.16 2.98 0.29
0|xt= -1.01 0.65 -1.56 0.59
sts -0.17 0.23 -0.72 0.23
(B 22 2-74) Ef=-U=o| SSVS £ Zit
e pA BAY  BEWER tHlg  Pry=1)
GDP 0.64 1.03 0.63 0.52
+=E 0.25 0.20 1.28 0.22
O|XtE 0.79 4.02 0.20 0.78
sts 0.11 0.31 0.34 0.21
(B 85 2-75) EB{=-3=2 SSVS &4 Z1t
2 pA BAY  BEWER tHlg  Pry=1)
GDP -1.19 1.31 -0.91 0.62
FE 1.58 0.31 5.06 0.81
0|Xt= 3.37 4.38 0.77 0.86
gs -2.80 0.68 -4.12 0.97
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(B B2 2-76) Ef=-5t=20| SSVS =X Zin}

22 Bol TRt EEWA g  Pr(y,=1)
GDP -2.90 2.35 -1.23 0.84
5 0.85 0.34 2.52 0.40
O|Xt= 5.38 2.76 1.95 0.95
2= -1.04 0.76 -1.37 0.53

(B 822 2-77) SY-I§7I0| SSVS £ ZH1}

= 5ol TR BEXME 8 Pr(y, =1)
GDP 1.19 0.71 1.66 0.62
= 0.36 0.22 1.63 0.21
O|X+= -4.57 1.90 -2.41 0.97
2= 0.27 0.61 0.44 0.29

(B 512 2-78) =U-2H|0[A|0L2] SSVS FX Z1}

e 52 Wz Zmx} tHg  Pr(y,=1)
GDP 0.22 1.38 0.16 0.56
= 0.10 0.15 0.65 0.20
O|X+= 1.78 2.43 0.73 0.78
2= -0.87 0.50 -1.74 0.51

(B 822 2-79) SY-0|29| SSVS £ Z1t

22 pol M@z  BEMA g  Pr(y,=1)
GDP 1.92 0.63 3.07 0.88
= 0.74 0.1 6.73 0.43
O|X+= -1.42 0.48 -2.93 0.76
2= 0.39 0.12 3.33 0.27

(B B2 2-80) EY-HIELO| SSVS & Zn}

22 pol M@z  BEMA g  Pr(y,=1)
GDP 2.73 1.23 222 0.92
5 0.22 0.10 2.1 0.21
O|X+= -0.73 1.12 -0.65 0.55
2= -0.95 1.31 -0.72 0.62
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(H #22-81) =¢

-7t 29| SSVS £ At

e Bl WAY  BEHA rdlg  Prly=1)
GDP 0.44 0.9 0.46 0.49
== 0.21 0.21 0.98 0.24
O[AtE -0.01 2.52 0.00 0.74
2= -0.88 0.95 -0.93 0.57
(B 22 2-82) SU-QIZHA|OLS] SSVS £ Zu}
T pol@y  EEHA tdig  Prly=1)
GDP 0.23 0.79 0.29 0.43
TE 0.18 0.15 1.21 0.23
Ol -0.06 0.55 -0.11 0.32
e -0.20 0.23 -0.88 0.24
(B £22-83) SY-Y=o|SSVS 4 Zit
e pA BAY  BEWER tHlg  Priy=1)
GDP 3.61 1.58 2.29 0.94
TE 0.23 0.23 1.02 0.14
0|xt= -5.14 1.27 -0.71 0.91
e -0.36 0.31 -1.18 0.18
(8 22 2-84) SY-F0| SSVS 7 21t
e pA BAY  BEWER tHlg  Pry=1)
GDP 0.62 1.06 0.58 0.50
TE 0.67 0.24 2.79 0.35
0|xt= -1.41 3.22 -0.44 0.79
e 0.54 0.79 0.69 0.43
(8 22 2-85) SU-E2| SSVS 7 Zit
2 pA BAY  BEWER tHlg  Pry=1)
GDP 2.43 0.80 3.04 0.94
FE 0.30 0.09 3.38 0.22
0|Xt= -2.83 1.48 -1.91 0.90
gs -1.20 0.49 -2.45 0.64
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4
Ju

e B BAY  BEEA tdlg  Priy=1)
GDP 1.40 0.82 1.69 0.73
+= 0.09 0.08 1.07 0.22
O|Xte -0.44 0.82 -0.54 0.47
sts 0.43 0.44 0.97 0.34
(B 8% 2-87) S2-3t=52| SSVS =4 21
= poBAY  BEWEX tHlg  Priy=1)
GDP 0.48 1.21 0.39 0.56
+=E 0.25 0.13 1.86 0.23
0|xt= 1.05 1.36 0.77 0.66
sts -0.36 0.22 -1.62 0.27
(B 22 2-88) SU-3FO| SSVS £ Zit
e B2l B3} ZHA} g Priy=1)
GDP 0.65 0.62 1.04 0.41
+=E -0.21 0.16 -1.29 0.20
0|xt= 1.04 1.56 0.66 0.66
sts -1.40 4.34 -0.32 0.83
(B 22 2-89) D|=-rH3to| SSVS £ Zit
e pA BAY  BEWER tHlg  Pry=1)
GDP 0.48 0.66 0.72 0.42
+=E 0.05 0.22 0.25 0.23
O|Xt= 1.22 1.81 0.67 0.73
sts 1.07 0.63 1.69 0.63
(B 22 2-00) D|=-SY0| SSVS £ Zit
e pA BAY  BEWER tHlg  Pry=1)
GDP 2.99 1.00 2.99 0.96
+=E 0.23 0.18 1.24 0.22
0|Xt= -1.28 1.15 -1 0.67
BE -0.70 0.29 -2.43 0.39
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(B 25 2-91) 0|=-ZYO[A0tS] SSVS = Zut

S Bol W7  EEMA e  Pr(y, =1)
GDP 2.97 1.13 2.63 0.95
5 -0.01 0.12 -0.07 0.13
O|Xt= -h.56 2.01 -2.76 0.99
2= 0.31 0.37 0.83 0.21
(B B2 2-92) 0|2-HELC| SSVS £8 Z1}
B 5ol TR BEXME g  Pr(y, =1)
GDP 1.69 1.19 1.43 0.77
= 0.07 0.14 0.47 0.20
O|X+= -0.13 1.18 -0.11 0.52
2= -1.58 1.32 -1.19 0.74
(B 512 2-93) 0|2-A7}L29| SSVS 34 Z}
22 pol M@z  BEMA g  Pr(y,=1)
GDP 1.43 0.53 2.70 0.73
= -0.29 0.12 -2.36 0.21
O|X+= -3.74 1.85 -2.02 0.93
2= 1.47 0.62 2.36 0.72
(B 22 2-094) 0|Z-2IZ A0} SSVS X AT}
e 52 Wz BEWAL tHg  Priy=1)
GDP 0.26 0.93 0.28 0.47
= 0.04 0.13 0.32 0.23
O|Xt= 0.03 0.64 0.05 0.37
2= -0.38 0.28 -1.38 0.30
(B 52 2-95) 0|2-Y=0| SSVS £ Zat

2 pA BAY  BEWER tHlg  Pry=1)
GDP 0.34 2.53 0.13 0.70
5 0.28 0.38 0.73 0.20
0|ArE b.28 12.83 0.41 0.88
2tz 0.16 0.46 0.35 0.21
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(8 22 2-96) D|=-53| SSVS £ 4
e poBAY  BEWEX tdlg  Priy=1)
GDP 3.03 1.12 2.71 0.95
+= 0.20 0.24 0.82 0.13
O|Xt= -8.12 3.92 -2.07 0.98
sts 0.70 0.85 0.82 0.41
(8 22 2-97) D|=-Ef20| SSVS % Zit
= po BAY  BEWX tHlg  Priy=1)
GDP -0.25 0.94 -0.27 0.46
+=E 0.15 0.17 0.91 0.22
0|xt= 0.10 1.65 0.06 0.6
sts 1.86 0.57 3.27 0.89
(8 £22-98) 02-La|HO| SSVS 53 Z1
e B2l Bz =l tHlg  Priy=1)
GDP 0.50 1.96 0.25 0.67
+=E 0.13 0.40 0.33 0.27
0|xt= 0.40 1.91 0.21 0.67
sts 0.37 0.96 0.38 0.48
(B 85 2-99) 0|=-8t=2| SSVS =3 21}
e pA BAY  BEWER tHlg  Pry=1)
GDP -0.08 2.41 -0.03 0.71
+=E 0.41 0.24 1.71 0.27
O|XtE 0.19 2.75 0.07 0.75
e 0.04 0.44 0.09 0.26
(8 £22-100) 0|2-239 SSVS £ Z3|
e pA BAY  BEWER tHlg  Pry=1)
GDP 1.91 0.90 2.11 0.82
FE -0.23 0.15 -1.50 0.15
O|XtE 1.42 2.52 0.56 0.74
BE -5.27 6.66 -0.79 0.91
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52 3. 25Ae2Ye £ 2
(B 22 3-1) si2-jote] 227408 £5zm
= Bl Hatdf = HAt t-HiE
GDP 0.90 1.83 0.49
] 0.55 0.00 315,045.13
OlXtE -1.84 0.00 -25,324.77
o= 0.28 0.62 0.45
(B 52 3-2) 33-520| 27408 S5
= Bl Hatdf = HAL t-Hi=Z
GDP 2.84 2.50 1.14
] 0.08 0.37 0.21
OlXt= -1.46 0.00 -18,481.28
2= 0.10 0.00 20,371.36
(B 52 3-3) si2-20lA0lel HEALDY 252
= P B HEEA oIS
GDP -0.20 0.00 -33,311.99
] 0.26 0.00 1,965,527.70
OlXtE 2.19 2.23 0.98
2= —0.55 0.00 -37,689.49
(B 52 3-4) $2-0/20 A27408 $H2
= R HEEA oS
GDP 0.26 0.00 55,783.15
FE 0.44 0.00 943,740.59
OlXtE -1.24 1.35 -0.91
o= 0.94 0.93 1.01
(B 52 3-5) Si2-HIEHO| BEALDY ST
= BT HEEA THE
GDP -0.42 0.58 -0.72
St 0.57 0.12 4.85
OlXtE 0.44 0.00 5b,866.40
o= -0.01 0.00 —5,952.14
(B 52 3-6) 3=-471E20| HEALDY S3A
—E FEEE, HEEA HIE
GDP -0.04 0.00 —62,988.22
] 0.14 0.43 0.33
OlXtE -1.30 0.00 -1,666,064.10
2= -1.29 0.10 -13.42
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B 82 3-7) SE-QIEUAl HEH4RY 232
T Bol Bt BZEHEX} t-HlE
GDP 1.42 0.72 1.98
*E -0.03 0.33 -0.09

N -0.39 0.00 -26,069.32
2= -0.33 0.60 -0.54
(B 22 3-8) 33-220| HASH+0Y 232
= Bl Bt HEHEX} t-HlE
GDP -0.41 0.00 -5,331.32
] 0.35 0.28 1.28
OlXtE -15.86 0.00 -25,918.05
2= 0.25 1.06 0.24
(B £23-9) 33-530| A4y FYZY
T= Bl Bt ZHR t-HlE
GDP 0.90 0.00 48,616,336.00
] 0.38 0.13 2.97
OlXtE -2.45 0.00 -786,954.08
2= -0.46 0.50 -0.91
B §23-10) 33-E30 sS40y YE
T Bol Bt BZEHEX} t-HlE
GDP 1.45 0.00 126,764.99
*E 0.34 0.00 39,986.01
PN -0.83 1.48 -0.56
r] -0.02 1.33 -0.01
(B 52 3-11) 3i3-Z2jmo| $8AL2 232
= Bl Bt HEHEX} t-HlE
GDP 0.79 0.00 2,396,235.30
] 0.31 0.00 105,148.48
OlXtE -0.30 1.19 -0.256
2= -0.77 1.12 -0.69
(B 22 3-12) #3-539 #8A40H £321
= Bl Bt ZHR t-HlE
GDP -0.97 1.61 -0.60
] 0.01 0.00 74,609.77
OlXtE -1.64 0.00 -373,673.55
2= 10.05 0.00 10,675.61
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B 22 3-13) S3-T20 HEA4TY FYZL
= B Bt BEHX t-HE
GDP 1.31 2.22 0.59
== 0.09 0.00 6,920.08

URNE=; 0.06 0.00 2,304.43
e -0.13 0.85 -0.16

(B 223-14) 33-5Y0| 8874428 22
T Bel ek BEHA t-HE
GDP 0.5 0.0 10,535.57
== 0.98 0.35 2.83
Otz -1.38 0.00 -10,461.31
s -0.27 2.33 -0.12
B 22 3-15) S2-U20IA0L2 ABALRY FHZEY

= Be| ek BEHR t-HE2
GDP -1.41 0.00 -183,685.30
=5 0.46 0.85 0.55
Otz 4.49 5.33 0.84
sts -0.52 0.00 -132,130.13

B 22 3-16) $3-0139 YEALTY FYZY
= B Bt BEHA t-HE
GDP 1.75 1.55 1.13
== 0.52 0.00 692,546.54
URNE=: 0.22 0.00 48,120.47
EE -0.71 0.55 -1.31

(& $23-17) 33-HIEHS HEA+2Y £HA
7= Bel Butak BEHA t-HE
GDP 3.93 0.99 3.96
== 0.13 0.00 227,911.39
U= -1.22 0.00 -67,673.01
s 0.04 0.12 0.36
(B 92 3-18) 33-471E20| HEA40H 25

e FEEE, HEEA HIE
GDP 0.78 2.95 0.26
=5 0.81 0.00 1,005,520.40
Otz -3.46 0.00 -104,433.77
s -0.61 0.00 —63,245.67
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(B 25 3-19) S3-QUHAO] SEA RS FHZEL

= FEEEE HETR o=
GDP -1.22 0.00 -1,572,232.30
| 1.01 0.54 1.88
O|At= 0.72 0.00 261,640.91
sts 0.12 0.00 1,085,950.10
(B 223-20) 53-Y=o| #57+08 FHZ}
= FEEE: EETA e
GDP 0.04 0.53 0.08
== 0.44 0.00 149,411,700.00
Olxtz 3.51 0.00 390,661.43
g -0.05 0.51 -0.10
(B 82 3-21) 33-61=20| Y8A+08 FH2L
=5 FEEEE EH] 1=
GDP 0.50 1.1 0.45
== 0.47 0.23 2.06
Olxtz 1.27 0.00 5,791.96
sts -0.04 0.00 -112,373.09
H 5= 3-22) 33-ZHo| AEA42E FHEL
= FEEEE. HETR o=
GDP 1.06 0.00 107,739,710.00
| 0.19 0.34 0.57
O|At= 1.16 0.00 33,635,656.00
r] 0.11 0.00 34,860,468.00
(B 22 3-23) £3-31=0| 487408 FHZ
= FEEE: EETA o=
GDP 0.99 1.01 0.98
== 0.35 0.00 662,387.30
PN 0.38 1.25 0.30
g -0.21 0.00 -144,495.10
(B 82 3-24) 33-530| Y84+08 FHEY
7= FEEEE: E0] oIS
GDP -0.09 1.79 -0.05
== 0.48 0.57 0.84
Olxtz -1.90 0.00 -11,273.32
sts 14.73 0.01 1,231.97
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(B 22 3-25) YE-jgto| HSALDH F32T
= Bol Bt BZEHEX} t-HlE
GDP 0.16 0.62 0.25
*E 0.15 0.00 1,508,074.60
N -2.43 6.83 -0.36
2= -0.28 0.00 -1,489,765.80
(B 22 3-26) Y2-SUQ| HEA+DY 2HA}
= Bl Bt RN t-Hlg
GDP 1.98 0.00 21,162,359.00
] 0.43 0.49 0.88
OlXtE -2.30 0.00 —-62,477,782.00
2= 0.20 0.00 180,163,120.00
B 5 3-27) U=2-U20IA0}0] HBALDY F
T Bl Bt HEHEX} t-HlE
GDP 1.54 0.00 104,729.77
] 0.10 0.24 0.41
OlXtE -1.93 1.56 -1.24
2= -0.63 0.00 -152,452.89
B 92 3-08) A=-0/70| ASH42Y $HAI
= Bol Bt BZEHEX} t-HlE
GDP -0.48 0.00 -23,774.51
*E 0.77 0.45 1.72
O0|At= 0.79 0.00 301,318.54
sts 0.09 0.32 0.30
(B 25 3-29) Y=2-HIEHS SEAH T2 FHAL
T Bl Bt RN t-Hlg
GDP 1.84 1.00 1.84
] 0.27 0.51 0.54
OlXtE -1.00 0.00 -29,830.77
2= 0.57 0.00 63,393.56
(H 5% 3-30) Y2720 SEA+2Y FHEAN
GDP —0.26 0.83 -0.31
] 0.30 0.45 0.67
OlXtE 2.89 0.00 3,711.48
2= -0.20 0.55 -0.37
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(F 22 3-31) Y2-QIEHAOK| SEASDS FHAL
= Bol Bt BZEHEX} t-HlE
GDP 0.43 0.00 7,694.07
| 0.69 0.00 102,437.76
N 0.29 1.21 0.24
sts -0.44 0.00 -133,887.60
B 82 3-3) Y2-530| 4840y FYZEY
= Bol ek HEHEX} t-HlE
GDP 1.18 0.50 2.37
] 0.67 0.46 1.45
Olxtz -3.96 0.00 -25,108,355.00
g 0.02 0.00 809.15
(B 25 3-33) Y=-E{=0| 4BALDY 22
= Bol et ZHR t-HlE
GDP 1.50 1.28 1.18
== 0.64 0.00 1,322,615.80
Olxtz -1.23 0.00 -213,087.47
sts 0.28 0.91 0.31
H 92 3-34) YE-Hamo| ASA4nY 2
= Bol Bt BZEHEX} t-HlE
GDP -0.12 0.00 -9,309.84
| 0.71 0.00 262,494.10
PN 1.08 1.12 0.96
r] 0.22 0.89 0.24
(B 22 3-35) U=-3120 #EA+DH FYH
=2 Bol et HEHEX} t-HlE
GDP 1.91 1.96 0.98
] 0.07 0.00 108,829.81
PN -1.51 0.00 -418,205.50
g -0.13 0.00 -65,620.03
(B 22 3-36) U=-230 YBA+2Y FHEY
—E FEEE, ZTR] HIE
GDP -1.43 0.78 -1.84
== 0.60 0.00 1,658,921.10
Olxtz 3.15 2.89 1.09
sts 12.41 0.00 4,283,434.50
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B 52 3-37) HIELH-S20| 5

T Bl Bt HEHR t-HlE
GDP 2.22 2.74 0.81
*E 0.01 0.25 0.04
OlXtE 2.14 2.26 0.94
2= -0.47 0.00 -17,617.19
(B 52 3-38) HIEL-0IZ0| SEALDY S8
e B B EEh =
GDP 512 0.00 91,684,404.00
*E 0.20 0.32 0.61
OlXtE 3.51 1.99 1.76
2= 0.48 0.00 729,962.56
(B 92 3-30) HIEG-UR0| HEALDH SHZY
e FEEE, HEEA HIE
GDP 3.39 2.15 1.57
] 0.16 0.00 8,678,567.40
OlXtE 12.52 0.00 140,083.29
2= -2.58 1.38 -1.87
(B 52 3-40) HIEL-530| HBALDY 321
=F R ST =
GDP 0.50 2.54 0.20
*E 0.24 0.00 233,285.65
PN 1.20 0.00 853.53
2= -2.54 0.00 -27,191.73
(B 52 3-41) HEL-3130| SHEALDY S5
T FEREE: BEEA o2
GDP -2.75 0.00 ~319,956.36
] 0.04 0.38 0.10
OlXtE 6.93 0.00 2,367,197.40
2= -1.17 0.00 -916,245.87
B 92 3-42) (f2-S20| SEASDH FHZAT
= Bl Bt EE N t-HlE
GDP 1.12 0.00 924,437.64
] 0.43 0.26 1.64
OlXtE -1.62 1.44 -1.05
2= 1.08 0.00 4,499,309.10
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H BE 3-43) Uior-0|=F2] &EA+2S £8Z1
ST B Brtdt HETRL t-Hlg
GDP 1.88 0.80 2.37
*E 0.08 0.00 47,838.38
O|XtE -1.74 0.00 -63,012.26
Ehe 0.24 1.43 0.17
(B B8 3-44) 0o-U=0| stEA |2 FHA0t
= Be| Ytk HEHR t=H|g
GDP 0.63 2.03 0.31
=5 -0.04 0.00 -48,691,757.00
O|Xt= -4.79 0.00 -6,447,862.90
e 1.16 0.00 484,403,400.00
(B 55 3-45) iP-5=2 tEA+2Y FHZ
= Be Ttk SN t-H|g
GDP 0.28 0.38 0.73
*E 0.41 0.27 1.50
O|Xtg -1.52 0.00 -1,027,084.10
Ehe -0.06 0.00 -318,434.92
B 55 3-46) LiTt-ot=29| EEAI+RE FHZ}
= Be| Wtk HETRL t-Hlg
GDP 0.75 0.85 0.89
*E 0.13 0.00 71,818.89
O|XtE 0.41 1.03 0.40
&he -0.28 0.00 -38,302.32
(B BEE 3-47) E23-5U9 &Y FHA0
= Be| Ytk HEHR t=H|g
GDP 0.11 0.00 18,763.84
=5 0.50 0.70 0.71
O|Xt= 0.41 0.00 268,789.62
e -0.20 0.00 -88.34
(B ££ 3-48) £2-0|=22 EA+2Y FHZ
S Be Ttk SN t-H|g
GDP 0.58 0.00 90,570.73
*E 0.42 0.52 0.80
O|Xtg -1.81 0.00 -3,708,899.30
Ehe -3.03 0.00 -1,190.44
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H BE3-49) E3-U=22| &EA+2E FHZ1
= Be Wtk HETRL t-Hlg
GDP -1.54 6.29 -0.25
*E 1.00 1.24 0.81
O|XtE 47.58 0.01 6,394.04
Ehe -3.07 0.00 -1,150.87
E 3-60) 22339 HEALZYH FHZ
72 B2 Batdt HEHR t=H|g
GDP 0.86 0.56 1.54
=5 0.20 0.35 0.58
O|Xt= -4.78 0.00 -272,617.74
e -2.06 0.00 -2,473.56
(B 2E3-51) 22-5t=29 EA+2Y FHZ
S Be Ttk HEER t-H|g
GDP -0.68 2.92 -0.23
*E 0.09 0.00 62,179.77
O|Xtg 0.20 0.00 15,074.28
Ehe -19.54 0.00 -500,154.80
H B2 3-52) QYAO-S0| stEA |2 FHAL}
ST B Brtdt HETRL t-Hl&
GDP -0.86 0.00 -35,854.48
*E 0.16 0.57 0.28
O|XtE 3.25 418 0.78
22 0.33 0.00 24,339.86
(B 25 3-53) QTYA|Of-0|=22| etEA 2 YA}
T Be| Ytk HETAL t-Hlg
GDP 1.09 3.95 0.28
=5 -0.08 0.00 -78,169.40
O|Xt= 1.70 0.00 49,843.80
o= 0.1 0.00 5,251.18
H 2E 3-54) QTHAO-Y20| SEATEY FHAL
= Be Ttk HEER t-H|g
GDP 3.05 0.00 382,479.15
*E -0.04 0.34 -0.13
O|Xtg -11.94 19.53 -0.61
Ehe -0.13 0.64 -0.20
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(B 22 3-55) QITHAOI-E0| HEASRY £HAT
= B Brat HZEHEX} t-HlE
GDP -0.58 0.81 -0.72
*E -0.09 0.14 -0.66

OlXtE 6.14 0.00 90,065.66
e 0.03 0.00 4,963.90
H 22 3-56) QITUAO}-8120| HEALEH SHZ}
= B2 Btk HEHX} t-HIE
GDP 1.79 1.60 1.12
+E 0.13 0.20 0.67
(PN = -1.15 0.00 -51,986.87
s -0.31 0.32 -0.97
H 22 3-57) LOINO-SUO| HEHSDH FHZ}
T B Brat ZHXL t-HIE
GDP 1.04 0.00 334,372.54
+E 0.12 0.00 160,033.75
OIX2 0.34 5.07 0.07
g 0.49 0.52 0.96
H 22 3-58) U0A0}-0120| HEALDH SHZ}
= B Brat HZEHEX} t-HlE
GDP 2.74 2.07 1.32
+E 0.07 0.00 4,983,876.70
OlXtE -1.29 0.00 -860,997.38
e -0.04 0.00 -46,928.84

(B 92 3-59) LOINOl-Yio| HBASDH SHA
T FEEE, BEEA o2
GDP 5.20 0.00 37,401.26
*E 0.00 1.10 0.00

(PN = 25.88 1.45 17.86
2E -1.51 2.49 -0.61
H 22 3-60) LONO-F20| HEASDH T2}
T B Brat ZHXL t-HIE
GDP 1.81 1.00 1.81
*E 0.25 0.00 199,873.65
OIX2 -3.68 0.00 -5,278.31
g 0.37 0.00 69,873.33
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(B 52 3-61) LONO-3t20| SBA+2H 2Hz}
= EEED HEEA =T
GDP -2.91 0.00 -190,808.41
*E 0.43 0.00 70,771.50
OlXtE 5.35 0.91 5.86
2= -1.02 1.38 -0.74
(B 22 3-62) HW2H-SUQ| S5+ 217}
= EEED HEUA T
GDP -1.27 0.00 -2,635.90
*E 0.00 0.63 0.00
0|X+& 1.77 0.00 7,301.94
2= -1.12 4.21 -0.27
H 92 3-63) L2T-0120 HEHSDH FHZ
e EEED HEUA rolE
GDP 2.21 0.00 21,071,307.00
] -0.04 0.00 -46,023,789.00
OlXtE -2.10 0.00 -39,770,176.00
g 0.76 0.76 0.99
H 92 3-64) L2|T-U=0| HE0Y 2N
= EEED HEEA =T
GDP 411 0.00 1,319,550.90
*E 0.17 0.67 0.25
OlXtE 4.92 0.00 17,555.63
2= 0.04 0.00 1,083,556.30
(B 52 3-65) W2H-5320| A8+ 237}
= EEED HEUA rolE
GDP 2.27 1.43 1.59
*E 0.17 0.00 84,923.99
OlXtE -6.10 0.00 -1,652,549.90
2= -0.41 0.00 -17,478.22
(B HZ 3-66) L2H-3t20| A5+ £HZY
e EEED HEUA rolE
GDP -2.58 0.00 -103,824.27
*E 0.39 0.30 1.27
0IxtE 3.96 1.94 2.04
2= 0.82 0.89 0.91
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(B B2 3-67) d7IEE-SU0| tEA R £
= B Brtdt HZEHAL t-Hlg
GDP 1.96 1.90 1.03
*E 0.21 0.21 1.01
O|XtE -2.33 2.08 -1.12
Ehe 0.94 0.00 224 531.66
(B B2 3-68) A7IEL2-0|=29| SEA+RY -4
= Be| Ytk HZEHER t=H|g
GDP 2.83 3.68 0.77
=5 0.18 0.00 35,117,725.00
O|Xt= -3.07 0.00 -1,187,827.40
o= 0.57 0.00 51,204,766.00
(B 52 3-69) A/IE=2-U=0| SiEA+2H THAL
S Be Ttk SN t-H|g
GDP 0.66 0.00 43,323.44
*E 0.08 0.71 0.11
O|Xtg -3.80 0.01 -625.84
Ehe 0.63 0.00 28,216.51
(B BE 3-70) d7IEE-F39 EA -2 FHZ 0
= Be| Wtk HETRL t-Hlg
GDP 0.71 0.96 0.74
*E 0.14 0.00 39,356.22
O|XtE 1.08 0.00 236,331.67
&he -0.23 0.00 -290,607.22
(B 88 3-71) H7I1EE-5130| SEA+EH FHAY
= Be| Ytk HEHR t=H|g
GDP 2.17 0.62 3.48
=5 0.16 0.65 0.24
O|Xt= -1.25 0.00 -118,039.34
e 0.82 0.00 131,148.39
(B BE3-72) EHiF-5YQ| tEA+2Y FHZ
S Be Ttk SN t-H|g
GDP -0.83 0.00 -236,045.42
*E 0.64 0.24 2.69
O|Xtg -0.32 0.79 -0.41
Ehe 0.55 0.00 920,556.71
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H 22 3-73) H2-020| sS40 $HA}

T Bl Brdt BEEHA el =7
GDP 1.55 1.89 0.82
+5 0.52 0.29 1.79
0IxtE -0.43 0.00 -89,679.55
ets -0.26 0.00 ~67,006.08
(B 85 3-74) Bi=-U=o| ABA+EY FY20
T Bl Bwgt BEUR t-tlE
GDP -0.35 1.70 -0.20
+5 0.19 0.16 1.16
OIXtE 13.78 0.01 2,138.43
2te 0.37 1.03 0.36
(B R53-75) H=-3=39 EN+2Y F82
T Bel Bl HEHA t-H|g
GDP -1.49 0.00 ~20,890,296,000.00
+& 1.33 0.00 2,260,269,000.00
0lxt= 5.08 0.00 7,118,670,600.00
2ts -1.81 3.22 -0.56
B85 3-76) H=-2=2 HEA S FE2L
T Bel Btgt BEUR =
GDP -3.62 0.00 -379,646.37
+5 0.96 0.96 1.00
0IxtE 5.42 0.00 117,019.55
2ts -0.50 151 -0.33
(B 85 3-77) SY-He| A8A+2Y F820
T Bl Brat BEUR t-tlE
GDP 113 1.44 0.78
+5 033 0.00 9,711,397.00
OIXtE -4.66 0.00 -611,640.83
2ts -0.09 1.11 -0.08
(B £53-78) SU-LOIMOIS] ASASRY FHZL
T B Bt dt BEUA -2
GDP -1.92 1.20 -1.60
+& 0.32 0.41 0.79
0lxt= 5.01 0.00 1,422,527.50
2ts -0.74 0.00 ~1,268,327.20
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(B 52 3-79) SU-0I20 HEALDY 22

= FEEEE FERH o=
GDP 1.64 1.02 1.61
| 0.78 0.12 6.54
O|At= -0.84 1.32 -0.64
sts 0.33 0.00 29,323,324.00
(B 2% 3-80) SY-HIEHS| AEAH+2E FHZ1}
= FEEED, EETA I
GDP 3.23 1.60 2.02
] 0.22 0.18 1.22
Olxtz -1.20 0.00 -410,196.52
g -0.57 0.00 -490,267.33
(B 22 3-81) SU-A/HE20| ASH+DH FHAN
7= FEEEE EH] IS
GDP -0.33 1.17 -0.28
== 0.75 1.40 0.53
Olxtz 0.14 0.00 307.53
sts -1.49 0.00 -61,106.40
H 22 3-82) SU-QITHAO| SEASRY FHZI}
= FEEEEE. FESH o=
GDP -0.15 0.00 -22,324.29
| -0.38 0.86 -0.44
O|At= -0.10 0.00 -23,291.84
r] -0.08 0.00 -14,639.84
(B 22 3-83) SU-Y=o| Y57+0F FHZ}
= FEEE: EETA 88
GDP 1.08 0.00 339,865,880.00
== 0.10 0.00 571,134,630.00
PN -13.74 0.00 -314,487,020.00
g -0.70 1.88 -0.37
(B 52 3-84) SU-Z30| Y8408 FHAY
7= FEEEE EH] e
GDP -0.47 0.00 -5,097,996.80
== 1.00 0.53 1.89
Olxtz 0.65 0.00 430,150.09
sts -0.14 0.00 -193,561.10
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(B 22 3-85) SU-E{=Z0| $EALEH FXZAD

T R, EEEA =E
GDP 1.83 0.00 1,359,4569.30
| 0.59 0.34 1.73
N -1.98 0.00 -129,505.08
sts -0.07 0.84 -0.08
(B 9= 3-80) SU-LHQ| #BALRY FHZY
7= FEEEER EEEA =E
GDP 1.20 0.56 2.14
] 0.04 0.00 58,026.47
Olxtz -0.14 1.98 -0.07
g 0.46 0.00 92,441.90
(B 2% 3-87) SU-3120| HBAHLH FHZY
e [T BEEA e
GDP 0.18 0.62 0.29
== 0.17 0.00 315,507.10
Olxtz 2.29 0.00 357,081.51
sts -0.42 0.66 -0.63
B 92 3-88) SU-230| ASALRY $HZY
=F R, EZEA =E
GDP 0.82 2.81 0.29
| -0.05 0.14 -0.33
PN -0.62 0.00 -16,167.94
sts -6.30 24.50 -0.26
(B 9= 3-89) 0|2-0i2te] HEAHRH FHZY
e FEREEER BZEAI =
GDP -0.05 2.34 -0.02
] 0.32 0.00 229,790.10
Olxtz 4.38 3.86 1.13
2= 1.14 0.00 57,171.55
(B $53-00) 0|2-5U0| HBAH2Y £HZY
= [EEEER BEEA =
GDP 4.86 0.00 93,337,458.00
== 0.08 0.39 0.21
Olxtz -1.42 0.00 -28,960.40
sts -0.08 1.77 -0.05
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(B 52 3-91) 0[2-LHO0L] HEALRY 2HZA

= Bl Bt HEHR t-HlE
GDP 3.85 1.56 247
*E -0.06 0.00 -35,046.86
OlXtE -6.78 0.00 -56,531,892.00
2= 0.45 0.00 205,629.78
(B 22 3-02) 0|Z-HIEHO| HEHSDH FHZ}
T FEEE, BEEA o2
GDP 2.34 0.00 4,756,220.80
*E -0.42 0.74 -0.57
OlXtE 0.02 0.00 20,347.48
2= -2.25 0.00 -213,164.79
(B 52 3-93) 0|2-A71R20| si87+03 £32
& B Bk ZHX} t-HlE
GDP 0.91 1.72 0.53
*E -0.09 0.00 -49,525.24
O|XtE -3.77 0.00 -278,289.46
s 1.71 0.00 330,470.79
H £2 3-04) 012-QISHAOL| HEASRY S5z
T B Wk HEWAL o=
GDP 0.54 1.70 0.32
*E 0.01 0.00 1,250.18
OlXtE -0.21 0.00 -27,682.40
2= -0.31 0.00 -16,256.64
(B $2 3-05) 0|2-U20| HEALDH 52T
T B Boat HEHRL t-HlE
GDP 0.47 0.00 84,609.28
*E 1.23 2.38 0.52
OlXtE 24.88 0.00 111,663.73
2= -0.10 0.00 -37,734.13
(B 22 3-06) 0|2-F20| HEALDE 252
—E FEEE, ZR] HIE
GDP 3.36 1.05 3.21
] 0.13 0.00 18,413.89
OlXtE -9.75 0.00 —-67,737.48
2= -0.29 0.96 -0.30
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H B2 3-97) 0j2-Ej=0| SEA4RE £52}

= FEREED HETR e
GDP -0.49 0.00 -186,401.00
| 0.25 0.21 1.21
O|At= 0.90 5.46 0.17
sts 1.63 0.00 4,376,920.90
(H 55 3-98) O|=3-22/Ho| 842 FEEn
= FEEE BEEA e
GDP 1.33 0.00 17,361.47
== -0.16 0.82 -0.19
Olxtz -0.78 2.13 -0.37
g 0.51 3.45 0.15
(H 5% 3-99) 0|=-et=9| &8AH+2Y 820
—E FEEEL ZTR] 1=
GDP 0.66 0.00 60,804.11
== 0.31 0.00 59,192.19
Olxtz -0.82 3.65 -0.22
sts -0.01 0.00 -383.05
H 25 3-100) 0|=2-839 &EA+2Y 820
= FEEEED HETR o=
GDP 0.79 4.26 0.19
| -0.18 0.00 -1,111,258.20
O0|At= 7.64 0.00 460,952.43
sts -2.79 1.80 -1.55
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5 4. HOIX|2 Thesl# 2 FE(MATLAB ZE

1. 22y ¥ 3E

% Bayesian Regression Model
% Deriving Distributions of Coefficients

clear;
clc;
addpath('D:\Matlab");

ts = 10;

data = xlsread(‘dataset(181101)','2','A1:E17")
T = rows(data);

Y = data(;,1);

X = data(;, 2:5);

Y1 = data(l:ts,1);

Y2 = data(ts+1:T,1);

X1 = data(1:ts,2:5);

X2 = data(ts+1:T,2:5);

k = cols(X1);

b0 = inv(X1"™*X1)*X1™*Y1;
a0 = ts—k;

ehat = Y1-X1*bO;

S2 = ehat"™*ehat;

do = S2;

sig2j = d0/a0;

BO = sig2j*inv(X1'*X1);
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nO = 10000;
nl = 40000;
n =n0 + nl;

bm = zeros(n,k);
sig2m = zeros(n,1);

XX = X2'*%X2;
XY = X2'*Y2,;

BOinv = inv(BO0);
T = rows(Y2);

for iter = 1:n

Blinv = inv(sig2j)*XX + BOinv;

B1 = inv(Blinv);

A = inv(sig2j)*XY + BOinv*b0;

betal = B1*A;

betaj = betal + chol(B1)"*randn(k,1);
bm(iter,:) = betaj’;

al = a0 + T,

eehat = Y2 — X2*betaj;

d1l = eehat™*eehat + dO;

sig2j = randig(al/2, d1/2, 1, 1);
sig2m(iter) = sig2j;

end

bm = bm(nO+1:end,:);
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sig2m = sig2m(n0+1:end,:);

postmean = meanc(bm);
postvar = var(bm)’;

postsd = sqrt(postvar);

B_t = postmean./sqrt(postvar);
B _est = [postmean postsd B _t];

bhat = inv(X"*X)*X"*Y;

ehatols = Y — X*bhat;

sig2ols = ehatols'*ehatols/(rows(Y)—k);
varhat = diag(sig2ols*inv(X'*X));

sdhat = sqrt(varhat);

OLS t = bhat./sqrt(varhat);

OLS _est = [bhat sdhat OLS t];

Result = [B_est OLS est]

save AO_Result 002.txt Result —ascii;
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2. MYR| £Y A=

% Bayesian Regression Model

% Forecasting

clear;
clc;
addpath('D:\Matlab");

ts = 10;
alpha = 0.1;
s 1=1.28;

data = xlsread('dataset(181101)",'2','A1:F17")
T = rows(data);

Y = data(,1);

X = data(, 2:5);

Y1 = data(l:ts,1);

Y2 = data(ts+1:T,1);

X1 = data(l:ts,2:5);

X2 = data(ts+1:T,2:5);

X_1 = X2(7, 2
X_2 = X26, )
X_3 = X265, s
X_4 = X2(4, 2);
X_5 = X2(3, )
k = cols(X1);

b0 = inv(X1'*X1)*X1'*Y1;
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a0 = ts-k;
ehat = Y1-X1*bO0;
S2 = ehat'*ehat;

do = S2;

sig2j = d0/a0;

BO = sig2j*inv(X1'*X1);
n0 = 10000;

nl = 40000;

n =n0 + nl;

bm = zeros(n,k);

sig2m = zeros(n,1);

Y_1 = zeros(n,1);
Y_2 = zeros(n,1);
Y_3 = zeros(n,1);
Y_4 = zeros(n,1);
Y_5 = zeros(n,1);

XX = X2'"X2;
XY = X2"Y2;

BOinv = inv(B0);
T = rows(Y2);

for iter = 1:n

Blinv = inv(sig2j)*XX + BOinv;
B1 = inv(Blinv);

A = inv(sig2j)*XY + B0inv*bO0;
betal = B1*A;

4z
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betaj = betal + chol(B1)*randn(k,1);
bm(iter,:) = betaj';

Y_1(ter,:)= X_1*betaj + sqrt(sig2j)*randn(1,1);
Y_2(iter,:)= X_2*betaj + sqrt(sig2j)*randn(1,1);
Y_3(iter,))= X_3*betaj + sqrt(sig2j)*randn(1,1);
Y_4(iter,:)= X_4*betaj + sqrt(sig2j)*randn(1,1);
Y_5(iter,:)= X_5*betaj + sqrt(sig2j)*randn(1,1);

al = a0 + T;

eehat = Y2 - X2*betaj;

d1l = eehat'*eehat + dO;

sig2j = randig(al/2, d1/2, 1, 1);
sig2m(iter) = sig2j;

end

bm = bm(n0+1:end,:);
sig2m = sig2m(n0+1:end,:);

Y_1_m = Y_1(n0O+1:end,:);
Y 2 m = Y_2(n0+1:end,);
Y_3_m = Y_3(n0+1:end,:);
Y 4 m = Y_4(n0+1:end,:);
Y_5_m = Y_5(n0+1:end,?);

m_Y_1 = meanc(Y_1_m);
m_Y_2 = meanc(Y_2_m);
m_Y_3 = meanc(Y_3_m);
m_Y_4 = meanc(Y_4_m);
m_Y_5 = meanc(Y_5_m);
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fY=ImMY5 mY4 mY3 mY2 mY1]

Y_1=Y27, )
Y_2 = Y26, )
Y_3 = Y25, 3);
Y _4 = Y234, 3);
Y_5 = Y23, 3);

Y 5.1=1Y5 Y. 4 Y3 Y2 Y_1l

ferror=Y51-1Y,

f e2 = (f_error)."2;
f_e2_mean = meanc(f_e2);
RMSE = sqrt(f_e2_mean)

postmean = meanc(bm);
postvar = var(bm)';

postst = sqrt(postvar);

B_t = postmean./sqrt(postvar);
B_est = [postmean postst B_tl;

save F_Y_002.txt f Y -ascii;
save RMSE_002.txt RMSE -ascii;

4z
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BE 5. SSVS 2 JE=(MATLAB TE): 212 4 ¥

% Stochastic Search Variable Selection

% Deriving Parameters' Distribution and Forecasting

clear;

cle;
addpath('D:\Matlab");

%% DGP

data = xlsread('dataset(181101)",'2',"A1:E17")
Y = data(,1);

X = data(:,2:5);

k = cols(X);

x_f1 = X(13,);

x_f2 = X(14,%);

x_f3 = X(15,2);

x_f4 = X(16,);

x_f5 = X(17,);

x_f = [x_f1; x 12, x f3; x_f4; x_f5];
%% Sampling

%% APAEE

% beta®] APAEE

beta0 = zeros(k, 1);
betal = beta0;
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%% BO, B19] APAEXE
IGO0 = [10; 2.5]; % BO, E(BO) = IG0(2)/1G0(1)
IG1 = [2; 8]; % B1, E(B1) = IG1(2)/1G1(1)

n0

nl

200,
5000;

% sig2l, sig229] APAEEL
alpha0 = 5;
delta0 = 5;

[betam, sig2m, Gam, yfm, postmom_beta, postmom_sig2,
postmom_Gam, postmom_yfm] = Vari_Selection_Ko(Y, X, n0, nl,

beta0, betal, alphaO, delta0, IGO0, IG1, x_0);

y_f = meanc(yfm)

Y_1=Y(17, )
Y_2 = Y16, 3);
Y_3 = Y(15, )
Y_4 = Y(14, 3);
Y_5 = Y(13, )

Y 5_1=1Y5 Y._4 Y3 Y2 Y_1I;

f error = Y5.1-vy._f

f e2 = (f_error).”2;

f e2_mean = meanc(f_e2);
RMSE = sqrt(f_e2_mean)

%% 1% 187]
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Gam_hat = postmom_Gam(:, 2);

y = Gam_hat;

figure

x = 1:length(Gam_hat);

ylim([-0.1 1.1])

xlim([0 length(x)+1])

a = 40;

scatter(x, y, a, 'MarkerEdgeColor',[0 .2 .2],...
'MarkerFaceColor',[0 .8 .8],...
'LineWidth',1.5)

xlabel('variable")

ylabel('Prob. of inclusion')

betahat = postmom_beta(:,2:3);

t_beta = betahat(:,1)./betahat(:,2);

beta = [betahat t_betal

gamma = Gam_hat

Output = [beta gamma]
save Output.txt Output —ascii;
save f point_002.txt y_f -ascii;

save RMSE_002.txt RMSE -ascii;

function [betam, sig2m, Gam, yfm, postmom_beta,
postmom_sig2, postmom_Gam, postmom_yfm] = Vari_Selection(Y,
X, n0, nl, beta0, betal, alpha0, delta0, IGO, IG1, x_f)

n0 + nl;
cols(X);

=]
1

o~
1
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if nargin ) 10
Is_forecasting = 1; % 9&3}7]

else
Is_forecasting = 0; % & <tsl7]
end
%% 271% 2%
if alpha0 » 2
sig2 = delta0/alpha0;
else
sig2 = stdc(Y)"2;
end

BO = (IG0(2)/1G0(1))*eye(k);
Bl = (IG1(2)/IG1(1))*eye(k);

gam = ones(, 1);

%% A

Gam = zeros(n, k);
betam = zeros(n, k);
sig2m = zeros(n, 1);
yfl_m = zeros(n, 1);
yf2_m = zeros(n, 1);
yf3_m = zeros(n, 1);
yf4_m = zeros(n, 1);
yf5_m = zeros(n, 1);

%% MCMC A&

for iter = 1:n
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% Step 1 : beta A&
beta = Gen_beta_VS(Y, X, sig2, gam, beta0, BO, betal, Bl);
betam(iter, :) = beta';

% Step 2 : sig2 A&
sig2 = Gen_Sigma(Y, X, beta, alpha0, delta0);
sig2m(iter, :) = sig2;

% Step 3 : gam MEY
gam = Gen_gam(beta, beta0, BO, betal, B1);
Gam(iter, ) = gam';

% Step 4 : BO, Bl A=Y

beta_0Om = beta(gam == 0);

b0 = Gen_Sigma_B(beta_Om, IG0(1), IGO(2));
BO = b0*eye(k);

beta_lm = beta(gam == 1);
bl = Gen_Sigma_B(beta_1m, I1G1(1), IG1(2));
Bl = bl*eye(k);

% Step 5 : =35}

beta_gam = beta .* gam;

yfl = x_f(1,1:4)*beta_gam + sqrt(sig2)*randn(1, 1);
yf1_m(ter, 1) = yf1;

yf2 = x_f(2,1:4)*beta_gam + sqrt(sig2)*randn(1, 1);
yf2_m(ter, 1) = yf2;

yf3 = x_f(3,1:4)*beta_gam + sqrt(sig2)*randn(1, 1);
yf3_mf(ter, 1) = yf3;

yf4 = x_f(4,1:4)*beta_gam + sqrt(sig2)*randn(1, 1);
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yf4_m(ter, 1) = yf4;
yf5 = x_f(5,1:4)*beta_gam + sqrt(sig2)*randn(1, 1);
yf5_m(ter, 1) = yf5;

end

betam = betam(nO+1:n, :); % ¥l H¥7]
sig2m = sig2m(n0+1:n, 3); % el Hg]|7]
Gam = Gam(nO+1:n, 3); % ¥l ¥W&]7|
yfl_m = yfl_m(®nO0+1:n, :);

yf2_m = yf2_m(n0+1:n, 3);

yf3_m = yf3_m(nO+1:n, :);

yf4_m = yf4_m(®nO0+1:n, :3);

yf5_m = yf5_m®n0+1:n, :);

yfm = [yfl_m yf2_m yf3_m yf4_m yf5_ml];

alpha = 0.05;

maxac = 200;

postmom_beta = MHout(betam,alpha,maxac, 0);
postmom_sig2 = MHout(sig2m,alpha,maxac, 0);
postmom_Gam = MHout(Gam,alpha,maxac, 0);
postmom_yfm = MHout(yfm,alpha,maxac, 0);
end

%%
function beta = Gen_beta_VS(Y, X, sig2, gam, beta0O, BO,
betal, Bl)

B_ = diag((1 - gam')*diag(B0O) + gam'*diag(B1));
beta_ = (1 - gam')*beta0 + gam'*betal;
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B_inv = inv(B);
k = cols(X);

%% =3 1

sig2inv = 1/sig2;

Blinv = sig2inv*(X'*X) + B_inv;

B1 = inv(Blinv);

A = sig2inv*X'*Y + B_inv*beta_;
beta = B1*A + chol(B1)*randn(k, 1);

end

%%
function gam = Gen_gam(beta, beta0, BO, betal, B1)

k = rows(beta);
gam = zeros(k, 1);
forj =1k

p0j = exp(lnpdfn(beta(j), beta0(), BOG,)));
plj = exp(Inpdfn(beta(j), betal(j), B1G,j));
pl = plj/(p0j + plj);
gam() = rand(1,1) < p1;

end

end

%%
function sig2 = Gen_Sigma_B(Y, alpha0, delta0)
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%% AH 1

ehat = Y;

d1 = delta0 + ehat'*ehat;
al = alpha0O + rows(Y);

sig2 = randig(al/2,d1/2,1,1);

end

%%
function sig2 = Gen_Sigma(Y, X, beta, alpha0O, delta0)

%% A4 1

ehat = Y - X*beta;

d1l = delta0 + ehat'*ehat;
al = alpha0 + rows(X);

sig2 = randig(al/2,d1/2,1,1);

end

% This proc summarizes posterior distribution

% It gives posterior mean, SD, alpha, 0.5 and (1-alpha)
quantiles,

%  and inefficiency factor

function [postmom] = MHout(Mhm, alpha, maxac, is_postplot)

if nargin < 4

is_postplot = 0;

end
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n = rows(Mhm);

if nargin < 3
maxac = min(100, round(0.2*n));
is_postplot = 0;

end

maxac = min(maxac, round(0.2*n));

ql = [alpha;0.5;(1-alpha)l; % level

credb = quantileMhm,ql)’; % alpha, 0.5 and (1-alpha)
credibility interval

inef = ineff(Mhm,maxac); % inefficiency factor
postm = meanc(Mhm); % posterior mean
sd = stdc(Mhm); % standard deviation

index = 1:cols(Mhm);

nl = round(0.4*n);

n2 = floor(0.4*n);

M1 = Mhm(1:nl1,3);

M2 = Mhm(n2:n,?);

theta_ = meanc(M1) - meanc(M2);

var_ = var(M1)' - var(M2)';

z = theta_./sqrt(var_);

p_val = 2*(1-cdfn(abs(z)); % k by 1, p value

postmom = [index',postm,sd,credb,inef,p_vall;

if is_postplot ==
post_plot(Mhm, maxac);
end

end
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HE 6. SEA$:23(GAUSS L)

1. 22y ¥ 3E

/* Random Coefficient Regression */

@:==:==:==:==:==:==::::::::::::::::::::::@
@ Estimation of Parameters @
@::::::::::::::::::::::::::::::::::::::::@
news;

library optmum;

T =17
k =5;

/* Data Loading */
load datalT,K] = d:\Empirics\RC\Data\002.txt;

/* Defining the Variables */
ymat = data;

y = ymatl,,1];

x = ymatl.,2:5];

b_ols = inv(x'x)*x"*y;

bsig2_1_in = 1;
bsig2_2_in = 1;
bsig2_3_in = 1;
bsig2_4_in = 1;

prm_in = b_ols|bsig2_1_in|bsig2_2_in|bsig2_3_in|bsig2_4_in;

{xout,fout,cout,gout} = optmum(&lnlik, prm_in);
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para_m = trans(xout);

b_mle = para_ml1:4,.];

sig2_mle = para_ml[5:8,.];
sig_mle = sqrt(sig2_mle);

RC_t = b_mle./sig_mle;

/* Output */
output file = d:\Empirics\RC\Output\RC_002.out reset;
b_mle~sig_mle~RC_t;

output off;

@ Procedure 1 @

proc Inlik(prm0);

local prm_new, bb, ssig2_1, ssig2_2, ssig2_3,
itr, xssig2, ehat, ehat2, A;

prm_new = trans(prmoO);

bb = prm_newl1:4,.];

ssig2_1
ssig2_2
ssig2_3

prm_newl5,.];
prm_newl6,.];

prm_newl7,.];

ssig2_4 = prm_newl8,.];

InL = 0;

itr = 1,

do until itr ) T;

xssig?2
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(xlitr,.])*((ssig2_1~0~0~0)|(O~ssig2_2~0~0)| (0~0~ssig2_3~0)|(O~0~
O~ssig2_4))*xlitr,.]1';

ehat = vylitr,.] - xlitr,.]*bb;

ehat2 = ehat'ehat;

A = -0.5*In((2*pi)*xssig2) - 0.5*inv(xssig2)*ehat2;

InL = InL + A;

itr = itr + 1,

endo;

retp(-InL);
endp;

@ Procedure 2 @
proc trans(prmO0);

local prm_new;

prm_new = prm0;
prm_new[5:8,.] = (prm0[5:8,.1)"2;

retp(prm_new);

endp;
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@::::::::::::::::::::::::::::::::::::::::@
@ Forecasting @
@::::::::::::::::::::::::::::::::::::::::@
new,

library optmum;

T =17,
k =5;

/* Data Loading */
load datalT,K] = d:\Empirics\RC\Data\002.txt;

/* Defining the Variables */

ymat = data;
y = ymatl,,1];
X = ymatl.,2:5];

b_ols = inv(x'x)*x'*y;

bsig2_1_in = 1;
bsig2_2_in = 1;
bsig2_3_in = 1;
bsig2_4_in = 1;

prm_in = b_ols|bsig2_1_in|bsig2_2_in|bsig2_3_in|bsig2_4_in;
{xout,fout,cout,gout} = optmum(&lnlik, prm_in);
para_m = trans(xout);

b_mle = para_ml1:4,.];sig2_mle = para_ml[5:8,.];
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x_1 =x[17,.];
x_2 = x[16,.];
x_3 = x[15,.];
x_4 = x[14,.];
x_5 = x[13,.];
yf_ 1 = x_1*b_mle;
yf 2 = x_2*b_mle;
yf_3 = x_3*b_mle;

yf_4 = x_4*b_mle;
yf 5 = x_5*b_mle;

v = yf 5lyf_4lyf_3|yf_21yf_1;

y_1 = yl17,.];
y_2 = yl16,.];
y_3 = yl15,.];
y_4 = y[14,.];
y_5 = yl13,.];

y._5_1 = y_5ly_4ly_3ly_2ly_1;

f error = y_5_1 - yf;

f e2 = (f_error)"2;
f_e2_mean = meanc(f_e2);
RMSE = sqrt(f_e2_mean);

/* Output */
output file = d:\Empirics\RC\Output\f_point_002.out reset;

yh;
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output off;

output file = d:\Empirics\RC\Output\RMSE_002.out reset;
RMSE;

output off;

@ Procedure 1 @

proc Inlik(prm0);
local prm_new, bb, ssig2_1, ssig2_2, ssig2_3, ssig2_4, InL,
itr, xssig2, ehat, ehat2, A;

prm_new = trans(prm0);
bb = prm_newl[1:4,.];
prm_newl5,.];

ssig2_1

ssig2_2 = prm_newl6,.];

ssig2_3 = prm_newl7,.];

ssig2_4 = prm_newl8,.];

InL = 0;

itr = 1,
do until itr > T;

xssig2 =
(xlitr,.])*((ssig2_1~0~0~0)|(0~ssig2_2~0~0)|(0~0~ssig2_3~0)|(0~0~
O~ssig2_4))*xlitr,.]1';

ehat = ylitr,.] - xlitr,.]*bb;

ehat2 = ehat'ehat;

A = -0.5*n((2*pi)*xssig2) - 0.5*inv(xssig2)*ehat2;

InL = InL + A;

176



itr = itr + 1;
endo;

retp(-InL);
endp;

@ Procedure 2 @
proc trans(prmO);

local prm_new;

prm_new = prmoO;
prm_new[5:8,.] = (prm0[5:8,.1)"2;

retp(prm_new);

endp;
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